g BT i How To Measure Assembly

Bkl EyE] W HEE ESgE] $23k2
Fittingl Ferrule Hose Spring Guard Ferrule  Fitting2

NN

L LLLL
I

I

MR E Overall Length

E——

by

n EEUR, RS BB Bk, B2ke. BREMUEMR. Bk158:3k 2

ﬂUﬁﬂ,&THTH,TUmEu@ﬂu%gﬁ,%%%Eﬂuﬁﬁo

As the avove fig, the hydraulic hose assembly consists of hose. fitt
ingl. fitting2 and ferrule. The fittingl maybe the same or different as
the fitting2. They can be straight or elbow. The spring guard may not be

used.

BOE R IT BT N IR TR

Hose Assembly Part Number:

/ X X — + RS

kIS
Fitting 1 Part Number

ko5

PP E
Spring Guard

£

Fitting 2 Part Number

HWERS (W5 EES)
Hose Part Number

Displacement Angle

R1:30241-16-16/30291-16-16x2AT16x1200-V90 ° +RS
YRR, MRS IR AR EAS . 12 [kl
e FR, Rbr— 1Mk Ay e,
RSHI LA £ A5, 30291-16-16x2AT16X1200-V90 °
Example 1:30241-16-16/30291-16-16x2AT16X1200-V90 ° +RS

Overall Length

Without displacement angle. natural bending direction or spring

guard, these part number may be omitted.

Example 2:The assembly with two fittings of the same part number is called

outwith only one fitting part number.
30291-16-16x2AT16x1200-V90 °



WA R K EN & How To Measure Assembly

%%@

= =
e

)
=

b

%%%@ I

s

=\ =2

T A 7 7] Direction Angle Of Assembly




MR SEENMAIE  How To Measure Displacement Angle

U R BT A ity 2 Sk 38 S S B, 2R TE A R A Bk A — A B OGN
ERE SRPLE, T E T A, RS EEL U B 5, $ W R
ek 2 5 76 H A B Bk 12 1A I8 £, BB SR 2SS M, FVER. W
Fi, 12438l a 225 ° B, ARid AV22s.

Specified only if two elbow fittings are used. To measure disp

lacement angle oof a hose assembly, point one end of couping”1”to
a vertical poistion upward. The angle can the be measured from the

centreline of coupling”1”in aclockwise dircction to the centrelion
of coupling”2”As shown:

TS
SN\
[

N




H¢  INDEX

5] TYPE 5  PART NO UK PAGE
PBHEREEER 00TFO 1
FERRULE FOR TEFLON HOSE

SAE 100R1AT/SAE 100R 2ATHEFEE XTC 1
FERRULE FOR SAE 100RIAT/SAE 100R2AT

SAE 100R1AT/EN 853 1SN JR& & 00110 2
FERRULE FOR SAE 1001AT/EN 853 1SN HOSE

SAE 100R2AT/EN 853 2SN [R& & 00210 2
FERRULE FOR SAE 100R2AT/EN 853 2SN HOSE

SAE 100RTAT/SAE 100R1AT/2AT @HER 03310 3
FERRULE FOR SAE 100R 1AT/2AT

SAE 100RTAT/SAE 100R1AT Ef4 03300 3
FERRULE FOR SAE 100R 1AT

SAE 100R1AT/EN 853 1SN & &R 00100 4
FERRULE FOR CHINA 1-WIRE HOSE

SAE 100R2AT/EN 853 2SN & &M 00200 4
SKIVE FERRULE FOR SAE 100R2AT/EN 853 2SN HOSE

EHr=— BRI EER 01100 5
FERRULE FOR CHINA 1-WIRE HOSE

EH =~ MR R E B 01200 5
FERRULE FOR CHINA 2-WIRE HOSE

H = = E2REER 01300 6
FERRULE FOR CHINA 3-WIRE HOSE

R12/20-24 [ /=D ENL PSR EER 01400 6
FERRULE FOR R12 CHIAN 4-SPTRAL HOSE

RIA/RIR. 4SP. 4SH/10-16. R12/06-16 REE 00400 7
FERRULE FOR R9A/R9R/, 4SP, 4SH R12 HOSE

DIN20023 4SH. R12/32 J&ER 00401 7
FERRULE FOR DIN 20023 4SH.R12 HOSE

DIN20023 4SH. R12/32 HHIXIE B 00405 8
INTERLOCK FERRULE FOR DIN 20023 4SH .R12 HOSE

R13 WHREER 00605 8
INTERLICK FERRULE FOR R13 STRENGTHEN HOSE

SAE 100R7/R8 B 4hE 00018 9
INTERLOCK FERRULE FOR DIN 20023 4SH .R13 HOSE

R13 WEIE TR E 00601 9
FERRULE FOR SAE 100R7.R8 HOSE

TRAR 2 il SRS £ vy 1] O BB 25 &) 10211 10
JB METRIC MALE O-RING SFAL

HBAR 2 il SN S H 717 078 ] 10311 11
JB 0-RING METRIC MALE FLAT SEAT

HRAR 2 il S MBS [H 77 02 ] 10312 11

JB O-RING METRIC MALE FLAT SEAT FOR SPIRAL HOSE



H¢ INDEX

K5 TYPE 5  PART NO UK PAGE
INHIAMBETA © HMETH 10711 12
METRIC MALE 74° CONE

NTAMNEST4 ° SMETHIYESEE 10712 12
METRIC MALE 74° CONE FOR SPIRAL HOSE

AN FIFMBELZI90 ° AMNETH 10911 13
METRIC MALE 90° CONE

INHIAMEZE90 © AT N KR4 10911L 13
METRIC MALE 90° CONE LONG TYPE

NPT MBS T4 © 11711 14
JB METRIC MALE 74° CONE SEAT

I il P RR SCER TH 20111 15
METRIC FEMALE MULTISEAT

45° N R SCEK T 20141 15
45° METRIC FEMALE MULTISEAT

Ol PR R SR T g 20112 16
METRIC FEMALE MULTISEAT FOR SPIRAL HOSE

45° Al PR SRR T Y Se 20142 16
45° METRIC FEMALE MULTISEAT FOR SPIRAL HOSE

90° AT N BRSCERTH 20191 17
90° METRIC FEMALE MULTISEAT

90° /il Y RRSEk I JE S 20192 17
90° METRIC FEMALE MULTISEAT FOR SPIRAL HOSE

] R A ] P BRSCF- T 20211 18
GB METRIC FEMALE FLAT SEAT

30° [EFR AT A IRSCFEH 20231 19
30° GB METRIC FEMALE FLAT SEAT

30° EARA I P IELCT 20232 19
30° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE

45° [E AR ] AR ST 20241 20
45° GB METRIC FEMALE FLAT SEAT

90° [ Hx 2 il N IE ST T 20291 20
90° GB METRIC FEMALE FLAT SEAT

45° [EFR 2 il RS T 20242 21
45° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE

90° [ FRA il PSS T 20292 21
90° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE

FEIFR A il RS T4 ° AHETI 20711 22
GB METRIC FEMALE 74° CONE SEAT

45° EFR AT NIRLST4 ° P HET 20741 22
45° GB METRIC FEMALE 74° CONE SEAT

FE AR AT P ERL74 © NAET 20712 23

GB METRIC FEMALE 74 ° CONE SEAT FOR SPIRAL HOSE



H¢ INDEX

K5 TYPE 85 PART NO TR PAGE
45° EFRAHIPIBLS74 © NHET 20742 23
45° GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL

HOSE

90° EARAHIAIELT4 © PHHET 20791 24
90° GB METRIC FEMALE 74 ° CONE SEAT

90° [EARAHIARS74 © pyEER 20792 24
90° GB METRIC FEMALE 74 ° CONE SEAT FOR SPIRAL

HOSE

Ol N R SCER TH 30112 25
METRIC FEMALE MULTISEAT FOR SPIRAL HOSE

Ol N R SCER TH 30111 25
METRIC FEMALE MULTISEAT

45° At N IESEKTH 30141 26
45° METRIC FEMALE MULTISEAT

90° il PMRLSUERTHI 30191 26
90° METRIC FEMALE MULTISEAT

45° At N IESERTH 30142 27
45° METRIC FEMALE MULTISEAT FOR SPIRAL HOSE

90° il PR LSUERTHI 30192 27
90° METRIC FEMALE MULTISEAT FOR SPIRAL HOSE

oyl SRS 30211 28
METRIC FEMALE FLAT SEAL

I il MR ST T g S 30212 28
METRIC FEMALE FLAT SEAL SPIRAL HOSE

30° BRI RS T 30231 29
30° GB METRIC FEMALE FLAT SEAT

30° [EBRAH] N MRS 30232 29
30° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE

45° [EhR 2 il RS T 30241 30
45° GB METRIC FEMALE FLAT SEAT

90° [EhR2 il N ERSCT 30291 30
90° GB METRIC FEMALE FLAT SEAT

45° [EFR 2 il N R SCTE 30242 31
45° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE

90° [EAR2A il N ERSCE 30292 31
90° GB METRIC FEMALE FLAT SEAT FOR SPIRAL HOSE

FEAR 2l P BRET4 ° AR 30711 32
GB METRIC FEMALE 74° CONE SEAT

[ bR A RS 74 ° AT 30712 32
GB METRIC FEMALE 74 ° CONE SEAT FOR SPIRAL HOSE

45° EFRAH|NIRLI74 © NHETH 30741 33

45° GB METRIC FEMALE 74 ° CONE SEAT



H¢ INDEX

K45 TYPE &5 PART NO TR PAGE

90° [EFRAHIIBLIT4 © NHET 30791 33
90° GB METRIC FEMALE 74 ° CONE SEAT
45° [EFRAHI A ERE74 © pyEEH 30742 34

45° GB METRIC FEMALE 74° CONE SEAT FOR SPIRAL
HOSE

90° EFRAHINIBLI74 © NHET 30792 34
90° GB METRIC FEMALE 74 ° CONE SEAT FOR SPIRAL
HOSE

AlAMRS24 © NHETHE R 10512 35
METRIC MALE 24° CONE SEAT H.T. FOR SPIRAL HOSE
DIN3853

AHIAMES24 © N HETH E R 5 10511 36
METRIC MALE 24° CONE SEAT H.T.DIN3854

ANHIAMES24 © P HETH 10512-SG 36
METRIC MALE 24° CONE SEAT H.T. FOR SPIRAL
HOSE-1. 5mm

RG24 ° HETH T 0T Bl 2 R %) 20511 37
METRIC FEMALE 24°CONE H.T.WITH O-RING
DIN3865 (CRIMP)

KN RS24 © PHET 02 [ HE R %1 30511C 37
METRIC FEMALE 24° CONE MULTISEAT H.T.DIN3853

45° NI ERS24 © PHE Y04 [ H R 51 20541 38
45° METRIC FEMALE 24 ° CONE H.T.WITH O-RING

DIN3865 (CRIMP)

90° AMIPIRS24 ° PIHETHFOR [ R 5 20591 38
90° METRIC FEMALE 24 ° CONE H.T.WITH O-RING
DIN3865

NI RG24 © Py HET YO e T A 51 30511 39
METRIC FEMALE MULTISEAT H.T.WITH O-RING DIN3853

WNHEIABRE24 © PHET YO [ R 51 30512 39
METRIC FEMALE MULTISEAT H.T WITH O-RING FOR
SPIRAL

45° AMINIRZ24 © A HET O el AR 51 30541 40
45° METRIC FEMALE 24 ° CONE H.T.WITH O-RING
DIN3865

90° A NIRLI24 ° Py HY 0% B = R 7 30591 40
90° METRIC FEMALE 24 ° CONE H.T.WITH O-RING
DIN3865

45° ANHIAIRS24 © PYHETIH O B 5 R 5] 30542 41
45°  METRIC FEMALE 24 ° CONE H.T.WITH O-RING

DIN3865 FOR SPIRAL

90° AHINIRS24 ° A HERIHORY [ AR5 30592 41
90° METRIC FEMALE 24° CONE H.T.WITH O-RING

DIN3865 FOR SPIRAL



H¢ INDEX

Y5 TYPE &5  PART NO TR PAGE

ANHINIBS24 °© NHET R R 5 10411 42
METRIC MALE 24° CONE SEAT L.T.DIN3853

AN IERE24 © NHEH 2 R 10412 42
METRIC MALE 24° CONE SEAT L.T.FOR SPIRAL

DIN3853

45° AHINIRL24 © PAHETIHORL B 1% R 41 20441 43
45° METRIC FEMALE 24 ° CONE H.T.WITH O-RING

DIN3865 (CRIMP)

90° AHINIRS24 ° PHE O el 2 AR 5] 20491 43
90° METRIC FEMALE 24° CONE H.T.WITH O-RING
DIN3865 (CRIMP)

KNHINIRE2 ° PHER OBl 4 R 5 20411 44
METRIC FEMALE 24 ° CONE H.T.WITH O-RING
DIN3865 (CRIMP)

O IEREr24 ° pPHETHN Y02 B 42 R 71 30411 44
METRIC FEMALE 24 ° CONE H.T.WITH O-RING DIN3865

45° A IRS24 © HET RO el R 51 30441 45

45° METRIC FEMALE 24 ° CONE L.T.WITH O-RING
DIN3865

90° Al A IRZ24 ° PHEI O BYE 4 R 5 30491 45
90° METRIC FEMALE 24 ° CONE L.T.WITH O-RING
DIN3865

45° ARG ° PHET O BY e 4 R 5 30442 46
45°  METRIC FEMALE 24 ° CONE L.T.WITH O-RING
DIN3865 FOR SPIRAL

90° AHINIRL24 ° AHETRHFOR [l 2 R 5 30492 46
90° METRIC FEMALE 24 ° CONE L.T.WITH O-RING
DIN3865 FOR SPIRAL

PHISMRELZ60 ° SMIETT SN A i T 41 & 2 10611 47
METRIC MALE 60° CONE SEAT WITH BONDED SEAL
NHISMRE60 ° SMIET BN M s 4L & R R S 10612 47

METRIC MALE 60° CONE SEAT WITH BONDED SEAL FOR
SPIRAL HOSE

NI BRE60 ° AhEE 20611 48
METRIC FEMALE 60 ° CONE (CRIMP)

AN EEE60 © AN T 4 La 20612 48
METRIC FEMALE 60 ° CONE(CRIMP) FOR SPIRAL HOSE

45° kR H N IEL60 © AT 20641 49
45° GB METRIC FEMALE 60° FLAT SEAT

90° [EFRAHINIRSI60 ° FMHETH 20691 49
90° GB METRIC FEMALE 60° FLAT SEAT

N N BREC60 ° AMIETH 30611 50

METRIC FEMALE 60 ° CONE



H¢  INDEX

2K TYPE 85  PART NO TIYR  PAGE

NI PIIBRE60 © AMNENT E S 30612 50
METRIC FEMALE 60° CONE FOR SPIRAL HOSE

45° NI FERE60 ° AHETH 30641 51
45° METRIC FEMALE 60 ° CONE

45° NI EBSI60 ° ANETH gL 30642 51
45° METRIC FEMALE 60° CONE FOR SPIRAL HOSE

90° Al NIREA60 © AMIET 30691 52
90° METRIC FEMALE 60 ° CONE

90° A NIBL60 ° HMETHHSAE 30692 52
90° METRIC FEMALE 60° CONE FOR SPIRAL HOSE

GEHEE g HMESL 13011SW 53
BSPT MALE SWIVEL

A HE B e i MRS 15611SW 53
NPT MALE SWIVEL

FCHEE IR EL 13011IN 54
BSPT FEMALE

A HEE NSRS 15611N 54
NPT FEMALE

A HEE SMESL 15611 55
NPT MALE

Y SNBSS 15612 55
NPT MALE FOR SPIRAL HOSE

e MRS B 15613 56
NPT MALE INTERLOCK

e MRS B s 15613L 56
NPT MALE INTERLOCK STRENGTHEN

FLHEE SMESL 13011 57
BSPT MALE

YL SNBSS 13012 57
BSPT MALE FOR SPIRAL HOSE

YL IR GUERTH 22111 58
BSP FEMALE MULTISEAL

B N IR LBR T QS8 22112 58
BSP FEMALE MULTISEAL FOR SPIRAL HOSE

45° HLE IR GUERTH 22141 59
45° BSP FEMALE MULTISEAL

45° L IR SRR JE S 22142 59
45° BSP FEMALE MULTISEAL FOR SPIRAL HOSE

90° JLE NIRLGUERTH 22191 60
90° BSP FEMALE MULTISEAL

90° JEAE RSBk S 22192 60
90° BSP FEMALE MULTISEAL FOR SPIRAL HOSE



H¢  INDEX

25 TYPE 5  PART NO T PAGE
L HME LTI 7 A i T 41 A 2 12211A 61
BSP MALE FLAT BONDED SEAL

L HMELCT T 7 o7 T 4L B A s g g 12212A 61
BSP MALE FLAT BONDED SEAL FOR SPIRAL HOSE

B N RS 22211 62
BSP FEMALE FLAT SEAT

Y NIRSCT T 5 22212 62
BSP FEMALE FLAT SEAT FOR SPIRAL HOSE

45° TEE RS 22241 63
45° BSP FEMALE FLAT SEAT

45° T NIRSCF RS 22242 63
45° BSP FEMALE FLAT SEAT FOR SPIRAL HOSE

90° T N IRSCTTH 22291 64
90° BSP FEMALE FLAT SEAT

90° L NIRSCP I S 22292 64
90° BSP FEMALE FLAT SEAT FOR SPIRAL HOSE

B HMIRS60 ° PHE T N o 4 A R 12611A 65
BSP MALE 60° CONE SEAT/WITH BONDED SEAL

HFHMRL60 °© NHEH S Al A R B g5 E 126127 65

BSP MALE 60° CONE SEAT/WITH BONDED SEAL FOR
SPIRAL HOSE

HLE N IRL60 ° HMETH 22611 66
BSP FEMALE 60° CONE

FAF N IBS60 ° HME T S 22612 66
BSP FEMALE 60° CONE FOR SPIRAL HOSE

45° Wi NIBL60 © M 22641 67
45° BSP FEMALE 60° CONE

45° PR NIBLI60 ° AMET E S 22642 67
45° BSP FEMALE 60° CONE FOR SPIRAL HOSE

90° TEE NIRA60 ° HMIEH 22691 68
90° BSP FEMALE 60° CONE

90° TEEFPNIEL60 ° AN L 22692 68
90° BSP FEMALE 60° CONE FOR SPIRAL HOSE

A NIZS060 ° AMET XS 22611D 69
BSP FEMALE 60° CONE WITH DOUBLE HEXAGON

B NIRL60 ° HMEETXUN I SR 22612D 69
BSP FEMALE 60° CONE WITH DOUBLE HEXAGON FOR

SPIRAL

LA PN IBL60 ° AMEETHT YA 22613 70
BSP FEMALE 60° CONE FOR INTERLOCK

45° T NERL60 ° AMIETH B 22643 70

45° BSP FEMALE 60° CONE FOR INTERLOCK



H¢  INDEX

5] TYPE 5 PART NO UK PAGE
90%d T N ERLI60 ° AT PN 8 =X 22693 71
90° BSP FEMALE 60° CONE FOR INTERLOCK

90° ZEEFPNIEL60 © AN XN F 22691K 72
90° BSP FEMALE 60° CONE COMPACT ELBOW

90° TLE NIRL60 ° AMHETH BN g5 22692K 72
90° BSP FEMALE 60° CONE COMPACT ELBOW FOR SPIRAL

HOSE

SAE5 07 B8] Jie % A £ 16011SW 73
SAE MALE BOSS SWIVEL WITH O-RING

S| SAESMERE S 7 07 B 16011 74
SAE MALE WITH O-RING

FHISAESMERS R 01 Pl i 5 16012 74
SAE MALE WITH O-RING FOR SPIRAL HOSE

SEH| JICHMELL T4 ° AMETT 16711 75
JIC MALE 74° CONE

LHIJICHMRLT4 ° HMET S 16712 76
JIC MALE 74° CONE FOR SPIRAL HOSE

) TICHIELTA © PHE S 26712 76
JIC FEMALE 74° CONE FOR SPIRAL HOSE

LM JICHIRS74 ° NHETD 26711 77
JIC FEMALE 74° CONE

45° EHJICHIELT4 © AHEM 26741 78
45° JIC FEMALE 74° CONE

90° ZEHIJICHIRLIT4 © NEETH 26791 79
90° JIC FEMALE 74° CONE

45° FHJICHIELT4 ° PHEM PG 26742 80
45° JIC FEMALE 74° CONE FOR SPIRAL HOSE

90° EHIJICHIELIT4 ° WHERJESHE 26792 80
90° JIC FEMALE 74° CONE FOR SPIRAL HOSE

S JICHBRELT4 © NHETHTXS M 26711D 81
JIC FEMALE 74° CONE SEAT WITH DOUBLE HEXAGON

M JICHBRELT4 ° PNHEH NS i Ge 26712D 81

JIC FEMALE 74° CONE SEAT WITH DOUBLE HEXAGON
FOR SPIRAL HOSE

M JICHIRLLT4 © P EH I8N 26713 82
JIC FEMALE 74° CONE SEAT FOR INTERLOCK

FMHI JTCHBRLLTA ° PYHER P8 =0n o 26713L 82
JIC FEMALE 74 ° CONE SEAT FOR INTERLOCK

STRENGTHEN

45° SEHIJICHIZEL74 © PHET B0 26743 83

45° JIC FEMALE 74° CONE SEAT FOR INTERLOCK



H¢  INDEX

5] TYPE 5  PART NO UK PAGE
45° EHJICHBRLLT4 ° PIHETH P9 81 =5 26743L 83
45° JIC FEMALE 74° CONE SEAT FOR INTERLOCK

STRENGTHEN

90° KM JICHIRST4 ° PIHER P80 26793 84
90° JIC FEMALE 74° CONE SEAT FOR INTERLOCK

90° ZEHIJICHIRELTA ° PYHE A B = ag 26793L 84
90° JIC FEMALE 74° CONE SEAT FOR INTERLOCK

STRENGTHEN

90° ZEHIME S TICNIELT4 ° NHET 26791K 85
90° JIC FEMALE 74° CONE SEAT COMPACT ELBOW

90° JEHIE & JICHIRAT4 ° PHET 26792K 85
90° JIC FEMALE 74° CONE SEAT COMPACT ELBOW FOR

SPIRAL

FHISAEAMES90 © PIHET 17811 86
SAE MALE 90° CONE SEAT

FHISAEAMEL90 ° P HEM QIS 17812 86
SAE MALE 90° CONE SEAT FOR SPIRAL HOSE

FHISAEFMEL90 © HMEH 17811L 87
SAE MALE 90° CONE SEAT LONG TYPE

FEHISAEP RS0 © PYAET 27811 88
SAE FEMALE 90° CONE SEAT

LHISAEIRL90 ° N HET H L4 27812 88
SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE

45° EHISAEPIEES90 © N HET 27841 89
45° SAE FEMALE 90° CONE SEAT

45° EHISAENIRS90 ° N HET S 27842 89
45° SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE

90° EHISAEPBRE90 ° P4k 27891 90
90° SAE FEMALE 90° CONE SEAT

90° EHISAENIRL90 ° PAETH ESe 27892 90
90° SAE FEMALE 90° CONE SEAT FOR SPIRAL HOSE

| ORFS MBS T THI 0% P 25 4 14211 91
ORFS MALE O-RING SEAL

SEHIORFSHMEZE S T 07 P 5 5 i 5 14212 91
ORFS MALE O-RING SEAL FOR SPIRAL HOSE

SETHIORFS Py R ST THI 24211 92
ORFS FEMALE FLAT SEAT (CRIMP)

S HIORFS W BRSCT T ZH 58 5 24212 92
ORFS FEMALE FLAT SEAT FOR SPIRAL (CRIMP)

45° FH|ORFS Y IRSCT- 24241 92

45° ORFS FEMALE FLAT SEAT (CRIMP)



H¢  INDEX

25 TYPE 5  PART NO TV PAGE
45° SEHIORFS NIRSCT T 248 24242 93
45° ORFS FEMALE FLAT SEAT FOR SPIRAL (CRIMP)

90° ZE4HI|ORFS P MBS T 24291 93
90° ORFS FEMALE FLAT SEAT (CRIMP)

90° FEHI|ORFS MRS I E 58 24292 94
90° ORFS FEMALE FLAT SEAT FOR SPIRAL (CRIMP)

S HIORFS N IR ST TH 34211 94
ORFS FEMALE FLAT SEAT (NON-CRIMP)

S ORFS PN BR AL [HI g 53 34212 95
ORFS FEMALE FLAT SEAT FOR SPIRAL (NON-CRIMP)

45° ZEH|ORFS Y MR SF T 34241 96
45° ORFS FEMALE FLAT SEAT (NON-CRIMP)

45° ZEHHI|ORFS MBS [ 4 54 34242 96
45° ORFS FEMALE FLAT SEAT FOR SPIRAL (NON-CRIMP)

90° SEHH|ORFS P IR SCF- [HI 34291 97
90° ORFS FEMALE FLAT SEAT (NON-CRIMP)

90° EMHI|ORFS YRS H E S8 34292 97
90° ORFS FEMALE FLAT SEAT FOR SPIRAL (NON-CRIMP)

FEHINPSMPA IREL60 ° AMEETH 21611 98
NPSM FEMALE 60° CONE

FHINPSMPY BREL60 ° HIME[HI 2858 21612 98
NPSM FEMALE 60° CONE FOR SPIRAL HOSE

45° EHINPSMPIBRZ60 ° AME 21641 99
45° NPSM FEMALE 60 ° CONE

45° SEHINPSMPIBRE60 ° AMET 5 21642 99
45° NPSM FEMALE 60 ° CONE FOR SPIRAL HOSE

90° EHINPSMPAYRRL60 ° AMHETH 21691 100
90° NPSM FEMALE 60° CONE

90° SEHINPSMHRA60 © Ak 45 21692 100
90° NPSM FEMALE 60° CONE FOR SPIRAL HOSE

HARNHIZMES60 © HMEH 18611 101
JIS METRIC MALE 60 ° CONE SEAT

H AN SMBELSI60 © 4T g5 18612 101
JIS METRIC MALE 60 ° CONE SEAT FOR SPIRAL

H A A B IBE60 © PHETS f 28611 102
JIS METRIC FEMALE 60° CONE SEAT WITH DOUBLE

HEXAGON

H A A PIELS60 © PAED DU M JE 5 28612 102

JIS METRIC FEMALE 60 ° CONE SEAT WITH DOUBLE
HEXAGON FOR SPIRAL



H¢  INDEX

25 TYPE 5 PART NO T PAGE
45° HARAHIPISEE60 © PHHETIXN S M 28641 103
45° JIS METRIC FEMALE 60 ° CONE SEAT

45° HARNBINIBLS60 ° PN 4E T WS f g8 28642 103
45° JIS METRIC FEMALE 60 ° CONE SEAT FOR SPIRAL

90° HAAH|HIRS60 © PHETIX S 28691 104
90° JIS METRIC FEMALE 60 °© CONE SEAT

90° HAAHINIRE60 © AHER XN A5 E 28692 104
90° JIS METRIC FEMALE 60 ° CONE SEAT FOR SPIRAL

H A pIEare0 © PIHER 29611 105
JIS GAS FEMALE 60° CONE SEAT

H AR BE ] Y IRL60 © PHETI SR 29612 105
JIS GAS FEMALE 60° CONE SEAT FOR SPIRAL

45° HARTEH| N IBL60 © AT 29641 106
45° JIS GAS FEMALE 60° CONE SEAT

45° HARTEH| NERS60 ° PAHET g5 29642 106
45° JIS GAS FEMALE 60° CONE SEAT FOR SPIRAL

90° HATEH| NIBL60 ° AHETD 29691 107
90° JIS GAS FEMALE 60° CONE SEAT

90° HARTEH| NERS60 ° PAHET S 29692 107
90° JIS GAS FEMALE 60° CONE SEAT FOR SPIRAL

H iy 24 gl 5 88112 108
JIS FLANGE FOR SPIRAL HOSE

45° Hlk L e 88142 108
45° JIS FLANGE FOR SPIRAL HOSE

90° Hllik L gige s 88192 108
90° JIS FLANGE FOR SPIRAL HOSE

SAEVE 22 3000PS 1 4 5/ 87312 109
SAE FLANGE 3000PSI FOR SPIRAL HOSE

SAEVE 22 6000PS 1 4 a4 87612 109
SAE FLANGE 6000PSI FOR SPIRAL HOSE

45° SAE¥E23000PST 4 Le%s 87342 110
45° SAE FLANGE 3000PSI FOR SPIRAL HOSE

45° SAE¥E26000PST 4 Le%s 87642 110
45° SAE FLANGE 6000PST FOR SPIRAL HOSE

90° SAEYE23000PSI4H e/ 87392 111
90° SAE FLANGE 3000PSI FOR SPIRAL HOSE

90° SAEYE26000PST 4L 87692 111
90° SAE FLANGE 6000PSI FOR SPIRAL HOSE

SAE#: 223000PS T 4 =% 87313 112

SAE FLANGE 3000PSI FOR INTERLOCK



H¢  INDEX

5] TYPE 5 PART NO UK PAGE
SAEYE226000PST 4 4 =X, 87613 112
SAE FLANGE 6000PST FOR INTERLOCK

SAEVE2£3000PST P 8 = n o 87313L 113
SAE FLANGE 3000PST FOR INTERLOCK STRENGTHEN

SAEYE226000PST N 8= n 5% 87613L 113
SAE FLANGE 6000PST FOR INTERLOCK STRENGTHEN

45° SAE¥E23000PST P45, 87343 114
45°  SAE FLANGE 3000 PSI INTERLOCK

45° SAEH:226000PST 81 87643 114
45°  SAE FLANGE 6000 PST INTERLOCK

45° SAEJE23000PST P4 o n g 87343L 115
45° SAE FLANGE 3000PST FOR INTERLOCK STRENGTHEN

45° SAEJE26000PST P4 o n g 87643L 115
45° SAE FLANGE 6000PST FOR INTERLOCK STRENGTHEN

90° SAEVE>23000PST 4= 87393 116
90° SAE FLANGE 3000PST FOR INTERLOCK

90° SAEVA>26000PST 8= 87693 116
90° SAE FLANGE 6000PST FOR INTERLOCK

90° SAEYE23000PST N8 hnsm 87393L 117
90° SAE FLANGE 3000PST FOR INTERLOCK STRENGTHEN

90° SAEVX>26000PST A& R s 87693L 117
90° SAE FLANGE 6000PST FOR INTERLOCK STRENGTHEN

SAEVE229000PS 1 4 &34 87912 118
SAE FLANGE 9000PST FOR SPIRAL HOSE

45° SAEVE*29000PST 4 Le% 87942 118
45° SAE FLANGE 9000PSI FOR SPIRAL HOSE

SAE¥E *29000PST P4 41 =0 5 87913L 119
SAE FLANGE 9000PST FOR INTERLOCK STRENGTHEN

45° SAEE229000PST P4 =X i 87943L 119
45° SAE FLANGE 9000PST FOR INTERLOCK STRENGTHEN

45° SAE¥E29000PST 815, 87943 120
45° SAE FLANGE 9000PSI FOR INTERLOCK

90° SAE¥E29000PST 4=, 87993 120
90° SAE FLANGE 9000PST FOR INTERLOCK

90° SAE{E29000PST4H L% 87992 121
90° SAE FLANGE 9000PST FOR SPIRAL HOSE

90° SAE¥E29000PST 8=, 87913 121
90° SAE FLANGE 9000PSI FOR INTERLOCK

90° SAEVX>29000PST M8 R ngs 88993L 122

90° SAE FLANGE 9000PSI FOR INTERLOCK STRENGTHEN



H¢ INDEX

K5 TYPE 5  PART NO UK PAGE
O R RS R K Bk 30011 123
METRIC FEMALE WATERWASH INSERTS

YRR AR $Ek 60011 123
MT STAPLELOCK MALE

DIN2353 R ERBE RIIHE 50011 124
METRIC STANDPIPE DIN2353

DIN2353-REXHELH HE 51011 124
METRIC STANDPIPE DIN2353

45° REXR (F) RIE5E 50041 125
45° METRIC STANDPIPE

90° REXER (FE) RINEE 50091 126
90° METRIC STANDPIPE

Wb kER45° B 51041 127
JB 45° METRIC STANDPIPE

HhrEER0 © TE 51091 127
JB 90° METRIC STANDPIPE

) B 72011 128
BSP BANJO

I HIEBEEARDINT622 70011 129
METRIC BANJO DIN7622

XU 0 90011 130
DOUBLE CONNECTOR

XU E RO GRE 90012 130
DOUBLE CONNECTOR FOR SPIRAL HOSE

SAE 100 REHE W HFRINETR 00518 131
FERRULE FOR SAE100R5 HOSE REUSEABLE

| G RG] ol 13011-K 131
BSPT MALE REUSEABLE

AR HEE R ST PR 15611-K 132
NPT MALE REUSEABLE

LHJICHMBLTA ° AT a] P78 16711-K 132
JIC MALE 74° CONE REUSEABLE

2 HISAESMZ S0 ° AN [ AT 4R 17811-K 133
SAE MALE 90° CONE REUSEABLE

T NIRA60 ° AMETH XS A A3l 22611D-K 133
BSP FEMALE 60° CONE DOUBLE HEXAGON REUSEABLE

FHIJICHIRLT4 ° PIHETH S A TR 26711D-K 134
JIC FEMALE 74° CONE DOUBLE HEXAGON REUSEABLE

LRI TTCHIRLLT4 °© T AT IR0 36711-K 134

JIC FEMALE 74° CONE REUSEABLE



H¢  INDEX

5] TYPE 5 PART NO UK PAGE
90° S| JICHIRETA ° PIHETH XS A AT iR 26791D-K 135
90° JIC FEMALE 74° CONE SEAT REUSEABLE

FHISAEPIBRS90 ° pYHETH ] R 05 27811D-K 135
SAE FEMALE 90° CONE SEAT REUSEABLE

L) B AMESL 13011-PO 136
BSPT MALE PUSHLOCK

S Tl A HE B MR S 15611-P0 136
JIC MALE PUSHLOCK

KM JICHMRL T4 ° HMEETH 16711-P0 137
NPT FEMALE 74 ° PUSHLOCK

FHISAEPBRL90 ° Py HETH 27811-P0 137
SAE FEMALE 90° CONE SEAT PUSHLOCK

YL N IRS60 ° HMETH 22611-P0 138
BSP FEMALE 60° CONE PUSHLOCK

FHIJICHIRLT4 ° PHETH 26711-P0 138
JIC FEMALE 74 ° CONE PUSHLOCK

A 2 il YRR ER T & A% 20111T 139
GB METRIC FEMALE MULTISEAL INTEGRAL FITTING

I R A i) P BRSCF TH f 20adE 20211T 139
GB METRIC FEMALE FLAT SEAT INTEGRAL FITTING

EAR AT P BREC74 © NHER & SO 20711T 140
GB METRIC FEMALE 74° CONE INTEGRAL FITTING

GO IRGER I & %k 22111T 140
BSP FEMALE MULTISEAL INTEGRAL FITING

HE NIBL60 °© AT & HUEE 226117 141
BSP FEMALE 60° CONE INTEGRAL FITTING

FHIJICH MRS 74 © EH & %A 26711T 141
JIC FEMALE 74° CONE INTEGRAL FITTING

90° [EFRAH] N IRSERTH & 2% A 20191T 142
90° GB METRIC FEMALE MULTISEAL INTEGRAL FITTING

90° FEIARA ] WIS & 24 20291T 142
90° GB METRIC FEMALE FLAT SEAT INTEGRAL FITTING

90° EFRAHINIZLT4 © W & RERE 20791T 143
90° GB METRIC FEMALE 74° CONE INTEGRAL FITTING

90° T N IRGUERT & oEAE 22191T 143
90° BSP FEMALE MULTISEAL INTEGRAL FITING

90° T NIRA60 ° AMEETH & S 22691T 144

90 ° BSP FEMALE 60° CONE INTEGRAL FITTING



H¢  INDEX

5] TYPE 5 PART NO UK PAGE
90° £ JICHIRE74 © PNAHEM & Rk ik 267917 144
90° JIC FEMALE 74° CONE INTEGRAL FITTING

45° [E bR il NIRRT & 2E K 201417 145
45° GB METRIC FEMALE MULTISEAL INTEGRAL FITTING

45°  EFRA il RSO & 2% R 20241T 145
45° GB METRIC FEMALE FLAT SEAT INTEGRAL FITTING

45° EARAHI M RE74 © MHER & 0%k 20741T 146
45° GB METRIC FEMALE 74° CONE INTEGRAL FITTING

45° HE PIRGUERTH & 0%k 22141T 146
45° BSP FEMALE MULTISEAL INTEGRAL FITING

45° T PIRL60 ° A & gk 22641T 147
45° BSP FEMALE 60° CONE INTEGRAL FITTING

45° EHJICHIRLET4 ° PHEH & dk 26741T 147
45°  JIC FEMALE 74° CONE INTEGRAL FITTING

AHIIES24 © HETATORY Bl R4 — B iE Rk 30411P-B 148

METRIC FEMALE 24 ° CONE L.T.WITH O-RING TWO WIRE
INTEGRAL FITTING

RG24 © HETH AT OTY P8l 42 R 41 I J2 3 pR 43k 30412P-D 148
METRIC FEMALE 24 ° CONE L.T.WITH O-RING FOURWIRE
INTEGRAL FITTING

45° il IS4 © HE 0L e R R A R ik Rk 30441P-B 149
45° METRIC FEMALE 24 ° CONE L.T.WITH O-RING TWO WIRE
INTEGRAL FITTING

45° NI ERS24 © HET P ORL B 2 R 5 DU 2 iE Mk 30442P-D 149
45° METRIC FEMALE 24 ° CONE L.T.WITH O-RING FOUR
WIRE INTEGRAL FITTING

90° At ABRE24 © HEND 0% BBl R4 2 ML 30491P-B 150
90° METRIC FEMALE 24 ° CONE L.T.WITH O-RING TWO WIRE
INTEGRAL FITTING

90° Al NERS24 © HEETORB % R 5 U 2 7E MR 3k 30492P-D 150
90° METRIC FEMALE 24 ° CONE L.T.WITH O-RING FOUR WIRE
INTEGRAL FITTING

NP4 © HETH R P AR B R Rk 30511P-B 151
METRIC FEMAHE 24 ° CONE H.T.WITH O-RING TWO WIRE
INTEGRAH FITTING

NHIPNIREA © HETHOR [B B AR 1 DU 23 ek 30512P-D 151
METRIC FEMAHE 24° CONE H.T.WITH O-RING FOUR WIRE
INTEGRAH FITTING

45° NI A RG24 © HENTar 0% B R R iE Rk 30541P-B 152
45° METRIC FEMAHE 24 ° CONE H.T.WITH O-RING TWO WIRE
INTEGRAH FITTING



H¢ INDEX

K5 TYPE %5 PART NO TR PAGE

45° N IRE24 ° HEM O B A5 DU R AR Bk 30542P-D 152
45° METRIC FEMAHE 24 ° CONE H.T.WITH O-RING FOUR WIRE
INTEGRAH FITTING

90° i IRS24 ° HEIMHOR M B A8 —RIER L 30591P-B 153
90° METRIC FEMAHE 24° CONE H.T.WITH O-RING TWO WIRE
INTEGRAH FITTING

90° i NIRS24 ° HEIHOR M B A8 DU R IRk 30592P-D 153
90° METRIC FEMAHE 24 ° CONE H.T.WITH O-RING FOUR WIRE
INTEGRAH FITTING

SAE ¥:2£3000PST — JE it A8 3k 87311P-B 154
SAE FLANGE 3000PSI FOR TWO WIRE INTEGRAL FITTING

SAE ¥£2£3000PS14H 445 Y 2 344 5k 87312P-D 154
SAE FLANGE 3000PSI FOR FOUR WIRE INTEGRAL

FITTING

SAE §5:226000PST — /2 3% {23k 87611P-B 155
SAE FLANGE 6000PST FOR TWO WIRE INTEGRAL FITTING

SAE ¥2:2£6000PSTH LS4 Y J2 2 444353k 87612P-D 155
SAE FLANGE 6000PSI FOR FOUR WIRE INTEGRAL FITTING

45° SAE i%:2£3000PST — 2 A ek 87341P-B 156
45° SAE FLANG 3000PSI FOR TWO WIRE INTEGRAL

FITTING

45° SAE VA2£3000PSIZEEE% Y B2 i fe Sk 87342P-D 156
45° SAE FLANG 3000PSI FOR FOUR WIRE INTEGRAL

FITTING

45° SAE :226000PS1— 2% Atk 87641P-B 157
45° SAE FLANG 6000PSI FOR TWO WIRE INTEGRAL FITTING

45° SAE yk2%6000PSTZHSRE PU J2 7 M5z 3k 87642P-D 157
45° SAE FLANG 6000PSTI FOR FOUR WIRE INTEGRAL FITTING

90° SAE ¥£223000PST /2 i&fA$Ek 87391P-B 158
90° SAE FLANG 3000PST FOR TWO WIRE INTEGRAL

FITTING

90° SAE ¥E223000PSTZi&e%s JU /2% k3 Sk 87392P-D 158

90° SAE FLANG 3000PST FOR FOUR WIRE INTEGRAL
FITTING

90° SAE ¥£2£6000PST — E & kL 87691P-B 159
90° SAE FLANG 6000PSI FOR TWO WIRE INTEGRAL FITTING

90° SAE ¥:2£6000PSIZELess VU 2 AR E K 87692P-D 159
90° SAE FLANG 6000PSI FOR FOUR WIRE INTEGRAL FITTING



Q 00TFO
RTW A
L FERRULE FOR TEFLON HOSE
s B % HOSE BORE ] ~F DIMENSTONS
PART NO. AFRHE DN +% “SDASH D L
00TFO-04 6 04 4.5 31
00TF0-05 8 05 16.5 30.6
00TF0-06 10 06 19 32
00TFO-08 12 08 24 34.5
00TFO-10 16 10 27 37
00TFO-12 20 12 30. 1 13
00TFO-16 25 16 38 53
XTC
SAE 100RTAT/SAE 100R2ATiHAFHE &
. FERRULE FOR SAE 100RTAT/SAE 100R2AT
foE ;% HOSE BORE R ~F DIMENSTONS
PART NO. AFRWAE DN 15 SDASH D L
XTC-04 6 04 22.3 25.5
XTC-05 08 05 24 2.3
XTC-06 10 06 26 2.3
XTC-08 12 08 30 27
XTC-10 16 10 33 29.5
XTC-12 20 12 37 33.7
XTC-16 %5 16 7.5 12
XTC-20 32 20 56 47
XTC-24 10 24 63 51
XTC-32 50 32 76 79
XTC, —20 32 20 60 47
XIC, 24 38 24 66 51
XTC, —32 50 32 79.5 79




00110

7 SAE 100RIAT/EN 853 1SN & &R
L FERRULE FOR SAE100R1AT/EN 853 1SN HOSE
) Ji& %% HOSE BORE JR ) DIMENSIONS
PART NO. AFRAEE DN F% “ZDASH D L
00110-04 6 04 19 30
00110-05 8 05 20.5 32
00110-06 10 06 23.2 32
00110-08 12 08 27 35
00110-10 16 10 30.5 38
00110-12 20 12 34 44
00110-14 22 14 37 45
00110-16 25 16 42.6 52
00110-20 32 20 50. 8 57
00110-24 40 24 58 60
00110-32 50 32 72 75
00210
SAE 100R2AT/EN 853 2SN & &
L FERRULE FOR SAE100R2AT/EN 853 2SN HOSE

=) Jii % HOSE BORE JU =) DIMENSIONS
PART  NO. AT DN b ‘SDASH D L
00210-04 6 04 20.5 30
00210-05 8 05 22 32
00210-06 10 06 25 32
00210-08 12 08 28. 6 35
00210-10 16 10 32 38
00210-12 20 12 36 44
00210-16 25 16 45 52
00210-20 32 20 56 57
00210-24 40 24 62.5 60
00210-32 50 32 75 75




03310

SAE 100RTAT/SAE 100R 1AT 2AT#HHER

L
re J&z & HOSE BORE JR ~} DIMENSIONS
PART NO. AFBRHAE DN b5 S DASH D L
03310-03 5 03 19 24
03310-04 6 04 23 30
03310-05 8 05 24 31
03310-06 10 06 26 32
03310-08 12 08 29 34
03310-10 16 10 33 37
03310-12 20 12 37 43
03310-16 25 16 46 51
03310-20 32 20 59 57
03310-24 40 24 67 60
03310-32 50 32 80 75
03300
i SAE 100RTAT/SAE 100R 1ATEfH
e ik % HOSE BORE JX =<} DIMENSIONS

PART NO. ABRWE DN b SDASH D L
03300-04 6 04 20.5 30
03300-05 8 05 22 31
03300-06 10 06 24.5 32
03300-08 12 08 28 34
03300-10 16 10 31 37
03300-12 20 12 35 43
03300-16 25 16 43 51
03300-20 32 20 53 57
03300-24 40 24 62 60
03300-32 50 32 76 75




00100
SAE 100R1AT/EN 853 1SN REEfH
L FERRULE FOR SAE100R1AT/EN 853 1SN HOSE

e fiz % HOSE BORE R ~F DIMENSTONS
PART NO. AFRMAZE DN b% S DASH D L
00100-02 4 02 17 26
00100-04 6 04 19 30
00100-05 8 05 21.5 32
00100-06 10 06 23 32
00100-08 12 08 28 34
00100-10 16 10 31 39
00100-12 20 12 36 43
00100-16 25 16 43 50
00100-20 32 20 51 57
00100-24 40 24 57 60
00100-32 50 32 70 75

00200

7;[[%% SAE 100R2AT/EN 853 2SN /&£ (4

L FERRULE FOR SAE100R2AT/EN 853 2SN HOSE

fom W % HOSE BORE R~} DIMENSIONS
PART NO. AFRPIFE DN % 2 DASH D L
0020002 4 02 20. 6 27
0020004 6 04 o1 30
00200-05 8 05 23 32
00200-06 10 06 % 32
00200-08 12 08 30 34
00200-10 16 10 33.4 39
00200-12 20 12 38 13
00200-16 25 16 16 50
00200-20 32 20 56 57
0020024 10 24 62 60
00200-32 50 32 75 75




01100

[ — R B 1
FERRULE FOR CHINA 1-WIRE HOSE

s e % HOSE BORE R~ DIMENSIONS
PART NO. AFRAEE DN % S DASH D L
0110004 6 04 19 32
01100-05 8 05 21 34
0110006 10 06 23 34
01100-08 12 08 28 38
01100-10 16 10 31 40
01100-12 20 12 34 44
01100-14 22 14 37 45
01100-16 % 16 a1 54
01100-20 32 20 19 57
0110024 10 24 55 60
01100-32 50 32 68 75

01200

[ R R 1
FERRULE FOR CHINA 2-WIRE HOSE

foi fii & HOSE BORE JU <} DIMENSIONS
PART NO. AR DN Ff SDASH D L
01200-04 6 04 21 32
01200-05 8 05 23 34
01200-06 10 06 25 34
01200-08 12 08 31 38
0120010 16 10 34 40
01200-12 20 12 37 44
01200-14 22 14 40 45
01200-16 25 16 43 54
01200-20 32 20 51 57
01200-24 40 24 57 60
01200-32 50 32 70 75




01300

FERRULE FOR CHINA 3-WIRE HOSE

foe & 4% HOSE BORE R ~f DIMENSIONS
PART NO. AFRPIEE DN t% EDASH D L
01300-04 6 04 23 32
01300-05 8 05 25 34
01300-06 10 06 27 34
01300-08 12 08 33 38
01300-10 16 10 36 40
01300-12 20 12 39 44
01300-14 22 14 42 45
01300-16 25 16 45 54
01300-20 32 20 53 57
01300-24 40 24 59 60
01300-32 50 32 72 75

01400

7 R12/20-24[F 7 PU 240 22 5 G B 1
L FERRULE FOR R12/20-24CHINA 4-SPIRAL HOSE

o= & 4 HOSE BORE JX < DIMENSIONS
PART NO. AFRNE DN Fr 5DASH D L
01400-06 10 06 30 40
01400-08 12 08 32 42
01400-10 16 10 37 43
01400-12 20 12 40 50
01400-14 22 14 43 50
01400-16 25 16 46 62
01400-20 32 20 54 70
01400-24 40 24 62 75
01400-32 50 32 75 80




00400

J/lﬂ ! m m m ‘ m | R9A/RIR, 4SP. 4SH/10-16. R12/06-16 [ £
L

FERRULE FOR R9A/R9R, 4SP, 4SH/10-16 R12/06-16 HOSE

=2 Jii % HOSE BORE JR =) DIMENSIONS
PART NO. AFRWFE DN b 2DASH D L
00400-04 6 04 22 37
00400-06 10 06 25.5 39
00400-08 12 08 29 42
00400-10 16 10 32.5 43
00400-12 20 12 38 50
00400-16 25 16 46 62
00400-20 32 20 57 70
00400-24 40 24 65 75
00400-32 50 32 79 80

00401

DIN20023 4SH.R12/32 RREER

L FERRULE FOR DIN 20023 4SH.R12/32 HOSE
= & % HOSE BORE J' <} DIMENSIONS
PART NO. ARRAAE DN bR SDASH D L
00401-20 32 20 53 70
00401-24 40 24 61 75
00401-32 50 32 7 80




)
) DIN20023 4SH.R12/32 IR NBREM
L FERRULE FOR DIN 20023 4SH.R12/32 HOSE LNTERLOCK
e B & HOSE BORE R~ DIMENSIONS
=
PART NO. ARG DN & “SDASH D L
00405-08 12 08 30.5 46
00405-12 20 12 40 55
00405-16 25 16 49 64
00405-20 32 20 56 70
00405-24 40 24 64 82.5
00405-32 50 32 80 83
| RI3 P BT B
) INTERLOCK FOR R13 STRENGTHEN LNTERLOCK HOSE
o= & & HOSE BORE R~ DIMENSIONS

PART NO. AFRAE DN b5 “=DASH D L
00605-08 12 08 33 46
00605-12 20 12 40 55
00605-16 25 16 49 64
00605-20 32 20 61 70
00605-24 40 24 70 82.5
00605-32 50 32 85 83




00601

R13 - BB P Bt A s 2

77
INTERLOCK FERRULE FOR DIN 20023 4SH R13.HOSE
L
o B 4% HOSE BORE R~ DIMENSIONS
PART NO. AFRFFE DN % “SDASH D L
00601-20 32 20 59.5 87
00601-24 40 24 71 100
00601-32 50 32 87 108

00018

SAE100R7/R8 Mg s 4h &

L FERRULE FOR SAE 100R7/R8 HOSE

e ;% HOSE BORE R ~F DIMENSIONS
PART NO. AFRANE DN & “SDASH D L
00018-03 5 03 14 2
00018-04 6 04 17 30
00018-05 8 05 19 30
00018-06 10 06 21 30
00018-08 12 08 25.5 34
00018-10 16 10 29 38
00018-12 20 12 33 43




- 10211

Wﬂ R PR 2 H] 7N S T O 234 | i MR
JB METRIC MALE DOUBLE USE CONE SEAT
5 BLLE ik % HOSE BORE J& sF DIMENSIONS
PART NO. THREADE AFRIAZDN | ¥5 =DASH C S
10211-14-04 ML4X1. 5 6 04 11 17
10211-16-05 M16X1. 5 8 05 11 19
10211-18-06 M18X1. 5 10 06 11 22
10211-22-08 M22X1. 5 12 08 12 27
10211-27-10 M27X1. 5 16 10 13 32
10211-30-12 M30X1. 5 20 12 14 36
10211-36-14 M36X2 22 14 16 41
10211-39-16 M39X2 25 16 18 16
10211-45-20 M45X2 32 20 20 55
10211-52-24 M52X2 40 24 22 60




C 10311

[ Hirmrm—

FR 2 il SR ST T i O 7R ]

2IOLIIIIY 2
% %ﬁ%- JB O-RING METRIC MALE FLAT SEAT
A= W SR Jig % HOSE BORE N ~f DIMENSTONS
PART NO. THREADE AFKHEDN | kr EDASH C S
10311-14-04 M14X1. 5 6 04 11 17
10311-16-05 M16X1. 5 8 05 11 17
10311-18-06 M18X1. 5 10 06 11 19
10311-22-08 M22X1. 5 12 08 12 24
10311-27-10 M27X1. 5 16 10 13 30
10311-30-12 M30X1. 5 20 12 14 32
10311-36-14 M36X2 22 14 16 41
10311-39-16 M39X2 25 16 16 41
10311-45-20 M45X2 32 20 20 46
10311-52-24 M52X2 40 24 22 55
10311-64-32 M64X2 50 32 28 65
S
c
10312
Iahipnnuss
. Wﬂ“ e PR 23 fill SRS Ty O 7 e
JB O-RING METRIC MALE FLAT SEAT
K5 BELLE Jiz % HOSE BORE R ~f DIMENSIONS
PART NO. THREADE AFRNAZDN | Fr EDASH C S
10312-22-08 M22X1. 5 12 08 12 24
10312-27-10 M27X1. 5 16 10 13 30
10312-30-12 M30X1. 5 20 12 14 32
10312-36-14 M36X2 22 14 16 41
10312-39-16 M39X2 25 16 16 41
10312-45-20 M45X2 32 20 20 46
10312-52-24 M52X2 40 24 22 55
10312-64-32 M64X2 50 32 28 65




%%.%Z%%wﬂﬂ%“‘

10711

INHIAMEBZT4A° AT
METRIC MALE 74° CONE

(%7 WRLE J&& & HOSE BORE ~} DIMENSIONS
PART NO. THREADE AFRAFDN | 5 SDASH C S
10711-12-02 M12X1. 25 4 02 15.7 14
10711-14-04 M14X1. 5 6 04 18 17
10711-16-05 M16X1. 5 8 05 19 17
10711-18-06 M18X1. 5 10 06 19 19
10711-22-08 M22X1. 5 12 08 19.5 22
10711-27-10 M27X1. 5 16 10 20.5 27
10711-30-12 M30X1. 5 20 12 23 32
10711-36-14 M36X2 22 14 26 41
10711-39-16 M39X2 25 16 27.5 41
10711-45-20 M45X2 32 20 28.5 46

S
- 10712
T

N J IIIIOIL OIS T OIS Zzz2

& AISMBEITA® SN S5

METRIC MALE 74° CONE SPIRAL HOSE

RS IELE i & HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFRIEDN | #R SDASH C S
10712-22-08 M22X1. 5 12 08 19.5 22
10712-27-10 M27X1. 5 16 10 20.5 27
10712-30-12 M30X1. 5 20 12 23 32
10712-36-14 M36X2 22 14 26 41
10712-39-16 M39X2 25 16 27.5 41
10712-45-20 M45X2 32 20 28.5 46




1 10911

[T
U AISMBL90° ST

METRIC FEMALE 90° CONE

E
\éo

5 WRLLE Ji& % HOSE BORE J ~} DIMENSIONS
PART NO. THREADE AFRAAEDN | A5 5 DASH C S
10911-16-05 | M16X1.5 8 05 19 19
10911-22-08 | M22X1.5 13 08 19.5 24
10911-33-12 | M33X1.5 20 12 26 36

1 10911L

METRIC FEMALE 90° CONE LENGTHEN MALE

E(W 70 == 4 ABIAMBLL0" ST KR

R BLLE fik % HOSE BORE IN ~F DIMENSTONS
PART NO. THREADE IAFRIAEDN | ki =DASH C S
10911L-12-04 M12X1. 5 6 04 35 14
109111.-14-04 M14X1. 5 6 04 37 17
10911L-16-06 M16X1. 5 10 06 38 19
109111.-18-06 M18X1. 5 10 06 40 22




11711

FbR AR SMRLT4° A HET
JB METRIC FEMALE 74 ° CONE SEAT

= WS & % HOSE BORE &~} DIMENSIONS

PART NO. THREADE APRAEDN | 45 “SDASH C S
11711-14-04 M14X1. 5 6 04 8 17
11711-16-05 M16X1. 5 8 05 8.5 17
11711-18-06 M18X1. 5 10 06 8.5 19
11711-22-08 M22X1. 5 12 08 9 24
10711-27-10 M27X1. 5 16 10 8.5 30
11711-30-12 M30X1. 5 20 12 8 32
11711-36-14 M36X2 22 14 9 41
11711-39-16 M39X2 25 16 9 41
11711-45-20 M45X2 32 20 9 46
11711-52-24 M52X2 40 24 9 55
11711-64-32 M64X2 50 39 12 65




20111

| |ezra== A P B SR T
& ﬁz METRIC FEMALE MULTISEAT
G,
= gD & % HOSE BORE R~} DIMENSTONS
PART NO. THREADE AFKNIEDN | br =DASH C S
20111-12-02 M12X1. 25 4 02 5 17
20111-14-04 M14X1. 5 6 04 5 19
20111-16-05 M16X1. 5 8 05 6 22
20111-18-06 M18X1.5 10 06 5.5 24
20111-22-08 M22X1. 5 12 08 5 27
20111-27-10 M27X1. 5 16 10 4.5 32
20111-30-12 M30X1. 5 20 12 5.5 36
20111-36-14 M36X2 22 14 5.5 41
20111-39-16 M39X2 25 16 5.5 46
20111-45-20 M45X2 32 20 6.5 55
20111-52-24 M52X2 40 24 5.5 60
: 1113 0 20141
45° 21l A SR SRR T
45° METRIC FEMALE MULTI SEAT
= BELE f % HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFKNAEDN | br =DASH C H S
20141-12-02 M12X1. 25 4 02 3.5 19.7 17
20141-14-04 M14X1. 5 6 04 5 21.3 19
20141-16-05 M16X1.5 8 05 6 22.5 22
20141-18-06 M18X1. 5 10 06 5.5 24.2 24
20141-22-08 M22X1. 5 12 08 5 27.2 27
20141-27-10 M27X1. 5 16 10 4.5 29.6 32
20141-30-12 M30X1. 5 20 12 5.5 33.5 36
20141-36-14 M36X2 22 14 5.5 34 41
20141-39-16 M39X2 25 16 5.5 36 46
20141-45-20 M45X2 32 20 6.5 38 55




20112

- NN BRGOER T JE 52

\/c METRIC FEMALE MULTISEAT SPIRAL HOSE
e WZLLE fiz 4 HOSE BORE R ~F DIMENSIONS
PART NO. THREADE AFRIAEDN | b SDASH C S
20112-22-08 M22X1. 5 12 08 5 27
20112-27-10 M27X1. 5 16 10 4.5 32
20112-30-12 M30X1. 5 20 12 5.5 36
20112-36-14 M36X2 22 14 5.5 41
20112-39-16 M39X2 25 16 5.5 46
20112-45-20 M45X2 32 20 6.5 55
20112-52-24 M52X2 40 24 5.5 60
20112-64-32 M64X2 50 32 8.5 75

~limmmr 20142

45° il YIRS T 98 SR
45°  METRIC FEMALE MULTISEAT SPIRAL HOSE

RS IELE &2 % HOSE BORE JX 5 DIMENSIONS

PART NO. THREADE ANFRIAZDN | ¥5 =DASH C H S
20142-22-08 M22X1. 5 12 08 5 27.2 27
20142-27-10 M27X1. 5 16 10 4.5 29.6 32
20142-30-12 M30X1. 5 20 12 5.5 33.5 36
20142-36-14 M36X2 22 14 5.5 32.6 41
20142-39-16 M39X2 25 16 5.5 34 46
20142-45-20 M45X2 32 20 6.5 38.4 55
20142-52-24 M52X2 40 24 5.5 43.4 60




20191

I
L 90° 2l P BRECER T
s /1 N © 90° METRIC FEMALE MULTISEAT
E
e e J&& % HOSE BORE R~ DIMENSIONS
PART NO. THREADE AFRMAADN | A SDASH C H S
20191-14-04 M14X1. 5 6 04 5 38 19
20191-16-05 M16X1. 5 8 05 6 41.5 22
20191-18-06 M18X1. 5 10 06 5.5 45.3 24
20191-22-08 M22X1. 5 12 08 5 52.5 27
20191-27-10 M27X1. 5 16 10 4.5 58. 8 32
20191-30-12 M30X1. 5 20 12 5.5 68. 5 36
20191-36-14 M36X2 22 14 5.5 69 41
20191-39-16 M39x2 25 16 5.5 73.5 46
20191-45-20 M45X2 32 20 6.5 85 55
20191-52-24 M52X2 40 24 5.5 100 60
20191-64-32 M64X2 50 32 8.5 130.5 75
~JHrmmrm
| 20192
I
L X 90° /A il Py SR BCRRTH 445
S_/[ O 90° METRIC FEMALE MULTISEAT SPIRAL HOSE
E
e LR J&& % HOSE BORE R~ DIMENSIONS
PART NO. THREADE AMRAMEDN | 4% “5DASH C H S
20191-22-08 M22X1. 5 12 08 52.5 27
20191-27-10 M27X1. 5 16 10 4.5 58. 8 32
20191-30-12 M30X1. 5 20 12 5.5 68. 5 36
20191-36-14 M36X2 22 14 5.5 69 41
20191-39-16 M39x2 25 16 5.5 73.5 46
20191-45-20 M45X2 32 20 6.5 85 55
20191-52-24 M52X2 40 24 5.5 100 60
20192-64-32 M64X2 50 32 8.5 130.5 75




Eﬂﬁwwm—

20211

L b2 1] PN R AT T

N

C GB METRIC FEMALE FLAT SEAT

T B4R JiX %% HOSE BORE S~ DIMENSTONS
PART NO. THREADE | AFRMAEDN | 5 ‘SDASH c S
20211-12-02 M12X1.25 4 02 8 17
20211-12-04 M12X1.5 6 04 8 17
20211-14-04 M14X1.5 3 04 9 19
20211-16-04 M16X1.5 6 04 9.5 22
20211-16-05 M16X1.5 8 05 9.5 22
20211-16-06 M16X1.5 10 06 9.5 22
20211-18-05 M18X1.5 8 05 9.5 24
20211-18-06 M18X1.5 10 06 9.5 24
20211-18-08 M18X1.5 12 08 9.5 24
20211-22-08 M22X1.5 12 08 9.5 27
20211-27-10 M27X1.5 16 10 10.5 32
20211-27-12 M27X1.5 20 12 10.5 32
20211-30-12 M30X1.5 20 12 12.5 36
20211-36-16 M36X2 25 16 13.5 41
20211-42-20 M42X2 32 20 15.5 50
20211-45-20 M45X2 32 20 15.5 55
20211-52-24 M52X2 40 24 17.5 60




20231

30° [E bR il N RS-
30° GB METRIC FEMALE FLAT SEAT

(= IRLLE & % HOSE BORE JR <} DIMENSIONS

PART NO. THREADE AFRNAEDN | 45 2DASH C H g
20231-14-04 M14X1. 5 6 04 18.4 19
20231-16-05 M16X1. 5 8 05 9.5 20 22
20231-18-06 M18X1. 5 10 06 9.5 21. 4 24
20231-22-08 M22X1. 5 12 08 9.5 24 27
20231-27-10 M27X1. 5 16 10 10.5 26. 4 32
20231-30-12 M30X1. 5 20 12 12.5 30 36
20231-39-16 M39X2 25 16 13.5 31 46
20231-45-20 M45X2 32 20 15.5 36.5 55
20231-52-24 M52X2 40 24 17.5 36.5 60

w )

20232

30° [ bR il N RS T

< 30° GB METRIC FEMALE FLAT SEAT
/
5 WALE Ji& % HOSE BORE J <} DIMENSIONS
PART NO. THREADE AFRAAEDN | 45 SDASH C H S
20232-22-08 M22X1. 5 12 08 9.5 24 27
20232-27-10 M27X1. 5 16 10 10. 5 26.4 32
20232-30-12 M30X1. 5 20 12 12.5 30 36
20232-39-16 M39X2 25 16 13.5 31 46
20232-45-20 M45X2 32 20 15.5 36. 5 55
20232-52-24 M52X2 40 24 17.5 36. 5 60




20241

45° AR Al N BRSO T
45° GB METRIC FEMALE FLAT SEAT

= WBLTE & % HOSE BORE S~} DIMENSIONS
PART NO. THREADE APRAAEDN | 4% ‘SDASH C H
20241-14-04 M14X1. 5 6 04 18. 4 19
20241-16-05 M16X1. 5 8 05 9.5 20 22
20241-18-06 M18X1. 5 10 06 9.5 21.4 24
20241-22-08 M22X1. 5 12 08 9.5 24 27
20241-27-10 M27X1. 5 16 10 10.5 26. 4 32
20241-30-12 M30X1. 5 20 12 12.5 30 36
20241-39-16 M39x2 25 16 13.5 31 46
20241-45-20 M45X2 32 20 15.5 36.5 55
—{Hrmrm—

Z{Z ll
=

20291

AT BN 90° [ 724 ) W S0 T
E 90° GB METRIC FEMALE FLAT SEAT
fRE BELE Jik % HOSE BORE JR <} DIMENSIONS

PART NO. THREADE KNAEDN | FF ‘ZDASH o H S
20291-12-02 M12X1. 25 4 02 8 26 17
20291-14-04 M14X1. 5 6 04 9 32.5 19
20291-16-05 M16X1. 5 8 05 9.5 36 22
20291-18-06 M18X1. 5 10 06 9.5 38 24
20291-22-08 M22X1. 5 12 08 9.5 42.5 27
20291-27-10 M27X1. 5 16 10 10. 5 50 32
20291-30-12 M30X1. 5 20 12 12.5 58 36
20291-36-14 M36X2 22 14 13.5 61 41
20291-39-16 M36X2 25 16 13.5 68 46
20291-45-20 M45X2 32 20 15.5 78 55
20291-52-24 M52X2 40 24 17.5 88 60
20291-64-32 M64X2 50 32 23.5 118 75




N~y 20242

45° R AT AN IRECT i
45° GB METRIC FEMALE FLAT SEAT

5 B4R J& % HOSE BORE J <} DIMENSIONS

PART NO. THREADE AFRAADN | 5DASH C H S
20242-14-04 M14X1. 5 6 04 9 18.5 19
20242-16-05 M16X1. 5 8 05 9.5 20 22
20242-18-06 M18X1. 5 10 06 9.5 21.4 24
20242-22-08 M22X1. 5 12 08 9.5 24 27
20242-27-10 M27X1. 5 16 10 10.5 26. 4 32
20242-30-12 M30X1. 5 20 12 12.5 30 36
20242-39-16 M39X2 25 16 13.5 31 46
20242-45-20 M45X2 32 20 15.5 36.5 55

i 20292

s AT =1~ 90° [ bR A il YR SCT T
E 90° GB METRIC FEMALE FLAT SEAT
5 IELE & & HOSE BORE JU <} DIMENSIONS

PART NO. THREADE AFRPWAEDN | k% SDASH C H S
20292-22-08 M22X1. 5 12 08 9.5 48 27
20292-27-10 M27X1. 5 16 10 10.5 54 32
20292-30-12 M30X1. 5 20 12 12.5 63.5 36
20292-36-14 M36X2 22 14 13.5 64 41
20292-39-16 M39X2 25 16 13.5 70 46
20292-45-20 M45X2 32 20 15.5 78 55
20292-52-24 M52X2 40 24 17.5 88 60
20292-64-32 M64X2 50 32 23.5 118 75




20711

R 2% 1] P SR ST 40 Y HETHT
GB METRIC FEMALE 74¢ CONE SEAT

Z

C

||

5 IRLLE g & HOSE BORE JU < DIMENSTONS

PART NO. THREADE AFRPAEDN | bR SDASH C S
20711-12-02 M12X1. 5 4 02 8 17
20711-12-04 M12X1. 5 6 04 8 17
20711-14-04 M14X1. 5 6 04 9 19
20711-14-05 M14X1. 5 8 05 9 19
20711-14-06 M14X1. 5 10 06 9 19
20711-16-05 M16X1. 5 8 05 9.5 22
20711-16-06 M16X1. 5 10 06 9.5 22
20711-18-06 M18X1. 5 10 06 9.5 24
20711-20-06 M20X1. 5 10 06 10 27
20711-20-08 M20X1. 5 12 08 10 27
20711-22-08 M22X1. 5 12 08 9.5 27
20711-27-10 M27X1. 5 16 10 10.5 32
20711-30-12 M30X1. 5 20 12 12.5 36
20711-33-14 M33X2 22 14 13.5 41
20711-33-16 M33X2 25 16 13.5 41
20711-42-20 M42X2 32 20 15.5 50

20741

45° EBR A A BRET4° HETT 45°
GB METRIC FEMALE 74° CONE SEAT

R= W 4R Jii % HOSE BORE JX ~F DIMENSIONS

PART NO. THREADE AFRNAZDN | k5 =DASH C H S
20741-14-04 M14X1. 5 6 04 18. 4 19
20741-16-05 M16X1. 5 8 05 9.5 20 22
20741-18-06 M18X1.5 10 06 9.5 21.4 24
20741-22-08 M22X1. 5 12 08 9.5 24 27
20741-27-10 M27X1. 5 16 10 10. 5 26. 4 32
20741-30-12 M30X1. 5 20 12 12.5 30 36




shlinnnim 20712
i %/d‘@' e [5RS04 YT

GB METRIC FEMALE 74 CONE SEAT

C

5 BLLE ik % HOSE BORE J& s} DIMENSIONS

PART NO. THREADE AFRAAEDN | k5 SDASH C S
20712-22-08 M22X1. 5 12 08 9.5 27
20712-27-10 M27X1. 5 16 10 10. 5 32
20712-30-12 M30X1. 5 20 12 12.5 36
20712-33-14 M33X2 22 14 13.5 41
20712-33-16 M33X2 25 16 13.5 41
20712-39-16 M39X2 25 16 13.5 46
20712-42-20 M42X2 32 20 15.5 50
20712-52-24 M52X2 40 24 17.5 60
20712-64-32 M64X2 50 32 23.5 75

:,% 20742

45° EAR A A IRECT 40 P HE T
45° GB METRIC FEMALE 74° CONE SEAT

RE WAL Ji¢ % HOSE BORE & <) DIMENSTONS

PART NO. THREADE AFRANAFDN | 45 EDASH C S H
20742-22-08 M22X1. 5 12 08 9.5 27 23.6
20742-27-10 M27X1. 5 16 10 10.5 32 26. 4
20742-30-12 M30X1. 5 20 12 12.5 36 30
20742-33-14 M33X2 22 14 13.5 41 30.8
20742-33-16 M33X2 25 16 13.5 41 30.8
20742-39-16 M39X2 25 16 13.5 46 31.8
20742-42-20 M42X2 32 20 15.5 50 36. 2
20742-52-24 M52X2 40 24 17.5 60 40. 9
20742-64-32 M64X2 50 32 23.5 75 66




i 20791

A= 90 AR/ IURELT4o PO HET
E ] 90° GB METRIC FEMALE 74°CONE SEAT
S~ 7
RE WRLE ik % HOSE BORE JU <F DIMENSIONS

PART NO. THREADE AFRINAEDN | % SDASH C H S
20791-10-02 M10X1 4 02 6 30.5 14
20791-14-04 M14X1. 5 6 04 9 31 19
20791-16-05 M16X1. 5 8 05 9.5 36 22
20791-18-06 MI8X1. 5 10 06 9.5 38 24
20791-22-08 M22X1. 5 12 08 9.5 48 27
20791-27-10 M27X1. 5 16 10 10. 5 53 32
20791-30-12 M30X1. 5 20 12 12.5 58 36
20791-36-14 M36X2 22 14 13.5 61 41
20791-39-16 M36X2 25 16 13.5 68 46
20791-42-20 M42X2 32 20 15.5 76 50
20791-52-24 M52X2 40 24 17.5 88 60

i 20792

s A1 1 - 900 [l 22 #1] PR AL T4° LT
\7;-0) 90° GB METRIC FEMALE 74° CONE SEAT
R WRLE Ji& % HOSE BORE J ~F DIMENSIONS

PART NO. THREADE AFRNADN | Fr SDASH C H S
20792-22-08 M22X1. 5 12 08 9.5 48 27
20792-27-10 M27X1. 5 16 10 10.5 53 32
20792-30-12 M30X1. 5 20 12 12.5 58 36
20792-36-14 M36X2 22 14 13.5 61 41
20792-39-16 M39X2 25 16 13.5 68 46
20792-42-20 M42X2 32 20 15.5 76 50
20792-52-24 M52X2 40 24 17.5 88 60
20792-64-32 M64X2 50 32 23.5 118 75




30112
L
s At N IRGCKR T
% Z METRIC FEMALE MULTISEAL
Hen
KE LR JK¢ % HOSE BORE JX ~F DIMENSIONS
PART NO. THREADE AFRAAEDN | 4% S DASH C S
30112-27-10 M27x1.5 16 10 4.5 32
30112-30-10 M30x1. 5 16 10 4.5 36
30112-30-12 M30x1. 5 20 12 4.5 36
30112-36-12 M36x2 20 12 5 41
30112-36-14 M36x2 22 14 5 41
30112-36-16 M36x2 25 16 5 41
30112-39-16 M39x2 25 16 5 46
30112-42-14 M42x2 22 14 5 50
30112-42-16 M42x2 25 16 5 50
30112-45-16 M45x2 25 16 5 55
30112-45-20 M45x2 32 20 5 55
30112-52-24 M52x2 40 24 5 60
30112-64-32 M64x2 25 32 8 75
S
] 30111
L L
S Al N IRSOKR
s % METRIC FEMALE MULTISEAL
ey
foe LR JKe 4 HOSE BORE N~ DIMENSIONS
PART NO. THREADE AFRAEDN [ 5DASH C S
30111-14-04 M14X1.5 6 04 4 17
30111-16-05 M16X1. 5 8 05 4.5 19
30111-18-06 M18X1.5 10 06 4.5 22
30111-22-08 M22X1. 5 12 08 5 27




s 30141

450 > ffil] P BR SR T
452 METRIC FEMALE MUTISEAT
foe B4 [ii % HOSE BORE R < DIMENSIONS

PART NO. THREADE AFRMAEDN | hr SDASH c H S
30141-14-04 M14X1. 5 6 04 4 21.3 17
30141-16-05 M16X1. 5 8 05 4.5 22.5 19
30141-18-06 MI8X1. 5 10 06 4.5 24 22
30141-22-08 M22X1. 5 12 08 5 27.2 27
30141-27-10 M27X1. 5 16 10 4.5 29.6 32
30141-30-12 M30X1. 5 20 12 4.5 33.5 36
30141-36-14 M36X2 22 14 5 32.6 41
30141-39-16 M39X2 25 16 5 34 46
30141-45-20 M45X2 32 20 5 38. 4 55
30141-52-24 M52X2 40 24 5 43.4 60
30141-64-32 MB4X2 50 32 8 66 75

_——HImmmm—

30191

o LA . 90° A P RLUER T
] 90° METRIC FEMALE MULTISEAT
5 2L fii % HOSE BORE JU <} DIMENSIONS

PART NO. THREADE AFRAAEDN | hR SDASH C H S
30191-14-04 M14X1. 5 6 04 4 38 17
30191-16-05 M16XL. 5 8 05 4.5 41.5 19
30191-18-06 MI8XL. 5 10 06 4.5 45.3 22
30191-22-08 M22X1. 5 12 08 5 52.5 27
30191-27-10 M27X1. 5 16 10 4.5 55.5 32
30191-30-12 M30X1. 5 20 12 4.5 68.5 36
30191-36-14 M36X2 22 14 5 69 41
30191-39-16 M39X2 25 16 5 73.5 46
30191-45-20 M45X2 32 20 5 85 55
30191-52-24 M52X2 40 24 5 100 60
30191-64-32 MB4X2 50 32 8 123 75




30142

45° 2 il W IRECER T
450 METRIC FEMALE MUTISEAT

5 -V &2 % HOSE BORE JU <} DIMENSIONS

PART NO. THREADE AFRAAEDN | Fr S DASH C H S
30142-22-08 M22X1. 5 12 08 5 27.2 27
30142-27-10 M27X1. 5 16 10 4.5 29.6 32
30142-30-12 M30X1. 5 20 12 4.5 33.5 36
30142-36-14 M36X2 22 14 5 32.6 41
30142-39-16 M39X2 25 16 5 34 46
30142-45-20 M45X2 32 20 5 38.4 55
30142-52-24 M52X2 40 24 5 43.4 60
30142-64-32 M64X2 50 32 8 66 75

30192

2 00° Al P RELER T
: 90° METRIC FEMALE MULTISEAT

R HELLE ik % HOSE BORE JU s} DIMENSIONS
PART NO. THREADE AFRAAEDN | h5 5DASH C H S
30192-22-08 M22X1. 5 12 08 5 52.5 27
30192-27-10 M27X1. 5 16 10 4.5 55.5 32
30192-30-12 M30X1. 5 20 12 4.5 68.5 36
30192-36-14 M36X2 22 14 5 69 41
30192-39-16 M39X2 25 16 5 73.5 46
30192-45-20 M45X2 32 20 5 85 55
30192-52-24 M52X2 40 24 5 100 60
30192-64-32 M64X2 50 32 8 122.3 75




30211
¥ LTI )
WML 7
i% A N BREF
G METRIC FEMALE FLAT SEAL
5 BLLE ik % HOSE BORE J& sF DIMENSIONS
PART NO. THREADE AFRPNAEDN | kr EDASH S
30211-14-04 M14X1. 5 6 04 8 17
30211-16-05 M16X1. 5 8 05 8 19
30211-18-06 M18X1. 5 10 06 8.5 22
30211-22-08 M22X1. 5 12 08 10 27
30211-27-10 M27X1. 5 16 10 10.5 32
30211-30-12 M30X1. 5 20 12 11.5 36
30211-36-14 M36X2 22 14 13 41
30211-36-16 M36X2 25 16 13 41
30211-39-16 M39X2 25 16 13 46
30211-42-16 M42X2 25 16 15 50
30211-45-20 M45X2 32 20 15 55
30211-52-20 M52X2 32 20 17 60
30211-52-24 M52X2 40 24 17 60
30211-64-32 M64X2 50 32 23 75
S
M 30212
. [T T
77
n7 AN RECT TR
] METRIC FEMALE FLAT SEAL SPIRAL HOSE
RE WRLE ik % HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFRHNAEDN | k5 SDASH C S
30212-22-08 M22X1. 5 12 08 10 27
30212-30-12 M30X1. 5 20 12 11.5 36
30212-36-14 M36X2 22 14 13 41
30212-36-16 M36X2 25 16 13 41
30212-39-16 M39X2 25 16 13 16
30212-42-16 M42X2 25 16 15 50
30212-45-20 M45X2 32 20 15 55
30212-52-20 M52X2 32 20 17 60
30212-52-24 M52X2 38 24 17 60
30212-64-32 M64X2 50 32 23 75




30231

30 E AR Al IR ST I
30° GB METRIC FEMALE FLAT SEAT

-

(= IRLLE & % HOSE BORE JR <} DIMENSIONS

PART NO. THREADE AMHAEDN | Ar =DASH C H S
30231-18-06 M18X1. 5 10 06 8.5 13.5 22
30231-22-08 M22X1. 5 12 08 10 13.5 27
30231-27-10 M27X1. 5 16 10 10.5 26 32
30231-30-12 M30X1. 5 20 12 11.5 30 36
30231-36-14 M36X2 22 14 13 27 41
30231-36-16 M36X2 25 16 13 30 41
30231-39-16 M39X2 25 16 13 30 46
30231-45-20 M45X2 32 20 15 34 55
30231-52-24 M52X2 40 24 17 38 60
30231-64-32 M64X2 50 32 23 46 75

30232

300 A5 24 fll A SR ECT 1HT
30°GB METRIC FEMALE FLAT SEAT

oy

-

e HELCE Jiz %% HOSE BORE L~} DIMENSIONS

PART NO. THREADE [ JNFRPI4EDN| bR S DASH C H S
30232-22-08 M22X1. 5 12 08 10 13.5 27
30232-27-10 M27X1. 5 16 10 10.5 26 32
30232-30-12 M30X1. 5 20 12 1.5 30 36
30232-36-14 M36X2 22 14 13 27 41
30232-36-16 M36X2 25 16 13 30 41
30232-39-16 M39X2 25 16 13 30 46
30232-45-20 M45X2 32 20 15 34 55
30232-52-24 M52X2 38 24 17 38 60
30232-64-32 M64X2 50 32 23 46 75




450 [EIBR 2 il AR ECT T
45°GB METRIC FEMALE FLAT SEAT

30241

5 HRLLE ik HOSE BORE U < DIMENSTONS

PART NO. THREADE AFRHNAZDN | k5 =DASH C H S
30241-18-06 M18X1. 5 10 06 8.5 13.5 22
30241-22-08 M22X1. 5 12 08 10 13.5 27
30241-27-10 M27X1. 5 16 10 10.5 26 32
30241-30-12 M30X1. 5 20 12 1.5 30 36
30241-36-14 M36X2 22 14 13 27 41
30241-36-16 M36X2 25 16 13 30 41
30241-39-16 M39X2 25 16 13 30 46
30241-45-20 M45X2 32 20 15 34 55
30241-52-24 M52X2 40 24 17 38 60
30241-64-32 M64X2 50 32 23 46 75

—{Hmmmmmm
_ 30291
7,
« - 90 [R5 A il Py SR ELT- T
| E 90° GB METRIC FEMALE FLAT SEAT
B IBLE [% HOSE BORE U~} DIMENSIONS

PART NO. THREADE AR 5 EDASH C H S
30291-14-04 M14X1. 5 6 04 8 34 17
30291-16-05 M16X1. 5 8 05 8 38 19
30291-18-06 M18X1. 5 10 06 8.5 41.3 22
30291-22-08 M22X1. 5 12 08 10 48 27
30291-27-10 M27X1. 5 16 10 10.5 51 32
30291-30-12 M30X1. 5 20 12 11.5 63.5 36
30291-36-14 M36X2 22 14 13 61 41
30291-36-16 M36X2 25 16 13 65. 5 41
30291-39-16 M39X2 25 16 13 67.5 46
30291-45-20 M45X2 32 20 15 78.5 55
30291-52-24 M52X2 40 24 17 92 60
30291-64-32 M64X2 50 32 23 114 75




S2

30242

A5° RS2 il A BRECT T
45° GB METRIC FEMALE FLAT SEAT

(= IRLLE & % HOSE BORE JR <} DIMENSIONS

PART NO THREADE AFRAAEDN | b5 S DASH C H S
30242-18-06 MI8X1. 5 10 06 8.5 13.5 22
30242-22-08 M22X1. 5 12 08 10 13.5 27
30242-27-10 M27X1. 5 16 10 10.5 26 32
30242-30-12 M30X1. 5 20 12 11.5 30 36
30242-36-14 M36X2 22 14 13 27 41
30242-36-16 M36X2 25 16 13 30 41
30242-39-16 M39X2 25 16 13 30 46
30242-45-20 M45X2 32 20 15 34 55
30242-52-24 M52X2 40 24 17 38 60
30242-64-32 M64X2 50 32 23 46 75

el [ [ininipinininmn

Crrrrrerss
30292
7

| - 90 [ 5 22 il W RS-V H
. 90° GB METRIC FEMALE FLAT SEAT

e BELE ik % HOSE BORE R~ DIMENSIONS
PART NO. THREADE AFRMADN | A5 SDASH C H S
30292-22-08 M22X1. 5 12 08 10 48 27
30292-27-10 M27X1. 5 16 10 10.5 51 32
30292-30-12 M30X1. 5 20 12 11.5 63.5 36
30292-36-14 M36X2 22 14 13 61 41
30292-36-16 M36X2 25 16 13 65. 5 41
30292-39-16 M39X2 25 16 13 67.5 46
30292-45-20 M45X2 32 20 15 78.5 55
30292-52-24 M52X2 40 24 17 92 60
30292-64-32 M64X2 50 32 23 113 75




74°

30711

= |
7z )
P7 ol [ A B BECT Ao BT
c GB METRIC FEMALE 74c CONE SEAT
R YRLLE ik HOSE BORE U < DIMENSTONS
PART NO. THREADE KN b =DASH C S
30711-14-04 M14X1. 5 6 04 17
30711-16-05 M16X1. 5 8 05 8 19
30711-18-06 MI8X1. 5 10 06 8.5 22
30711-22-08 M22X1. 5 12 08 10 27
30711-27-10 M27X1. 5 16 10 10.5 32
30711-30-12 M30X1. 5 20 12 11.5 36
30711-36-14 M36X2 22 14 13 41
30711-39-16 M39X2 25 16 13 46
30711-45-20 M45X2 32 20 15 55
30711-52-24 M52X2 40 24 17 60
30711-64-32 M64X2 50 32 23 75
30712
FEL R 2 1) P9 RS T4 A HETHD
GB METRIC FEMALE 74c CONE SEAT
e LR [ HOSE BORE &~} DIMENSIONS

PART NO. THREADE R 7 b =DASH C S

30712-22-08 M22X1. 5 12 08 10 27

30712-27-10 M27X1. 5 16 10 10.5 32

30712-30-12 M30X1. 5 20 12 1.5 36

30712-36-14 M36X2 22 14 13 41

30712-39-16 M39X2 25 16 13 46

30712-45-20 M45X2 32 20 15 55

30712-52-24 M52X2 40 24 17 60

30712-64-32 M64X2 50 32 23 75




S 30741

45° [ AR 2 ) A RS T 40 P HETH
450 GB METRIC FEMALE 74 CONE SEAT

%= 1B ik % HOSE BORE R~} DIMENSIONS
PART NO. THREADE NFERNADN | k7 =DASH C g H

30741-14-04 M14X1. 5 6 04 8 17 18.5
30741-16-05 M16X1. 5 8 05 8 19 20
30741-18-06 M18X1. 5 10 06 8.5 22 21.5
30741-22-08 M22X1. 5 12 08 10 27 24
30741-27-10 M27X1. 5 16 10 10.5 32 26.5
30741-30-12 M30X1. 5 20 12 1.5 36 30
30741-36-14 M36X2 22 14 13 41 29.6
30741-39-16 M39X2 25 16 13 46 31.8
30741-45-20 M45X2 32 20 15 55 36. 2
30741-52-24 M52X2 40 24 17 60 40.9
30741-64-32 M64X2 50 32 23 75 45.6

: 30791

2
s/ 4 ) < 900 [E] 7 /A 1 P9 R4 T 4o P ST
£ 90°GB METRIC FEMALE 74°¢ CONE SEAT
74°
R IBAE ik % HOSE BORE R I DIMENSIONS
PART NO. THREADE AFRNAEDN| Fx ‘SDASH C S H

30791-14-04 M14X1. 5 6 04 8 17 30
30791-16-05 M16X1. 5 8 05 8 19 36
30791-18-06 M18X1. 5 10 06 8.5 22 40
30791-22-08 M22X1. 5 12 08 10 27 43
30791-27-10 M27X1. 5 16 10 10.5 32 50
30791-30-12 M30X1. 5 20 12 11.5 36 58
30791-36-14 M36X2 22 14 13 41 60
30791-39-16 M39X2 25 16 13 46 70
30791-45-20 M45X2 32 20 15 55 78.5
30791-52-24 M52X2 40 24 17 60 92
30791-64-32 M64X2 50 32 23 75 114




30742

450 [FE bR 1] N IRLL T4 Y HETE

45°GB METRIC FEMALE 74¢ CONE SEAT
5 RLLE Ji& % HOSE BORE J ~} DIMENSIONS

PART NO. THREADE AFRAAEDN | 4k SDASH C S H
30742-22-08 M22X1. 5 12 08 10 27 24
30742-27-10 M27X1. 5 16 10 10.5 32 26.5
30742-30-12 M30X1. 5 20 12 11.5 36 30
30742-36-14 M36X2 22 14 13 41 29.6
30742-39-16 M39X2 25 16 13 46 31.8
30742-45-20 M45X2 32 20 15 55 36. 2
30742-52-24 M52X2 40 24 17 60 40.9
30742-64-32 M64X2 50 32 23 75 45.6

) 30792

2
s 1/ ] © 90° AR A il B LL T4 PYAHETHT
£ 90> GB METRIC FEMALE 74¢ CONE SEAT
W
5 WRELE J&z & HOSE BORE S~} DIMENSIONS

PART NO. THREADE NERINADN | k7 SDASH C S H
30792-22-08 M22X1. 5 12 08 10 27 43
30792-27-10 M27X1. 5 16 10 10.5 32 50
30792-30-12 M30X1. 5 20 12 1.5 36 58
30792-36-14 M36X2 22 14 13 41 60
30792-39-16 M39X2 25 16 13 46 70
30792-45-20 M45X2 32 20 15 55 78.5
30792-52-24 M52X2 40 24 17 60 92
30792-64-32 M64X2 50 32 23 75 114




L

10512

A TSRS 240 N HETH H R 5

CONE SEAT H.T. FOR
SPIRAL HOSE DIN3853

METRIC MALE 24°

5 IELE & & HOSE BORE B TR J& <} DIMENSTIONS

PART NO. THREADE AFRAAEDN | A% SDASH | TUBE.0.D C S
10512-22-08 M22X1. 5 12 08 14 14 24
10512-24-08 M24X1. 5 12 08 16 14 27
10512-30-10 M30X1. 5 16 10 20 18 32
10512-30-12 M30X1. 5 20 12 20 18 32
10512-36-12 M36X2 20 12 25 20 41
10512-42-12 M42X2 20 12 30 20 46
10512-36-16 M36X2 25 16 25 20 41
10512-42-16 M42X2 25 16 30 20 46
10512-42-20 M42X2 32 20 30 20 46
10512-52-16 M52X2 25 16 38 22 55
10512-52-20 M52X2 32 20 38 22 55
10512-52-24 M52X2 40 24 38 22 55




24°

[ 10511

ATHISMRLL24° PYHETT H R 5]

= W METRIC MALE24° CONE SEAT H.T.DIN3853
(9 URELE f&& ‘& HOSE BORE v S~} DIMENSIONS

PART NO. THREADE AFRMADN | b5 SDASH | TUBE.0.D c S
10511-14-04 M14X1. 5 6 04 8 13 17
10511-16-04 M16X1. 5 6 04 8 13.5 17
10511-18-04 M18X1.5 6 04 10 13.5 19
10511-18-05 M18X1.5 8 05 12 13.5 22
10511-20-05 M20X1. 5 8 05 12 13.5 22
10511-18-06 M18X1.5 10 06 12 13.5 22
10511-20-06 M20X1. 5 10 06 12 13.5 22
10511-22-08 M22X1. 5 12 08 16 14 24
10511-24-08 M24X1. 5 12 08 16 14 27
10511-30-10 M30X2 16 10 20 19 32
10511-30-12 M30X2 20 12 20 19 32
10511-36-16 M36X2 25 16 25 20 38
10511-42-20 M42X2 32 20 30 20 46
10511-52-24 M52X2 40 24 38 22 55

° S
10512-5G
<

L

|
//%VWH ~ N MRES24° A HET
METRIC MALE24° CONE SEAT
H.T.FOR SPIRAL HOSE 1. 5MM

= B4R iz % HOSE BORE T R~} DIMENSIONS

PART NO. THREADE AFRINARDN | A5 SDASH | TUBE.O0.D C S
10512-30-10SG |  M30X1. 5 16 10 20 14 32
10512-30-12SG |  M30XL. 5 20 12 20 14 32
10512-33-125G | M33X1.5 20 12 20 14 34
10512-36-12SG | M36X1.5 20 12 25 18 38
10512-42-12SG | M42X1.5 20 12 30 20 46
10512-45-125G | M45X1.5 20 12 35 19 46
10512-36-16SG |  M36X1. 5 25 16 25 14 41
10512-42-16SG |  M42X1.5 25 16 30 20 46
10512-45-16SG | M45X1. 5 25 16 35 19 46




jﬁ
—

30011C

| il
/\% 1 A R Sc240 HE T R 51
] METRIC FEMALE 24° CONE MULTISEA
- H. T. DIN3853 (NON-CRIMP)
KE B4R fi % HOSE BORE AR U < DIMENSTONS
PART NO. THREADE AFRNAEDN | A5 SDASH | TUBE.0.D C S
30511C-18-06 M18X1. 5 10 06 10 0.5 22
30511C-30-12 M30X2 20 12 20 3.5 36
30511C-36-12 M36X2 20 12 25 3 41
30511C-36-14 M36X2 22 14 25 3 41

S
<t |

LPmeaa TP B 24° HETT O 1 3 51

| C | METRIC FEMALE 24° CONE H.T. WITH

0-RING DIN3865 (CRIMP)
li%=2 WRLLE Ji¢ % HOSE BORE eI JU < DIMENSIONS
PART NO. THREADE AFRNAEDN | 45 SDASH | TUBE.0.D C S

20511-14-06 M14X1. 5 10 06 6 3.5 19
20511-16-06 M16X1. 5 10 06 8 3.5 22
20511-20-08 M20X1. 5 12 08 12 3 27
20511-22-10 M22X1. 5 16 10 14 2.5 27
20511-24-10 M24X1. 5 16 10 16 3.5 30
20511-42-20 M42X2 32 20 30 5.5 50




20041

45> Al NIRS24° HETO Bl R 51

45° METRIC FEMALE 24° CONE H. T.
WITH O-RING DIN3865

fRe [0 Jiz % HOSE BORE T R~ DIMENSIONS

PART NO. THREADE AFRNAEDN | b5 SDASH | TUBE.0.D C S H

20541-14-06 M14X1. 5 10 06 6 3.5 19 29.2
20541-16-06 M16X1. 5 10 06 8 3.5 22 29.2
20541-20-08 M20X1. 5 12 08 12 3 27 32.8
20541-22-10 M22X1. 5 16 10 14 2.5 27 33
20541-24-10 M24X1. 5 16 10 16 3.5 30 35.9
20541-42-20 MA2X2 32 20 30 5.5 50 38

//WmmmmM:

20091

l /e 90° A N IELI24° HETHHOTF Pl 5 2 71
S )@ﬁ/ 90 0-RING METRIC FEMALE 24° CONE H. T.DIN3865
C ™~
R WRLE J&& & HOSE BORE BT MR JX <} DIMENSIONS

PART NO. THREADE AFRNFEDN| b% SDASH | TUBE.0.D C S H
20591-14-06 M14X1. 5 10 06 6 3.5 19 52
20591-16-06 M16X1. 5 10 06 8 3.5 22 52
20591-20-08 M20X1. 5 12 08 12 3 27 61
20591-22-10 M22X1. 5 16 10 14 2.5 27 65
20591-24-10 M24X1. 5 16 10 16 3.5 30 67.5
20591-42-20 M42X2 32 20 30 5.5 50 85




E

AlipinininIn . 30011

S
B T Oy il RS 24 HE T E R B
— 777
7 7 METRIC FEMALE MULTISEA H.T.WITH
0-RING DIN3853 (NON-CRIMP)

C

||

K5 IRLE ¢ % HOSE BORE TR R~ DIMENSIONS
PART NO. THREADE AFRAAEDN | b5 SDASH | TUBE.0.D c S
30511-14-04 M14X1. 5 6 04 6 2 17
30511-16-04 M16X1. 5 6 04 8 2 19
30511-18-04 M18X1. 5 6 04 10 2 22
30511-18-05 M18X1. 5 8 05 10 2 22
30511-20-05 M20X1. 5 8 05 12 3 24
30511-20-06 M20X1. 5 10 06 12 3 24
30511-22-06 M22X1. 5 10 06 14 3 27
30511-24-08 M24X1. 5 12 08 16 3 30
30511-30-10 M30X2 16 10 20 3.5 36
30511-30-12 M30X2 20 12 20 3.5 36
30511-36-12 M36X2 20 12 25 3 41
30511-36-14 M36X2 22 14 25 3 41
30511-36-16 M36X2 25 16 25 3 41
30511-42-16 M42X2 25 16 30 5 50
30511-52-20 M52X2 32 20 38 6.5 60
30511-52-24 M52X2 40 24 38 6.5 60
S
- 30512
~ | T
5 S — A R4 HETHT HE 2R BUSE LT
/ 7-‘% METRIC FEMALE MULTISEA H.T.WITH
) 0-RING FOR SPIRAL
R WRLE J&& & HOSE BORE I R~} DIMENSTONS
PART NO. THREADE AFRNEEDN | b EDASH | TUBE. 0.D c S
30512-24-08 M24X1. 5 12 08 16 3 30
30512-30-10 M30X2 16 10 20 3.5 36
30512-30-12 M30X2 20 12 20 3.5 36
30512-36-16 M36X2 25 16 25 3 41
30512-42-16 MA2X2 25 16 30 5 50
30512-52-20 M52X2 32 20 38 6.5 60
30512-52-24 M52X2 40 24 38 6.5 60




7

e 1 10,1111 30541

450 NI IES24° HEHTOTF B £ 7]
45 0-RING METRIC FEMALE 24° CONE H. T.DIN3865

e 2L J&¢ % HOSE BORE T R~} DIMENSIONS
PART NO. THREADE AFRWAEDN | 4% SDASH | TUBE. 0.D c H S
30541-18-04 M18X1. 5 6 04 10 2 22.3 22
30541-20-05 M20X1. 5 8 05 12 3 25.3 24
30541-22-06 M22X1. 5 10 06 14 3 25.3 27
30541-24-08 M24X1. 5 12 08 16 3 27.5 30
30541-30-10 M30X2 16 10 20 3.5 31 36
30541-36-12 M36X2 20 12 25 3 34 41
30541-42-16 M42X2 25 16 30 5 42.8 50
30541-52-20 M52X2 32 20 38 6.5 43 60
30541-52-24 M52X2 40 24 38 6.5 45 60
i
_ / 30591
)
\ 90° Al NIRS24° HET 0T el H R 1)
S | u—%o / 2 = 90° METRIC FEMALE 24° CONE H.T.
JRECNY WITH 0-RINGDIN3865
E
= B4R % % HOSE BORE I R~} DIMENSIONS
PART NO. THREADE AFRAAEDN | A% SDASH | TUBE. 0.D C H S
30591-18-04 M18X1. 5 6 04 10 2 36 22
30591-20-05 M20X1. 5 8 05 12 3 44 24
30591-22-06 M22X1. 5 10 06 14 3 46. 3 27
30591-24-08 M24X1. 5 12 08 16 3 51 30
30591-30-10 M30X2 16 10 20 3.5 57.5 36
30591-36-12 M36X2 20 12 25 3 68 41
30591-42-16 M42X2 25 16 30 5 77.5 50
30591-52-20 M52X2 32 20 38 6.5 89 60
30591-52-24 M52X2 40 24 38 6.5 102.5 60




S ~—Hmmmmrr 305492

45 NIl IRS24° HERTOTY B HE R )

45° METRIC FEMALE 24 ° CONE H.T.
WITH O-RINGDIN3865 FOR SPIRAL

5 IRALE g & HOSE BORE B TR J& <} DIMENSTIONS

PART NO. THREADE AFRHNAEDN | kR SDASH | TUBE.0.D C H S
30542-24-08 M24X1. 5 12 08 16 3 27.5 30
30542-30-10 M30X2 16 10 20 3.5 31 36
30542-36-12 M36X2 20 12 25 3 34 41
30542-42-16 M42X2 25 16 30 5 39 50
30542-52-20 M52X2 32 20 38 6.5 43 60
30542-52-24 M52X2 40 24 38 6.5 45 60

- 30592

—

S | L / 4 90 il NHRSL24° HETH Y OFF PEl # R 41
e [ 90° METRIC FEMALE 24° CONE H.T.

WITH O-RING DIN3865 FOR SPIRAL

™

R BEZE Ji % HOSE BORE A J& <t DIMENSIONS

PART NO. THREADE AFKPWAEDN | k% SDASH | TUBE.0.D C H S
30592-24-08 M24X1. 5 12 08 16 3 51 30
30592-30-10 M30X2 16 10 20 3.5 57.5 36
30592-36-12 M36X2 20 12 25 3 68 41
30592-42-16 M42X2 25 16 30 5 77.5 50
30592-52-20 M52X2 32 20 38 6.5 89 60
30592-52-24 M52X2 40 24 38 6.5 102. 5 60




[ L
%V LR LTI
==

METRIC MALE24°

10411

NHISMRLL24° A HETH AR R 51
CONE SEAT L. T.DIN3853

e 4R & HOSE BORE A R~} DIMENSIONS
PART NO. THREADE NFRAAEDN | AR SDASH | TUBE. 0.D C S
10411-12-04 | MI2X1.25 6 04 6 11 14
10411-14-04 M14X1. 5 6 04 8 13 17
10411-16-05 M16X1. 5 8 05 10 13.5 17
10411-18-06 M18X1. 5 10 06 12 13.5 19
10411-22-08 M22X1. 5 12 08 15 13.5 24
10411-26-10 M26X1. 5 16 10 18 14 27
10411-27-10 M27X1. 5 16 10 18 14 27
10411-30-12 M30X2 20 12 22 18 32
10411-36-16 M36X2 25 16 28 20 41
10411-45-20 M45X2 32 20 35 20 46
10411-52-24 M52X2 40 24 42 19 55
c S
10412
e |
/le;/ %‘@' = - ATHISMRA24° NHETT 32 R 5
METRIC MALE24° CONE SEAT
L. T. FOR SPIRAL HOSE DIN3853
=z IRLLE & & HOSE BORE B TR J& <} DIMENSTIONS
PART NO. THREADE AFRAAEDN | 5 SDASH | TUBE.0.D C S
10412-22-08 M22X1. 5 12 08 15 13.5 24
10412-26-08 M26X1. 5 12 08 18 14 27
10412-27-08 M27X1. 5 12 08 18 14 27
10412-26-10 M26X1. 5 16 10 18 14 27
10412-27-10 M27X2 16 10 18 14 27
10412-30-12 M30X2 20 12 22 18 32
10412-36-12 M36X2 20 12 28 20 41
10412-36-16 M36X2 25 16 28 20 41
10412-45-20 M45X2 32 20 35 20 46
10412-52-24 M52X2 40 24 42 19 55




20441

45° 3 il N RS 24 HETH T O 18 42 52 471

45° METRIC FEMALE 24° CONE.L.T. WITH
0-RINGDIN3853 (CRIMP TYPE)
(=7 HRLE J&& & HOSE BORE BT MR JR ~} DIMENSIONS

PART NO. THREADE AFRNAEDN | 5 SDASH | TUBE.0.D C S H
20441-12-04 |  MI2XL. 25 6 04 6 2 17 24.5
20441-14-05 M14X1. 5 8 05 8 3.5 19 28.2
20441-12-06 M12X1. 5 10 06 6 2 17 28.2
20441-14-06 M14XL1. 5 10 06 8 3.5 19 29.2
20441-16-06 M16XL. 5 10 06 10 3.5 22 29. 2
20441-18-08 MI8XL. 5 12 08 12 3.5 24 33
20441-22-10 M22X1. 5 16 10 15 2.5 27 35
20441-26-12 M26X1. 5 20 12 18 2.5 32 37.6
20441-27-12 M27X1. 5 20 12 18 2.5 32 38

20491
=
90° ATl ERE24« HETTHOTK M 2 331
| 90° METRIC FEMALE 24 ° CONE.L.T.WITH
E 0-RING DIN3853 (CRIMP TYPE)
R HELLE fiz % HOSE BORE A R ~F DIMENSIONS

PART NO. THREADE AFRAAEDN | b5 SDASH | TUBE. 0.D C S i
20491-12-04 |  M12X1.25 6 04 6 2 17 44.5
20491-14-05 M14XL. 5 8 05 8 3.5 19 9.5
20491-12-06 MI2XL. 5 10 06 6 2 17 48
20491-14-06 M14XL. 5 10 06 8 3.5 19 52
20491-16-06 MI6XL. 5 10 06 10 3.5 22 52
20491-18-08 MI8XL. 5 12 08 12 3.5 24 60
20491-22-10 M22X1. 5 16 10 15 2.5 27 67.5
20491-26-12 M26X1. 5 20 12 18 2.5 32 7
20491-27-12 M27X1. 5 20 12 18 2.5 32 78




20411
Ll S
‘\% e NI BRE24 HE T HT OFE Bl B AR 1
- METRIC FEMALE 24° CONE H.T. WITH
T O-RING DIN3865 (CRIMP TYPE)
e H220E fi % HOSE BORE BT R~} DIMENSIONS
PART 0. THREADE AFRAAEDN | b5 SDASH | TUBE. 0.D S
20411-12-04 | M12X1.25 6 04 6 2 17
20411-14-05 M14X1. 5 8 05 8 3.5 19
20411-12-06 |  M12X1.25 10 06 6 2 17
20411-14-06 M14X1. 5 10 06 8 3.5 19
20411-16-06 M16X1. 5 10 06 10 3.5 22
20411-18-08 M18X1. 5 12 08 12 3.5 24
20411-22-10 M22X1. 5 16 10 15 2.5 27
20411-26-12 M26X1. 5 20 12 18 2.5 32
20411-27-12 M27X1. 5 20 12 18 2.5 32

24°

Alininininin .

30411

O R A R DI BRS040 HETTHOTY [l 42 R 51
b Z METRIC FEMALE 24° CONE L.T.WITH
S 0-RING DIN3865 (CRIMP TYPE)
R IRSE J§& % HOSE BORE T U <F DIMENSIONS

PART NO. THREADE AFRPIFEDN | R SDASH | TUBE. 0.D C S

30411-14-04 |  M14XL.5 6 04 8 17

30411-16-05 |  M16X1.5 8 05 10 2 19

30411-18-06 |  MI8XL.5 10 06 12 2.5 22

30411-22-08 |  M22X1.5 12 08 15 3 27

30411-26-10 |  M26X1.5 16 10 18 3.5 32

30411-27-10 |  M27X1.5 16 10 18 2.5 32

30411-30-12 M30X2 20 12 22 3.5 36

30411-36-16 M36X2 25 16 28 4.5 41

30411-45-20 452 32 20 35 5 55

30411-52-24 M52X2 40 24 42 6 60




= 30441

450 NI IES24° HETTOTE B2 227
45° METRIC FEMALE 24° CONE L.T. WITH
0-RING DIN3865 (CRIMP TYPE)

Re BELLE Ji2 % HOSE BORE A S~} DIMENSTONS

PART NO. THREADE NFRAAEDN | bR SDASH | TUBE. 0.D c H S
30441-14-04 M14X1. 5 6 04 8 2 16 17
30441-16-05 M16X1. 5 8 05 10 2 19 19
30441-18-06 MI8X1. 5 10 06 12 2.5 24 22
30441-22-08 M22X1. 5 12 08 15 3 24 27
30441-26-10 M26X1. 5 16 10 18 3.5 24 32
30441-27-10 M27X1. 5 16 10 18 2.5 27 32
30441-30-12 M30X2 20 12 22 3.5 42 36
30441-36-14 M36X2 22 14 28 4.5 34 41
30441-36-16 M36X2 25 16 28 4.5 37 41
30441-45-20 M45X2 32 20 35 5 42 55
30441-52-24 M52X2 40 24 42 6 45.8 60

Ve 30491

=
D)

S \ 90 Al NIRSL24° HETHIH OTE Hl i 2 41

| AB?L/\ - 90° METRIC FEMALE 24° CONE L.T. WITH

E O0-RING DIN3865 (NON-CRIMP TYPE)
K5 IR f¢ % HOSE BORE TR R~ DIMENSIONS
PART NO. THREADE AFRAAEDN | A% ‘SDASH | TUBE.0.D C H S

30491-14-04 M14X1. 5 6 04 8 2 36 17
30491-16-05 M16X1. 5 8 05 10 2 37 19
30491-18-06 MI8X1. 5 10 06 12 2.5 42 22
30491-22-08 M22X1. 5 12 08 15 3 45 27
30491-26-10 M26X1. 5 16 10 18 3.5 55 32
30491-27-10 M27X1. 5 16 10 18 2.5 55 32
30491-30-12 M30X1. 5 20 12 22 3.5 64 36
30491-36-14 M36X2 22 14 28 4.5 67 41
30491-36-16 M36X2 25 16 28 4.5 76 41
30491-45-20 M45X2 32 20 35 5 88.5 55
30491-52-24 M52X2 40 24 42 6 102. 5 60




N Ty 30442

450 NI IES24° HEHTOTE B2 229

45° METRIC FEMALE 24° CONE L.T. WITH O-RING
PIN3865 FOR SPIRAL (NON-CRIMP TYPE)

e LR fiz % HOSE BORE A R~} DIMENSIONS

PART NO. THREADE AFRRAEDN | b SDASH | TUBE.0.D c H S
30442-22-08 M22XL. 5 12 08 15 3 33.2 27
30442-27-10 M27X1. 5 16 10 18 2.5 35.9 32
30442-30-12 M30X2 20 12 22 3.5 42 36
30442-36-14 M36X2 22 14 28 4.5 34 41
30442-36-16 M36X2 25 16 28 4.5 42.8 41
30442-45-20 M45X2 32 20 35 5 43 55
30442-52-24 M52X2 40 24 42 6 45.8 60

30492

90 A NIRES24° HEM AT O R R 5

S 90° METRIC FEMALE 24° CONE L.T. WITH
0-RING PIN3865 FOR SPIRAL (NON-CRIMP TYPE)
E
R WRLTE Ji¢ % HOSE BORE BT JX < DIMENSIONS

PART NO. THREADE ABRAAEDN | 45 SDASH | TUBE.0.D C H S
30492-22-08 M22X1. 5 12 08 15 3 45 27
30492-27-10 M27X1. 5 16 10 18 2.5 55 32
30492-30-12 M30X2 20 12 22 3.5 64 36
30492-36-14 M36X2 22 14 28 4.5 67 41
30492-36-16 M36X2 25 16 28 4.5 76 41
30492-45-20 M45X2 32 20 35 5 88.5 55
30492-52-24 M52X2 40 24 42 6 102.5 60




S 10611

) | IAIAMBEO0r PYHEETER S A AL 5 Sy

'
W / % METRIC MALE 60° CONE SEAT WITH BONDED SEAL

60°

RE HELE Ji % HOSE BORE R ~f DIMENSIONS

PART NO. THREADE AFKHEDN | kr EDASH C S
10611-14-04 M14X1. 5 6 04 14 17
10611-16-05 M16X1. 5 8 05 14 17
10611-18-06 M18X1. 5 10 06 15 19
10611-22-08 M22X1. 5 12 08 14 24
10611-24-10 M24X1. 5 16 10 17 27
10611-27-10 M27X1. 5 16 10 18 30
10611-30-12 M30X1. 5 20 12 18 32
10611-33-16 M33X2 25 16 20 36
10611-42-20 M42X2 32 20 20 46
10611-45-20 M45X2 32 20 20 50
10611-52-24 M52X2 40 24 20 55

S

C 10612
. { T T I IAMEEL60° PHETT 3R  F

i T 2H 45 B B SR

/l % a
METRIC MALE 60° CONE SEAT WITH

BONDED SEAL FOR SPIRAL HOSE

RE HELE Jiz % HOSE BORE R ~F DIMENSIONS

PART NO. THREADE AFKHNEDN  bx EDASH C S
10612-22-08 M22X1. 5 12 08 14 24
10612-24-10 M24X1. 5 16 10 17 27
10612-27-10 M27X1. 5 16 10 18 30
10612-30-12 M30X1. 5 20 12 18 32
10612-33-16 M33X2 25 16 20 36
10612-42-20 M42X2 32 20 20 46
10612-45-20 M45X2 32 20 20 50
10612-52-24 M52X2 40 24 20 55




2

WJJ
ZZ

20011

2 N REL60 S HE T

K77
c METRIC FEMALE 60 ° CONE (CRIMP)
R BRLLE JiZ & HOSE BORE R ~F DIMENSIONS
PART NO. THREADE AFRNAEDN | FF EDASH C S
20611-14-05 M14X1. 5 8 05 6.5 19
20611-16-06 M16X1. 5 10 06 7 22
20611-18-08 M18X1. 5 12 08 7.5 24
20611-22-10 M22X1. 5 16 10 7.5 27
20611-24-10 M24X1. 5 16 10 9 30
20611-27-12 M27X1. 5 20 12 8 32
S
- 20012
IR hlnnnnims
;%%%%ﬁdd&d@ = INTHIPIRE60° AT g5
Z METRIC FEMALE 60° CONE (CRIMP)
G FOR SPTRAL HOSE
e B4R & % HOSE BORE R ~t DIMENSTONS
PART NO. THREADE AFRHNAEDN | kx EDASH C S
20612-18-08 M18X1. 5 12 08 7.5 24
20612-22-10 M22X1. 5 16 10 7.5 27
20612-24-10 M24X1. 5 16 10 9 30
20612-27-12 M27X1. 5 20 12 8 32




20041

45° FEAR A N IRSCT
45° GB METRIC FEMALE 60°
FLAT SEAT (CRIMP TYPE)

R [iEFavg) Jii % HOSE BORE ] ~f DIMENSIONS

PART NO. THREADE AFRPEDN | k5 SDASH o H S
20641-14-05 M14X1. 5 8 05 6.5 20.6 19
20641-16-06 M16X1. 5 10 06 7 21.8 22
20641-18-08 M18X1. 5 12 08 7.5 23.2 24
20641-22-10 M22X1. 5 16 10 7.5 26. 8 27
20641-24-10 M24X1. 5 16 10 9 29 30
20641-27-12 M27X1. 5 20 12 8 33.5 32

20091
=
90° 2 fil] A BRAL60° FMHE T
S A <} 90° GB METRIC FEMALE 60°
5 FLAT SEAT (CRIMP TYPE)
5 HBLLE fii % HOSE BORE U~} DIMENSIONS

PART NO. THREADE AFRAEDN | kR 2DASH C H S
20691-14-05 M14X1. 5 8 05 6.5 37 19
20691-16-06 M16X1. 5 10 06 7 40.5 22
20691-18-08 M18X1. 5 12 08 7.5 44 24
20691-22-10 M22X1. 5 16 10 7.5 52 27
20691-24-10 M24X1. 5 16 10 9 58 30
20691-27-12 M27X1. 5 20 12 8 68. 5 32




30011
. INIRINIp]RINE.
y e o
9 Al N ERS60° SMEE T
C METRIC FEMALE 60 °
CONE (NON-CRIMP TYPE)
Re LR & % HOSE BORE I ~F DIMENSTONS
PART NO. THREADE R4 b5 S DASH C S
30611-14-04 M14X1. 5 6 04 5.5 17
30611-16-05 M16X1. 5 8 05 5.5 19
30611-18-06 MI8X1. 5 10 06 6.5 22
30611-22-08 M22X1. 5 12 08 7.5 27
30611-27-10 M27X1. 5 16 10 9 30
30611-30-12 M30X1. 5 20 12 8.5 32
30611-39-16 M39X1. 5 25 16 10 46
30611-45-20 M45X1. 5 32 20 11 55
30611-52-24 M52X1. 5 40 24 12 60
30611-64-32 M64X1. 5 50 32 15 75
S
i T 30612
% %% N P IRE60 ° AR E I 4 S8
C METRIC FEMALE 60° CONE FOR
SPIRAL HOSE (NON-CRIMP TYPE)
e B4R i3 HOSE BORE R ~F DIMENSIONS
PART NO. THREADE KA b 2DASH C S
30612-22-08 M22X1. 5 12 08 7.5 27
30612-27-10 M27X1. 5 16 10 9 30
30612-30-12 M30X1. 5 20 12 8.5 32
30612-39-16 M39X1. 5 25 16 10 46
30612-45-20 M45X1. 5 32 20 11 55
30612-52-24 M52X1. 5 40 24 12 60
30612-64-32 M64X1. 5 50 32 15 75




S 30641

45° AT P BRSL60° A1 [

45° METRIC FEMALE 60° CONE
(NON-CRIMP TYPE)

R BLLE fik  # HOSE BORE IN < DIMENSTONS

PART NO. THREADE AFRPAEDN | 45 SDASH c S i
30641-14-04 M14X1. 5 6 04 5.5 17 20. 2
30641-16-05 M16X1. 5 8 05 5.5 19 21
30641-18-06 MI8X1. 5 10 06 6.5 22 22.6
30641-22-08 M22X1. 5 12 08 7.5 27 26. 1
30641-27-10 M27X1. 5 16 10 9 30 27.8
30641-30-12 M30X1. 5 20 12 8.5 32 32
30641-39-16 M39X1. 5 25 16 10 46 34.2
30641-45-20 M45X1. 5 32 20 11 55 40
30641-52-24 M52X1. 5 40 24 12 60 45
30641-64-32 M64X1. 5 50 32 15 75 54

300642

45° AHINIRE60° M g5 E
45° METRIC FEMALE 60° CONE FOR
SPIRAL HOSE (NON-CRIMP TYPE)

RE [Fagd) Jit % HOSE BORE N ~f DIMENSIONS
PART NO. THREADE AFKHEDN | kr EDASH C S H
30642-22-08 M22X1. 5 12 08 7.5 27 26.1
30642-27-10 M27X1. 5 16 10 9 30 27.8
30642-30-12 M30X1. 5 20 12 8.5 32 32
30642-39-16 M39X1. 5 25 16 10 46 34.2
30642-45-20 M45X1. 5 32 20 11 55 40
30642-52-24 M52X1. 5 40 24 12 60 45
30642-64-32 M64X1. 5 50 32 15 75 54




30691

7 90° Al NERSL60° AMETH
s2. 7] 1< 90° METRIC FEMALE 60°
& ] CONE (NON CRIMP TYPE)
K5 IELE Jgi % HOSE BORE N ~f DIMENSIONS
PART NO. THREADE AFRHAZEDN | k1 SDASH C S H
30691-14-04 M14X1. 5 6 04 5.5 17 33
30691-16-05 M16X1. 5 8 05 5.5 19 37
30691-18-06 M18X1. 5 10 06 6.5 22 43
30691-22-08 N22X1. 5 12 08 7.5 27 49
30691-27-10 M27X1. 5 16 10 9 30 53
30691-30-12 M30X1. 5 20 12 8.5 32 64
30691-39-16 M39X1. 5 25 16 10 46 73
30691-45-20 M45X1. 5 32 20 11 55 87
30691-52-24 M52X1. 5 40 24 12 60 97.5
30691-64-32 M64X1. 5 50 32 15 75 123
//Wmmmm@g 30692
=
Z 90° Al NEREI60° HMETH HSeE
s2.~ ] o 90° METRIC FEMALE 60° CONE FOR
| E SPIRAL HOSE (NON-CRIMP TYPE)
R WELE Jgi % HOSE BORE IN ~f DIMENSIONS
PART NO. THREADE AFRHAZEDN | k1 SDASH C S H
30692-22-08 M22X1. 5 12 08 7.5 27 49
30692-27-10 M27X1. 5 16 10 9 30 53
30692-30-12 M30X1. 5 20 12 8.5 32 64
30692-39-16 M39X1. 5 25 16 10 46 73
30692-45-20 M45X1. 5 32 20 11 55 87
30692-52-24 M52X1. 5 40 24 12 60 97.5
30692-64-32 M64X1. 5 50 32 15 75 123




S1

130115W

SEHEE TR SNRLL
BSPT SWIVEL MALE

e WL ik & HOSE BORE R ~f DIMENSIONS
PART NO. THREADE AFRAAEDN | F5 SDASH S1
13011SW-04-04 ZG61/47-19 6 04 17
13011SW-06-06 7G3/8”-19 10 06 19
13011SW-08-08 72G1/2”7-14 12 08 22
13011SW-12-12 72G3/4”-14 20 12 32
13011SW-16-16 7G17-11 25 16 41
S1
8 15611SW
IRIRIRIRINININ
| TR e R MBS
NPT SWIVEL MALE
E
R B4R Jii % HOSE BORE JU s DIMENSIONS
PART NO. THREADE AFRAAEDN | 4% “SDASH S1
15611SW-04-04 71/4”-18 6 04 17
15611SW-06-06 73/8”-18 10 06 19
15611SW-08-08 71/27-14 12 08 22
15611SW-12-12 73/4”-14 20 12 32
15611SW-16-16 717-11.5 25 16 41




S1

13011N

) S IR
BSPT FEMALE
E
e WELLE & HOSE BORE R < DIMENSIONS
PART NO. THREADE AFRNAEDN | kr SDASH S
13011N-04-04 7G1/4”7-19 6 04 19
13011N-06-06 7G3/8”7-19 10 06 22
13011N-08-08 7G1/27-14 12 08 27
13011IN-12-12 7G3/4”-14 20 12 32
S1

15611N

. W///f ‘ i PR
NPT FEMALE
E
e BEEE & HOSE BORE J& ~F DIMENSIONS

PART NO. THREADE NFRWAEDN | kr S DASH S
15611N-04-04 71/4”-18 6 04 19
15611N-06-06 73/87-18 10 06 22
15611N-08-08 71/27-14 12 08 27
15611N-12-12 73/4"-14 20 12 32




@}
D

e

E

15611

AT HEE SRS
NPT MALE

60.

= BELE f & HOSE BORE R~} DIMENSIONS

PART NO. THREADE AFKNEDN | br =DASH C S
15611-04-04 Z%7X18 6 04 14 17
15611-06-06 7°6"X18 10 06 14 19
15611-08-08 7% X14 12 08 19 22
15611-12-10 7347 X14 16 10 19.5 30
15611-12-12 754" X14 20 12 19.5 30
15611-16-16 Z17X11. 5 25 16 24 36
15611-20-20 | Z147X11.5 32 20 25 16
15611-24-24 | 71%"X11.5 40 24 25 50
15611-32-32 72"X11.5 50 32 28 65

S
C
— 15612
T T
‘ I
%W TR SR S
E NPT MALE SPIRAL HOSE
li%=2 HELCE Ji¢ % HOSE BORE JX < DIMENSIONS

PART NO. THREADE AFRPAEDN | Fr 5DASH C S
15612-08-08 7%7X14 12 08 19 22
15612-12-10 734" X14 16 10 19.5 30
15612-12-12 734" X14 20 12 19.5 30
15612-16-16 Z17X11. 5 25 16 24 36
15612-20-20 | 71%4”X11.5 32 20 25 46
15612-24-24 | Z14'X11.5 40 24 25 50
15612-32-32 727X11. 5 50 32 28 65




15613

S
NoJ
%L AT HEE SMRSL N B
E NPT MALE LNTERLOCK
fo B4R B¢ % HOSE BORE JU ~F DIMENSIONS
PART NO. THREADE [ ZAFRPI7EDN | b5 S DASH c s
15613-08-08 7147X14 12 08 19 22
15613-12-10 734"X14 16 10 19.5 30
15613-12-12 7347 X14 20 12 19.5 30
15613-16-16 717X11.5 25 16 24 36
15613-20-20 | 7147X11.5 32 20 25 46
15613-24-24 | 71}4"X11.5 40 24 25 50
15613-32-32 72”X11.5 50 32 28 65
15613L
AT HEE SRS A BN R
NPT MALE LNTERLOCK STRENGTHEN
R B4R B¢ % HOSE BORE JU ~F DIMENSIONS
PART NO. THREADE AFRPFEDN | b5 EDASH C S
15613L-20-20 | Z14"X11.5 32 20 25 46
15613L-24-24 | 71%°X11.5 40 24 25 50
15613L-32-32 | 72°X11.5 50 32 28 65




60.

C
13011

P J YRR AR
ff%%égzé2222%%2@‘?24444444‘4“" BSPT MALE

E

5 BLCE fiz % HOSE BORE IN ~F DIMENSTONS

PART NO. THREADE AFRHAZEDN | 1 SDASH C S
13011-02-04 R1/8”X28 6 04 10 12
13011-04-04 R1/47X19 6 04 14 17
13011-06-04 R3/8”X19 6 04 14 19
13011-06-05 R3/8”X19 8 05 14 19
13011-06-06 R3/8”X19 10 06 14 19
13011-08-06 R1/2”X14 10 06 19 22
13011-08-08 R1/2”X14 12 08 19 22
13011-12-12 R3/4”X14 20 12 19.5 30
13011-16-16 R17X11 25 16 24 36
13011-20-20 R14”X11 32 20 25 46
13011-24-20 R1%"X11 32 20 25 50
13011-24-24 R1%"X11 40 24 25 50
13011-32-32 R2”X11 50 32 28 65

60.

13012

HEE MRS S
BSPT MALE FOR SPIRAL HOSE

= [-Fa7gD Ji % HOSE BORE N ~f DIMENSIONS

PART NO. THREADE AFRNAZDN | Fr EDASH C S
13012-08-08 R1/27X14 12 08 19 22
13012-12-12 R3/47X14 20 12 19.5 30
13012-16-16 R17X11 25 16 24 36
13012-20-20 R147X11 32 20 25 46
13012-24-20 R1%7X11 32 20 25 50
13012-24-24 R1)47X11 40 24 25 50
13012-32-32 R27X11 50 32 28 65




22111
AT )

ng%@%f W P AR LR

BSP FEMALE MULTISEAL

C

5 YRLLE J§& % HOSE BORE J ~F DIMENSIONS

PART NO. THREADE AFHEDN | Ar =DASH C S
22111-04-04 G/A"X19 6 04 4 19
22111-06-06 G347X19 10 06 6 22
22111-08-08 Gl”X14 12 08 7 27
22111-10-10 GH% X14 16 10 7 30
22111-12-12 G4 X14 20 12 8 32
22111-16-16 G1”X11 25 16 7.5 41
22111-20-20 Gl4"X11 32 20 7 50
22111-24-24 G1/5"X11 40 24 7 55
22111-32-32 G2”X11 50 32 9 70

S

éz@ﬁ 922112

= S R

BSP FEMALE MULTISEAL SPIRAL HOSE

C|
5 2L ik % HOSE BORE JU s} DIMENSIONS

PART NO. THREADE AFRWAEDN | bR SDASH c S
22112-08-08 Gls"X14 12 08 7 27
22112-10-10 G3%"X14 16 10 7 30
22112-12-12 G4"X14 20 12 8 32
22112-16-16 G17X11 25 16 7.5 41
22112-20-20 G1l4"X11 32 20 7 50
22112-24-24 Gl x11 40 24 7 55
22112-32-32 62"X11 50 32 9 70




22141

45° JE WIRSOKTH
45° BSP FEMALE MULTISEAL

re IESE ik % HOSE BORE JU sf DIMENSTONS
PART NO. THREADE AFRMAEDN | F5 SDASH C H S
22141-04-04 GJ4"X19 6 04 4 21.6 19
22141-06-05 G347X19 8 05 6 23 22
22141-06-06 G%7X19 10 06 6 24 22
22141-08-08 Gy"X14 12 08 7 27 27
22141-10-10 G%”X14 16 10 7 29 30
22141-12-12 G34"X14 20 12 8 33.2 32
22141-16-16 G17X11 25 16 7.5 35 41
22141-20-20 Gl4”X11 32 20 7 41.2 50
22141-24-24 GlY47X11 40 24 7 49 55
22141-32-32 G2"X11 50 32 9 53 70

//’mﬂWWHIE 29149

45° BUE N IRGORRTI S
45° BSP FEMALE MULTISEAL SPIRAL HOSE

RS IELE Jiz % HOSE BORE JU sf DIMENSIONS

PART NO. THREADE ANFRNAEDN | A% EDASH C H S
22142-08-08 Glg"X14 12 08 7 27 27
22142-10-10 634" X14 16 10 7 29 30
22142-12-12 G34"X14 20 12 8 33.2 32
22142-16-16 G17X11 25 16 7.5 35 41
22142-20-20 G147X11 32 20 7 41.2 50
22142-24-24 Gl x11 40 24 7 49 55
22142-32-32 G2"X11 50 32 9 53 70




22191

T
90° JEAE NIRGUERI
5/( Ut 90° BSP FEMALE MULTISEAL
E
= B4R fi % HOSE BORE U~} DIMENSTONS
PART NO. THREADE AFRWAADN | #7 SDASH C F S
22191-04-04 G4"X19 6 04 4 38.5 19
22191-06-05 G34”X19 8 05 6 42 22
22191-06-06 G3%”X19 10 06 6 44.8 22
22191-08-08 Glg"X14 12 08 7 52 27
22191-10-10 64" X14 16 10 7 57.5 30
22191-12-12 G34”X14 20 12 8 68 32
22191-16-16 G17X11 25 16 7.5 75 41
22191-20-20 Gly"X11 32 20 7 85 50
22191-24-24 Gl47X11 40 24 7 108 55
22191-32-32 G27X11 50 32 9 123.8 70
(HimrrmT T
- 22192
90° TEGF NIRSIER T JHLR G
90° BSP FEMALE MULTISEAL FOR SPIRAL HOSE
5/( &
E
5 B & & HOSE BORE JU ~F DIMENSIONS
PART NO. THREADE IAFRIWAEDN | br EDASH C H S
22192-08-08 Gls"X14 12 08 7 52 27
22192-10-10 G%"X14 16 10 7 57.5 30
22192-12-12 G34"X14 20 12 8 68 32
22192-16-16 G1X11 25 16 7.5 75 41
22192-20-20 Glly"X11 32 20 7 85 50
22192-24-24 Gll"X11 40 24 7 108 55
22192-32-32 627X11 50 39 9 123.8 70




— 12211A

S AMBACT S F T AL & i

L2
%‘W BSP MALE DOUBLE FLAT BONDED SEAL

=] MELE Jie % HOSE BORE N ~t DIMENSIONS

PART NO. THREADE AMRHADN | ¥5 =DASH C S
12211A-04-04 GY”X19 6 04 12 19
12211A-04-06 G”X19 10 06 12 19
12211A-06-06 G34”X19 10 06 13.5 22
12211A-08-04 Gls"X14 6 04 16 27
12211A-08-06 G X14 10 06 16 27
12211A-08-08 Gl X14 12 08 16 27
12211A-10-10 G%"X14 16 10 17.5 30
12211A-12-10 G34"X14 16 10 18.5 32
12211A-12-12 G34"X14 20 12 18.5 32
12211A-12-16 G34"X14 25 16 18.5 36
12211A-16-16 G17X11 25 16 20.5 41
12211A-20-20 G147X11 32 20 20.5 50

1A 12212A

m

% 4%Z%ﬁ%ﬂ@wwL YU SR ST T N SR AL A B R e
BSP MALE DOUBLE FLAT BONDED SEAL SPIRAL HOSE
= IRALE e & HOSE BORE N ~F DIMENSTONS

PART NO. THREADE AFRNAEDN | 4R SDASH C S
12212A-08-08 Gl8”X14 12 08 16 27
12212A-10-10 G%”X14 16 10 17.5 30
12212A-12-10 G4 X14 16 10 18.5 32
12212A-12-12 G%4”X14 20 12 18.5 32
12212A-12-16 G47X14 25 16 18.5 36
12212A-16-16 G17X11 25 16 20. 5 41
12212A-20-20 Gl47X11 32 20 20. 5 50




4 Hirmmrm— 2221l

—@ Q% BSP FEMALE FLAT SEAT
C
RE HELE ik 4 HOSE BORE J] ~f DIMENSIONS
PART NO. THREADE AFK DN bx EDASH C S
22211-04-04 GI/;”X19 6 04 8 19
22211-06-06 G%7X19 10 06 8.5 22
22211-08-08 G}Q”XM 12 08 10.5 27
22211-10-10 G%”XM 16 10 13 30
22211-12-12 GB/;”XM 20 12 14 32
22211-16-16 G17X11 25 16 14.5 41
22211-20-20 Gl%”Xll 32 20 16 50
22211-24-24 GI%”XH 40 24 18 55
22211-32-32 G2”X11 50 32 24 70
S

22212
%W = S ST A

— BSP FEMALE FLAT SEAT SPIRAL HOSE

C

5 BRLE J&z & HOSE BORE S~} DIMENSIONS

PART NO. THREADE AFRAARDN | bR SDASH C S

22212-08-08 Gy X14 12 08 10.5 27
22212-10-10 634" X14 16 10 13 30
22212-12-12 Gla"X14 20 12 14 32
22212-16-16 G17X11 25 16 14.5 41
22212-20-20 G1la"X11 32 20 16 50
22212-24-24 Gl X1l 40 24 18 55
22212-32-32 G2"X11 50 32 24 70




22241

45° I8 WIRGCT-

45° BSP FEMALE FLAT SEAT

(= IRLLE & % HOSE BORE J* <} DIMENSIONS
PART NO. THREADE AFRAADN | b5 SDASH C H S
22241-10-10 G%"X14 16 10 13 26.8 30
22241-12-12 G34"X11 20 12 14 30 32
22241-16-16 G17X11 25 16 14.5 31.5 41
22241-20-20 GLA"X11 32 20 16 36. 6 50
22241-24-24 Glg"X11 40 24 18 36. 5 55
22241-32-32 G27X11 50 32 24 40 70

(M
B — 22242
45° S NIRSFTH

45° BSP FEMALE FLAT SEAT

R WALE Ji& & HOSE BORE J ~F DIMENSIONS
PART NO. THREADE ANFRIAZEDN | ¥5 =DASH C H S
22242-10-10 G%"X14 16 10 13 26.8 30
22242-12-12 G347X11 20 12 14 30 32
22242-16-16 G17X11 25 16 14.5 31.5 41
22242-20-20 G1X11 32 20 16 36. 6 50
22242-24-24 Gllg"X11 40 24 18 36. 5 55
22242-32-32 G2”X11 50 32 24 40 70




22291

j O 90° JLE NIRZF I
S - 90° BSP FEMALE FLAT SEAT
li%=2 HELCE Ji¢ % HOSE BORE JU < DIMENSIONS

PART NO. THREADE AFRAAEDN | k5 SDASH C H S
22291-04-04 G4”"X19 6 04 8 34.5 19
22291-06-05 G347X19 8 05 8.5 41.3 22
22291-06-06 G347X19 10 06 8.5 41.3 22
22291-08-08 Gl"X14 12 08 10.5 48 27
22291-10-10 64" X14 16 10 13 54 30
22291-12-12 G4”"X14 20 12 14 63.5 32
22291-16-16 G17X11 25 16 14.5 70 41
22291-20-20 Gll4"x11 32 20 16 82.5 50
22291-24-24 Gl X11 40 24 18 98.5 55
22291-32-32 627X11 50 32 24 125.3 70

T
22292
5 7 90° LT PIRLLY WA
E 90° BSP FEMALE FLAT SEAT SPIRAL HOSE
R WRLE Ji& % HOSE BORE JU ~J DIMENSIONS

PART NO. THREADE AFRPFEDN | 45 SDASH o H S
22292-08-08 Gl"X14 12 08 10.5 48 27
22292-10-10 G%"X14 16 10 13 54 30
22292-12-12 G34”X14 20 12 14 63.5 32
22292-16-16 G1”X11 25 16 14.5 70 41
22292-20-20 Glly"x11 32 20 16 82.5 50
22292-24-24 Gl K1l 40 24 18 98.5 55
22292-32-32 G2"X11 50 32 24 125.3 70




A7 A

12611A

SEAMERL60° Py HE T BN v 1T 2L e
BSP MALE DOUBLE USE FOR 60° CONE SEAT

e B 4E Jii % HOSE BORE IN ~F DIMENSTONS
PART NO. THREADE ANFRNAEDN | AR EDASH C S
12611A-02-02 Gl X28 4 02 10 14
12611A-02-04 Gl X19 6 04 10 14
12611A-04-04 GUA”X19 4 04 12 19
12611A-04-06 GUA”X14 10 06 12 19
12611A-06-04 6347X14 6 04 13.5 22
12611A-06-05 G%”X14 8 05 13.5 22
12611A-06-06 G%"X14 10 06 13.5 22
12611A-06-08 G%"X14 13 08 13.5 22
12611A-08-08 Gl"X14 13 08 16 27
12611A-08-06 Glg"X14 10 06 16 27
12611A-10-10 G%"X14 16 10 17.5 30
12611A-12-12 G4”X14 20 12 18.5 32
12611A-16-16 G17X11 25 16 20.5 41
12611A-20-20 Gl4"X11 32 20 20.5 50
12611A-24-24 G147X11 40 24 23 55
12611A-32-32 G27X11 50 32 25.5 70
g 12612A
N
_ T H T 1T Feig HMEL60° RHETTES A
0 [ _ A& BE L
. %@' BSP MALE DOUBLE USE FOR 60° CONE
SEAT SPIRAL HOSE
R BLLE fik % HOSE BORE IN ~F DIMENSTONS
PART NO. THREADE AFRAADN | 47 SDASH C S
12612A-12-12 634" X14 20 12 18.5 32
12612A-16-16 G17X11 25 16 20.5 41
12612A-20-20 Gl147X11 32 20 20.5 50
12612A-24-24 G147X11 40 24 23 55
12612A-32-32 62"X11 50 32 25.5 70




60°

60°

— 22011
> [T
T N IRE60° AMETH
%% BSP FEMALE 60° CONE
.C |
e B4R Jii % HOSE BORE R~} DIMENSIONS
PART NO. THREADE RNAEDN | B EDASH C S
22611-04-04 GUA”X19 6 04 5.5 19
22611-06-06 G3%X19 10 06 6.5 22
22611-08-08 Gl”X14 12 08 8 27
22611-10-10 636"X14 16 10 10.5 30
22611-12-12 G347X14 20 12 11.5 32
22611-16-16 GL/X11 25 16 11.5 41
22611-20-20 GLL X1 32 20 12 50
22611-24-24 G1l,"X11 40 24 13 55
22611-32-32 627X11 50 32 16 70
s
T 29612
T
Gl i SR NIRE60° SMHETIMLEET
T BSP FEMALE 60° CONE SPIRAL HOSE
_C_|
RS IRLE &2 % HOSE BORE JU <} DIMENSTONS
PART NO. THREADE RFEDN | bR 2DASH o S
22612-08-08 G4”X14 12 08 27
22612-10-10 G3¢"X14 16 10 10.5 30
22612-12-12 G347 X14 20 12 11.5 32
22612-16-16 G17X11 25 16 11.5 41
22612-20-20 32 20 12 50
22612-24-24 G141 40 24 13 55
22612-32-32 GY'X11 50 32 16 70




220641

45° FEE NIRE60° AN
45° BSP FEMALE 60° CONE

R YRLLE Ji& % HOSE BORE J ~F DIMENSIONS
PART NO. THREADE RN b =DASH C i S
22641-04-04 GA”X19 6 04 5.5 20.2 19
22641-06-05 G347X19 8 05 6.5 22 22
22641-06-06 G47X19 10 06 6.5 22.6 22
22641-08-08 G X14 12 08 8 26. 1 27
22641-10-10 G3%"X14 16 10 10. 5 27.8 30
22641-12-12 G4 X14 20 12 11.5 31.8 32
22641-16-16 G17X11 25 16 11.5 34.2 41
22641-20-20 G147X11 32 20 12 40 50
22641-24-24 G14"X11 40 24 13 44.8 55
22641-32-32 G2"X11 50 32 16 52.7 70
~—Himrmmr T
22042
45° R NIRL60° ANk JELEE
45° BSP FEMALE 60° CONE SPIRAL HOSE
R BRLLE J§& & HOSE BORE JU <F DIMENSIONS
PART NO. THREADE R 1 bR S DASH C H S
22642-08-08 Glg"X14 12 08 8 26. 1 27
22642-10-10 624" X14 16 10 10.5 27.8 30
22642-12-12 GY4"X14 20 12 115 31.8 32
22642-16-16 G17X11 25 16 115 34.2 41
22642-20-20 G147 X11 32 20 12 40 50
22642-24-24 G1ly7X11 40 24 13 44.8 55
22642-32-32 G2"X11 50 32 16 52.7 70




o 22091
T
/I/ j g 90° ﬁ%ﬂﬂiﬁ%&wo%%ﬁﬁ
S 90° BSP FEMALE 60° CONE
E
Lo
5 BLLE ik % HOSE BORE JU s} DIMENSIONS
PART NO. THREADE AFRPAEDN | h5 SDASH C H S
22691-04-04 GL4”X19 6 04 5.5 36.5 19
22691-06-06 G%X19 10 06 6.5 43 22
22691-08-08 Glg"X14 12 08 8 51 27
22691-10-10 624" X14 16 10 10. 5 56 30
22691-12-12 Ga"X14 20 12 1.5 66 32
22691-16-16 G17X11 25 16 1.5 73.8 41
22691-20-20 GLUA"X11 32 20 12 87 50
22691-24-24 G1%7X11 40 24 13 102 55
22691-32-32 G2"X11 50 32 16 125.3 70
) 22692

—
7 . X
A ‘ ' 90° JTPIRL60° AMETIALET
T;fﬁ\ij 90° BSP FEMALE 60° CONE SPIRAL HOSE
~00.
R YRR Ji& % HOSE BORE J <) DIMENSIONS
PART NO. THREADE AFRNARDN | b SDASH C H S
22692-08-08 Gl"X14 12 08 51 27
22692-10-10 G%"X14 16 10 10.5 56 30
22692-12-12 G34"X14 20 12 11.5 66 32
22692-16-16 G17X11 25 16 11.5 73.8 41
22692-20-20 G1l"X11 32 20 12 87 50
22692-24-24 Gll"X11 40 24 13 102 55
22692-32-32 G2"X11 50 32 16 125. 3 70




60,

S2 S1

:ﬂ§¥1ﬂ 22611D
> S Y IREL60° AMETHOUN f

60

| BSP FEMALE 60° CONE DOUBLE HEXAGON

= LR Ji& % HOSE BORE I ~F DIMENSTONS
PART NO. THREADE AFRNAEDN | bk SDASH C S1 S2
22611D-04-04 Gl7X19 6 04 5.5 19 19
22611D-06-06 G¥%"X19 10 06 6.5 22 22
22611D-08-08 GlX14 12 08 8 27 27
22611D-12-12 G34"X14 20 12 11.5 32 32
22611D-16-16 G17X11 25 16 11.5 41 41
22611D-20-20 GL. 4"X11 32 20 12 50 50
22611D-24-24 Gl. 1"X11 40 24 13 55 55
22611D-32-32 G27X11 50 32 16 70 70

S2 %\_
- 22012D
" AER iy
ﬁf%%““”” = A IBRA60° SMIEEIOUN LA
% BSP FEMALE 60° CONE DOUBLE HEXAGON SPIRAL HOSE

R WELE Jgi % HOSE BORE N ~f DIMENSTONS
PART NO. THREADE AFRINAEDN | 47 S DASH C sl 52
22612D-08-08 Gl"X14 12 08 8 27 27
22612D-12-12 G34"X14 20 12 11.5 32 32
22612D-16-16 G17X11 25 16 11.5 41 41
22612D-20-20 GL. L”x11 32 20 12 50 50
22612D-24-24 Gl. Lg"X11 40 24 13 55 55
22612D-32-32 G27X11 50 32 16 70 70




60°

L

226013

2 YUENIREI60° SMETH P2t
C BSP FEMALE 60° CONE LNTERLOCK
R BLLE ik % HOSE BORE JU s} DIMENSIONS
PART NO. THREADE AFRAEDN | bR SDASH C S
22613-08-08 Glg"X14 12 08 27
22613-12-12 GY4"X14 20 12 1.5 32
22613-16-16 A 25 16 1.5 41
22613-20-20 Y, 32 20 12 50
22613-24-24 G611 X11 40 24 13 55
22613-32-32 G2"X11 50 32 16 70

22643

45° LA NIRAI60° HMIETD A Bt
45° BSP FEMALE 60° CONE LNTERLOCK

RS IELE & & HOSE BORE JU <} DIMENSIONS

PART NO. THREADE AFRHNAEDN | k5 SDASH C H S
22613-08-08 Gls"X14 12 08 26 27
22643-12-12 G34"X14 20 12 11.5 31.8 32
22643-16-16 G1X11 25 16 11.5 34.2 41
22643-20-20 32 20 12 38 50
22643-24-24 G111 40 24 13 45.5 55
22643-32-32 GZ’X11 50 32 16 52.7 70




22693

T
s AL B 90° T PIIBL60° HMET Py Bt
A 90° BSP FEMALE 60° CONE LNTERLOCK
laa>
R WRLE Ji& & HOSE BORE J ~} DIMENSIONS

PART NO. THREADE AFRNADN | kxS DASH C H S
22693-08-08 G4”X14 12 08 8 51 27
22693-12-12 G347 X14 20 12 11.5 66 32
22693-16-16 G1”X11 25 16 11.5 73.8 41
22693-20-20 Gll47X11 32 20 12 87 50
22693-24-24 Gllg"X11 40 24 13 102 55
22693-32-32 G2"X11 50 32 16 125.3 70




22691K

T
%
f 2 90° LR YIRLL60° HMETHT XA A
59 g 90° BSP FEMALE 60° CONE DOUBLE HEXAGON
R WRLLE Ji& 4 HOSE BORE R ~F DIMENSIONS

PART NO. THREADE ANFRINAADN | ¥5 =DASH C H S1 52
22691K-04-04 GY4”X19 6 04 5.5 18.5 14 19
22691K-06-06 G34"X19 10 06 6.5 24 17 22
22691K-08-08 Gls"X14 12 08 8 28.5 22 27
22691K-10-10 G3%"X14 16 10 10. 5 29.2 22 30
22691K-12-12 G34"X14 20 12 1.5 33 27 32
22691K-16-16 G17X11 25 16 1.5 38. 1 33 41

S1

=

[T

// ‘
S2 £

220692K

90° JEE NIRZ60° AMIE XN M ESE

90° BSP FEMALE 60°
DOUBLE HEXAGON SPIRAL HOSE

CONE

~50 -
5 HRLE JiZ & HOSE BORE JU < DIMENSIONS
PART NO. THREADE AFRAFEDN | bR SDASH C i S1 S2
22692K-04-04 GYA"X19 6 04 5.5 18.5 14 19
22692K-06-06 G"X19 10 06 6.5 24 17 22
22692K-08-08 Gl X14 12 08 8 28.5 22 27
22692K-10-10 GA"X14 16 10 10.5 29.2 22 30
22692K-12-12 G34"X14 20 12 11.5 33 21 32
22692K-16-16 G17X11 25 16 11.5 38. 1 33 41




16011SW

SAE 7 O [ fie % A ME 2L

SAE O-RING BOSS SWIVEL MALE

) LR Ji& % HOSE BORE R ~F DIMENSIONS
PART NO. THREADE [ AFRAFEDN | ki SDASH S1

16011SW-08-06 |  U3/4"-16 10 06 27

16011SW-08-08 |  U3/4"-16 12 08 27

16011SW-10-08 |  U7/8"-14 12 08 27

16011SW-10-10 | U7/8"-14 16 10 27

16011SW-12-12 | UL 1/16"-12 20 12 32




] 16011

LI SAEAMES 7 071 P

‘ /% W SAE O-RING MALE

RE IZLE I % HOSE BORE R & DIMENSIONS
PART NO. THREADE AFRPAIEDN | hr ZDASH C s
16011-04-04 e X20 6 04 10 14
16011-05-04 147X20 6 04 10 17
16011-06-05 T67X18 8 05 12 17
16011-06-06 Y7X18 10 06 12 17
16011-08-06 “47X16 10 06 12 22
16011-08-08 7X16 12 08 12 22
16011-10-08 4X14 12 08 13.5 27
16011-10-10 X1 16 10 13.5 27
16011-12-10 146"X12 16 10 16 32
16011-12-12 146" X12 20 12 16 32
16011-16-16 156" X12 25 16 17 11
16011-20-20 157 X12 32 20 18 50
16011-24-24 1747 X12 40 24 18.5 55
16011-32-32 24"X12 50 32 22 70
S
C

16012
Zoad SEHISAESMBLCH; 0L Pl e
SAE O-RING MALE SPIRAL HOSE

K5 IELE Jgi % HOSE BORE IN ~f DIMENSTONS

PART NO. THREADE AFRHAZEDN |k SDASH C S
16012-08-08 347X16 12 08 12 22
16012-10-08 7X14 12 08 13.5 27
16012-10-10 T47X14 16 10 13.5 27
16012-12-10 146"X12 16 10 16 32
16012-12-12 146"X12 20 12 16 32
16012-16-16 146" X12 25 16 17 41
16012-20-20 1567X12 32 20 18 50
16012-24-24 1767X12 40 24 18.5 55
16012-32-32 2567X12 50 32 22 70




| 16711

w5
T 4 S ICHMBLTA° ST
JIC MALE 74° CONE
S1
R B4R fiZ 4 HOSE BORE U ~) DIMENSIONS

PART NO. THREADE AFKAAEDN | k& “ZDASH C S1
16711-04-04 7/167X20 6 04 14 12
16711-05-04 1/27X20 6 04 14 14
16711-05-05 1/27X20 8 05 14 14
16711-06-04 9/16"X18 6 04 14 17
16711-06-05 9/16”X18 8 05 14 17
16711-06-06 9/16”X18 10 06 14 17
16711-08-06 3/47X16 10 06 16. 7 22
16711-08-08 3/47X16 12 08 16. 7 22
16711-10-06 7/87X14 10 06 19.5 24
16711-10-08 7/87X14 12 08 19.5 24
16711-10-10 7/87X18 16 10 19.5 24
16711-12-08 1.1/167X12 12 08 22 30
16711-12-10 1.1/167X12 16 10 22 30
16711-12-12 1.1/167X12 20 12 22 30
16711-12-16 1.1/167X12 25 16 22 32
16711-14-12 1.3/167X12 20 12 22.5 32
16711-16-12 1.5/16”7X12 20 12 23 36
16711-16-16 1.5/167X12 25 16 23 36
16711-20-16 1.5/87X12 25 16 24.5 46
16711-20-20 1.5/87X12 32 20 24.5 46
16711-24-20 1.7/87X12 32 20 27.5 50
16711-24-24 1.7/87X12 40 24 27.5 50
16711-32-32 2.1/27X12 50 32 34 65




”ﬂ[ 16712

i - ST TCHMBETA” ST LR
JIC MALE 74° CONE SPIRAL HOSE
%51
2 B LR Jiz & HOSE BORE JU 5F DIMENSIONS
PART NO. THREADE AFRAAEDN | 45 SDASH C s1
16712-08-08 3/47X16 12 08 16.7 22
16712-10-10 7/87X14 16 10 19.5 24
16712-12-12 | 1.1/16”X12 20 12 22 30
16712-16-16 | 1.5/16”X12 25 16 23 36
16712-20-20 | 1.5/8”X12 32 20 24.5 46
16712-24-24 | 1.7/8”X12 40 24 27.5 50
16712-32-32 | 2.1/2°X12 50 32 34 65
sl
= 20712
| d AT
= J N e
% JIC FEMALE 74° CONE SEAT SPIRAL HOSE
C
e LT Jiz & HOSE BORE U~} DIMENSIONS

PART NO. THREADE AFKADN | b5 SDASH C s1
26712-08-08 3/47X16 12 08 11 24
26712-10-10 7/8"X14 16 10 11 27
26712-12-12 | 1.1/16”X12 20 12 13.5 32
26712-16-16 | 1.5/16”X12 25 16 14.5 41
26712-20-20 | 1.5/8”X12 32 20 15.5 50
26712-24-24 | 1.7/8”X12 40 24 18.5 55
26712-32-32 | 2.1/27X12 50 32 24.5 75




20711

KA JICHIRZLT4" s
JIC FEMALE 74° CONE SEAT

FeE WELE Jit % HOSE BORE JR <} DIMENSTIONS

PART NO. THREADE NFRNAED Fr “ZDASH C S1
26711-04-04 7/16”X20 6 04 8.5 17
26711-05-04 1/27%20 6 04 9.5 19
26711-05-05 1/27%20 8 05 9.5 19
26711-06-04 9/16"X18 6 04 10 19
26711-06-05 9/16”X18 8 05 10 19
26711-06-06 9/16”X18 10 06 10 19
26711-08-06 3/47X16 10 06 11 24
26711-08-08 3/47X16 12 08 11 24
26711-08-10 3/47X16 16 10 11 24
26711-10-06 7/8”X14 10 06 11 27
26711-10-08 7/87X18 12 08 11 27
26711-10-10 7/87X18 16 10 11 27
26711-10-12 7/87X18 20 12 11 27
26711-12-08 1.1/167X12 12 08 13.5 32
26711-12-10 1.1/167X12 16 10 13.5 32
26711-12-12 1.1/167X12 20 12 13.5 32
26711-12-16 1.1/167X12 25 16 13.5 32
26711-14-12 1.3/167X12 20 12 14.5 36
26711-16-12 1.5/167X12 20 12 14.5 41
26711-16-14 1.5/167X12 22 14 14.5 41
26711-16-16 1.5/167X12 25 16 14.5 41
26711-16-20 1.5/16”X12 32 20 14.5 41
26711-20-16 1.5/87X12 25 16 15.5 50
26711-20-20 1.5/87X12 32 20 15.5 50
26711-24-20 1.7/87X12 32 20 18.5 55
26711-24-24 1.7/87X12 40 24 18.5 55
26711-32-32 2.1/27X12 50 32 24.5 75




20741

45° RHIJICASRETA® P HET
45° JIC FEMALE 74° CONE SEAT

= WELE Jig % HOSE BORE JU <t DIMENSIONS

PART NO. THREADE AMRHNAEDN | #& ZDASH C S1 H
26741-04-04 7/167X20 6 04 8.5 17 18.1
26741-05-04 1/27X20 6 04 9.5 19 18.5
26741-05-05 1/27X20 8 05 9.5 19 19.3
26741-06-04 9/16”X18 6 04 10 19 18.5
26741-06-05 9/16”X18 8 05 10 19 19.3
26741-06-06 9/16”X18 10 06 10 19 20
26741-08-06 3/47X16 10 06 11 24 21.4
26741-08-08 3/47X16 12 08 11 24 13.5
26741-10-06 7/87X14 10 06 11 27 21.8
26741-10-08 7/87X18 12 08 11 27 24
26741-10-10 7/87X18 16 10 11 27 25.3
26741-10-12 7/87X18 20 12 11 27 28.9
26741-12-08 1.1/167X12 12 08 13.5 32 25
26741-12-10 1.1/167X12 16 10 13.5 32 26. 4
26741-12-12 1.1/167X12 20 12 13.5 32 30
26741-14-12 1.3/167X12 20 12 14.5 36 30
26741-16-12 1.5/167X12 20 12 14.5 41 30
26741-16-16 1.5/167X12 25 16 14.5 41 31.5
26741-20-16 1.5/87X12 25 16 15.5 50 32.5
26741-20-20 1.5/87X12 32 20 15.5 50 36. 6
26741-24-20 1.7/87X12 32 20 18.5 95 36.9
26741-24-24 1.7/87X12 40 24 18.5 95 41.6
26741-32-32 2.1/27X12 50 32 24.5 75 66




206791

= 90° SEHIJICHIRAT4° AT

90° JIC FEMALE 74° CONE SEAT
s o
74°
) B LR JiX % HOSE BORE J& <} DIMENSIONS

PART NO. THREADE AFRAAEDN | 45 “5DASH C S1 H
26791-04-04 7/16”X20 6 04 8.5 17 30.5

26791-05-04 1/27X20 6 04 9.5 19 31

26791-05-05 1/27X20 8 05 9.5 19 34
26791-06-04 9/16”X18 6 04 10 19 31.5
26791-06-05 9/16”X18 8 05 10 19 34.5
26791-06-06 9/16”X18 10 06 10 19 36.5

26791-08-06 3/4”X16 10 06 11 24 38
26791-08-08 3/4”X16 12 08 11 24 44
26791-10-06 7/8”X14 10 06 11 27 39.5
26791-10-08 7/87X18 12 08 11 27 45.5
26791-10-10 7/87X18 16 10 11 27 50. 5
26791-12-08 | 1.1/16”X12 12 08 13.5 32 46.5
26791-12-10 | 1.1/16”X12 16 10 13.5 32 51.5
26791-12-12 | 1.1/16”X12 20 12 13.5 32 57.5

26791-14-12 | 1.3/16”X12 20 12 14.5 36 58
26791-16-12 | 1.5/16”X12 20 12 14.5 41 59. 5

26791-16-14 | 1.5/16”X12 22 14 14.5 41 62
26791-16-16 | 1.5/16"X12 25 16 14.5 41 71.5

26791-20-16 1.5/87X12 25 16 15.5 50 73
26791-20-20 1.5/87X12 32 20 15.5 50 82
26791-24-20 1.7/87X12 32 20 18.5 55 82
26791-24-24 1.7/87X12 40 24 18.5 55 93
26791-32-32 2.1/27X12 50 32 24. 5 75 118




i 20742

S—
45° RHIJICHIRAIT4° W HEMESEE
45° JIC FEMALE 74° CONE SEAT SPIRAL HOSE
e WELE Jii 4 HOSE BORE R~} DIMENSTONS
PART NO. THREADE [ AFRAEEDN | b5 EDASH C st H
26742-08-08 |  3/4"X16 12 08 11 24 13.5
26742-10-10 | 7/8"X14 16 10 11 27 25.3
26742-12-12 | 1.1/16"X12 20 12 13.5 32 30
26742-16-16 | 1.5/16"X12 25 16 14.5 41 31.5
26742-20-20 | 1.5/8”X12 32 20 24.5 50 36.6
26742-24-24 | 1.7/8"X12 40 24 19.5 55 41.6
26742-32-32 | 2.1/27X12 50 32 24.5 75 66

- 90° I JICHIRLITA PHETIYE S
S1 ‘ 90° JIC FEMALE 74° CONE SEAT SPIRAL HOSE
z
£
74°
=) B4R fig & HOSE BORE JU b DIMENSIONS
PART NO. THREADE INFRNAEDN #r “5DASH C S1 H

26792-08-08 3/47X16 12 08 11 24 44
26792-10-10 7/87X14 16 10 11 27 50.5
26792-12-12 1.1/167X12 20 12 13.5 32 57.5
26792-16-16 1.5/167X12 25 16 14.5 41 71.5
26792-20-20 1.5/87X12 32 20 24.5 50 82
26792-24-24 1.7/87X12 40 24 19.5 60 93
26792-32-32 2.1/27X12 50 32 24.5 75 118




S2 S1

H 206711D

74°

Fiil JICHIRELTA° PYHETET XS A
oA ;“{ZZW JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON
C

2 2R Jiz & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE AFRNAEDN | b5 SDASH C S1 52
26711D-04-04 |  7/167X20 6 04 8.5 17 17
26711D-05-04 1/27X20 6 04 9.5 19 19
26711D-05-05 1/27X20 8 05 9.5 19 19
26711D-06-05 |  9/16"X18 8 05 10 19 19
26711D-06-06 |  9/16"X18 10 06 10 19 19
26711D-08-06 |  3/4”X16 10 06 11 24 24
26711D-08-08 |  3/47X16 12 08 11 24 24
26711D-10-10 |  7/8"X14 16 10 11 21 21
26711D-12-12 | 1.1/16”X12 20 12 13.5 32 32
26711D-16-16 | 1.5/16”X12 25 16 14.5 41 41
26711D-20-20 | 1.5/87X12 32 20 15.5 50 50
26711D-24-24 | 1.7/8"X12 40 24 18.5 55 55
26711D-32-32 | 2.1/2"X12 50 32 24.5 70 75

52 S1
i 26712D
LT
W = FMIJICHIRELTA° A HETTX7S A
JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON

o B LR fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE AFRAAEDN | 5 SDASH C S1 H
26712D-08-08 |  3/47X16 12 08 11 24 24
26712D-10-10 |  7/8"X14 16 10 11 21 21
26712D-12-12 | 1.1/16”X12 20 12 13.5 32 32
26712D-16-16 | 1.5/16”X12 25 16 14.5 41 41
26712D-20-20 | 1.5/8"X12 32 20 15.5 50 50
26712D-24-24 | 1.7/8"X12 40 24 18.5 55 55
26712D-32-32 | 2.1/2"X12 50 32 24.5 70 75




20713

EHIJICHIBS 74> PHET R 8ER
JIC FEMALE 74° CONE SEAT LETERLOCK

foe 2R Jiz & HOSE BORE JU 5F DIMENSIONS
PART NO. THREADE APRAEDN | kF SDASH C S1
26713-08-08 3/47X16 12 08 11 24
26713-12-12 1.1/16”X12 20 12 13.5 32
26713-16-16 1.5/16”X12 25 16 14.5 41
26713-20-20 1.5/87X12 32 20 15.5 50
26713-24-24 1.7/87X12 40 24 18.5 55
26713-32-32 2.1/27X12 50 32 24.5 75
S1
1 20713L
AF A T
V Sl JICHIRLLTA° P HETT P B
W W JIC FEMALE 74° CONE SEAT LNTERLOCK
c STRENGTHEN
o W24 J§&& 4% HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFRHNAEDN | #F SDASH C S1
26713L-20-20 | 1.5/8”X12 32 20 15.5 50
26713L-24-24 | 1.7/8"X12 40 24 18.5 55
26713L-32-32 | 2.1/2"X12 50 32 24.5 75




M 26743

45° RHIJICAIRELTA° PHETR P8
45° JIC FEMALE 74° CONE SEAT LETERLOCK

FeE WELE Jii % HOSE BORE JX  ~F DIMENSIONS
PART NO. THREADE AFRNAEDN | kR “5DASH C S1 H
26743-08-08 3/47X16 12 08 11 24 13.5
26743-12-12 1.1/16”X12 20 12 13.5 32 30
26743-16-16 1.5/167X12 25 16 14.5 41 31.5
26743-20-20 1.5/87X12 32 20 15.5 50 36. 6
26743-24-24 1.7/87X12 40 24 18.5 95 41.6
26743-32-32 2.1/27X12 50 32 24.5 75 66

I, 26743L

45° SKRHIJICAIRETA" Ak 8L nas
45° JIC FEMALE 74° CONE SEAT LNTERLOCK

STRENGTHEN
FeE WELE Jit % HOSE BORE JX ~F DIMENSIONS
PART NO. THREADE AFRNAEDN | kr 5DASH C S1 H
26743L-20-20 1.5/87X12 32 20 15.5 50 36. 6
26743L-24-24 1.7/87X12 40 24 18.5 95 41.6
26743L-32-32 2.1/2"X12 50 32 24.5 75 66




/ ] 26793

90° SRHIJICAIRELTA® PHER P B
90° JIC FEMALE 74° CONE SEAT LETERLOCK

r
s

| O
-
74°

o B4R fi¢ & HOSE BORE JU sF DIMENSIONS

PART NO. THREADE WNFRAAEDN | b5 SDASH C sl H
26793-08-08 3/47X16 12 08 11 24 44
26793-12-12 | 1.1/16"X12 20 12 13.5 32 57.5
26793-16-16 | 1.5/16"X12 25 16 14.5 41 71.5
26793-20-20 | 1.5/87X12 32 20 15.5 50 82
26793-24-24 | 1.7/87X12 40 24 18.5 55 93
26793-32-32 | 2.1/2"X12 50 32 24.5 75 115.5

(I, 26793L
- 90° KIJICHERZT4° PyHEI P B 5
90° JIC FEMALE 74° CONE SEAT LNTERLOCK
STRENGTHEN
st AL [ <l
._E
4°

e WELE Ji¢ % HOSE BORE JU < DIMENSIONS

PART NO. THREADE AFBRWAEDN | 5 SDASH C S1 H
26793L-20-20 | 1.5/8"X12 32 20 15.5 50 82
26793L-24-24 | 1.7/87X12 40 24 18.5 55 93
267931.-32-32 | 2.1/2"X12 50 32 24.5 75 115.5




S2

N
T
206791K
-
o KE % 90° EHIH G JICARRLIT4° A HET
90° JIC COMPACT FEMALE 74° CONE SEAT
LT~
74°
2 B LR Jiz & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE FRPAEDN | F5 “5DASH C S1 S2 H
26791K-04-04 7/16”%X20 6 04 8.5 17 11 18
26791K-06-04 9/16”X18 6 04 10 19 14 21
26791K-06-06 |  9/16”X18 10 06 10 19 17 21
26791K-08-06 3/47X16 10 06 11 24 19 25
26791K-08-08 3/47X16 12 08 11 24 22 25
26791K-10-08 7/87X14 12 08 11 27 22 27.5
26791K-10-10 7/8”X14 16 10 11 27 22 | 27.5
26791K-12-12 | 1.1/16”X12 20 12 13.5 32 27 30
26791K-16-16 | 1.5/16"X12 25 16 14.5 41 33 | 34.3

S2

gV —

[T

p—
j=mi
u 20 B 00° SIfE B JICHIRLTL T
Dl é 90° JIC COMPACT FEMALE 74° CONE SEAT
o
& ]
74°
s e Ji& % HOSE BORE ]~ DIMENSIONS
PART NO. THREADE FRNFEDN | 4% “SDASH C S1 S2 H
26792K-08-08 3/47X16 12 08 11 24 22 25
26792K-10-08 7/87X14 12 08 11 27 22 27.5
26792K-10-10 7/87X14 16 10 11 27 22 27.5
26792K-12-12 1.1/167X12 20 12 13.5 32 27 30
26792K-16-16 1.5/16”7X12 25 16 14.5 41 33 34.3




INIRINIRININ . 17811
) :/D% W ALz FHISAESMEL90° P4

SAE MALE 90° CONE SEAT

=2 I 4E J§& 4 HOSE BORE R ~F DIMENSIONS
PART NO. THREADE AFRMNAEDN | k% SDASH C S1
17811-04-04 7/16”X20 6 04 14 14
17811-05-05 1/2”X20 8 05 14.2 14
17811-06-06 5/8”X18 10 06 15.7 17
17811-08-08 3/47X16 12 08 17 22
17811-10-10 7/8”X14 16 10 22.4 24
17811-12-12 | 1.1/16”X12 20 12 22 27
—H
17812
T T
% W 77 %ﬁ?USAEﬁtﬂ?ﬁéﬁ%" PN T 4 S8
SAE MALE 90° CONE SEAT SPIRAL HOSE
o B4R Ji&& 4 HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFRPWAEDN | F5 SDASH C S1
17812-08-08 3/47X16 12 08 17 22
17812-10-10 7/8”X14 16 10 22. 4 24
17812-12-12 | 1.1/16”X12 20 12 22 27




7/

17811L

FHI|SAESMES90° FMHETH
SAE MALE 90° CONE CONE

e IELE = HOSE BORE R~} DIMENSIONS

PART NO. THREADY /S A 42DN ¥ E-DASH C S
17811L-04-04 |  %g"X20 6 04 35 14
17811L-05-05 %"X20 8 05 36 14
17811L-06-06 %" X18 10 06 38 17
17811L-08-08 3,"X16 12 08 40 19
17811L-10-10 %"X14 16 10 42 22
17811L-12-12 | 14¢"X12 20 12 45 27




27811

FEHISAE P RRLL90 ° P HE
SAE FEMALE 90 ° CONE SEAT

) B4R B 4% HOSE BORE R~} DIMENSIONS

PART NO. THREADE AFRRFAEDN | #% SDASH C Sl
27811-04-04 7/16”X20 6 04 8.5 17
27811-05-05 1/27X20 8 05 9.5 17
27811-06-06 5/8”X18 10 06 11.5 22
27811-08-08 3/47X16 12 08 11 24
27811-10-10 7/87X14 16 10 11 27
27811-12-12 | 1.1/167X12 20 12 13.5 32

S1
= 27812
| A [T
g |
i i FHISAENIRZ90° Py HETH SR
%% SAE FEMALE 90° CONE SEAT SPIRAL HOSE
C

o B LR JiX % HOSE BORE R~} DIMENSIONS

PART NO. THREADE AFRHNAEDN | kR SDASH C S1
27812-08-08 3/47X16 12 08 11 24
27812-10-10 7/8”X14 16 10 11 27
27812-12-12 | 1.1/167X12 20 12 13.5 32




27841

45° SCHISAEABRE90° P HETH
45° SAE FEMALE 90° CONE SEAT

RE WELE Jit HOSE BORE JX  ~F DIMENSIONS
PART NO. THREADE W1 #r 5 DASH C S1 H
27841-04-04 7/167X20 6 04 8.5 17 18.1
27841-05-05 1/27X20 8 05 9.5 17 19.3
27841-06-06 5/8”X18 10 06 11.5 22 20
27841-08-08 3/47X16 12 08 11 24 13.5
27841-10-10 7/87X14 16 10 11 27 25.3
27841-12-12 1. 1/167X12 20 12 13.5 32 30

217842

45° ZEHISAEPYIRL90° A HET YL

45° SAE FEMALE 90° CONE SEAT SPIRAL HOSE

) W2 R i HOSE BORE JU <F DIMENSIONS
PART NO. THREADE Wi b5 EDASH C S1 H
27842-04-04 7/167%20 6 04 8.5 17 18. 1
27842-05-05 1/27X20 8 05 9.5 17 19. 3
27842-06-06 5/87X18 10 06 11.5 22 20
27842-08-08 3/47X16 12 08 11 24 13.5
27842-10-10 7/8”X14 16 10 11 27 25.3
27842-12-12 | 1.1/16”X12 20 12 13.5 32 30




= 27891

90° SEHISAEABRE90° Py HETH
90° SAE FEMALE 90° CONE SEAT

foi B4R fi¢ & HOSE BORE JU sF DIMENSIONS

PART NO. THREADE AFRNAEDN | b5 SDASH C S1 H
27891-04-04 |  7/16”X20 6 04 8.5 17 30.5
27891-05-05 1/27X20 8 05 9.5 17 34
27891-06-06 5/87X18 10 06 11.5 22 36.5
27891-08-08 3/47X16 12 08 11 24 44
27891-10-10 7/8"X14 16 10 11 21 50.5
27891-12-12 | 1.1/16"X12 20 12 13.5 32 57.5

27892

90° ZEHISAENIRLI90° N HETH Y55
90° SAE FEMALE 90° CONE SEAT SPIRAL HOSE

74°
e RS Ji¢ 4 HOSE BORE R~} DIMENSIONS
PART NO. THREADE | AFKAZADN | #% ‘= DASH C st H
27892-04-04 | 7/16”X20 6 04 8.5 17 30.5
27892-05-05 1/27X20 8 05 9.5 17 34
27892-06-06 5/87X18 10 06 11.5 22 36.5
27892-08-08 3/47X16 12 08 11 24 44
27892-10-10 7/8"X14 16 10 11 27 50.5
27892-12-12 | 1.1/16”X12 20 12 13.5 32 57.5




14211

=
= ) | ORFSHMER ST~ T 0 2 P %%
% A /Q ORFS MALE O-RING SEAL
e HE4E X % HOSE BORE OFY [ /0-RING JR <} DIMENSIONS
PART NO. THREADE AFRNAZDN | k7 SDASH | OME £4%) C S
14211-04-04 9/16”X18 6 04 11.21x1. 78 14 17
14211-06-06 11/16”X16 10 06 12. 8%x1. 78 14 19
14211-08-08 13/16”X16 12 08 15.98x1. 78 15 22
14211-10-10 17X14 16 10 19. 16x1. 78 16.5 27
14211-12-12 | 1.3/16”X12 20 12 22.33x1. 78 17 32
14211-16-16 | 1.7/16”X12 25 16 27.08x1. 78 18.5 41
14211-20-20 | 1.11/16”X12 32 20 33.43x1. 78 19.5 46
14211-24-24 27X12 40 24 41.38x1.78 23.5 55

c s1
14212
o
7 /W 77 M| ORFSHMER AL [ 0 1Y Bl 5% 4 2 ey
ORFS MALE O-RING SEAL SPIRAL HOSE
o 2R Ji&& % HOSE BORE 074 [ /0-RING <] DIMENSIONS
PART NO. THREADE AFRADN | #% 2DpAaSH | UME &48) C S1
14212-08-08 13/16”X16 12 08 15.98x1. 78 15 22
14212-10-10 17X14 16 10 19. 16x1. 78 16.5 27
14212-12-12 | 1.3/16”X12 20 12 22.33x1. 78 17 32
14212-16-16 | 1.7/16”X12 25 16 27.08x1. 78 18.5 41
14212-20-20 | 1.11/16”X12 32 20 33.43x1. 78 19.5 46
14211-24-24 27X12 40 24 41.38x1.78 23.5 55




S1

24211

ALILZLZ2228 S Al ORFS Py BRZCF- IHT
A g ORFS FEMALE FLAT SEAT

C
R B4R & % HOSE BORE & ~F DIMENSIONS
PART NO. THREADE AFRAAEDN | k& “ZDASH C S1
24211-08-08 13/167X16 12 08 12 27
24211-20-20 | 1.11/16”X12 32 20 15.5 50
S1
€2
R 2 HIORFS Y SRLCT T S50
ORFS FEMALE FLAT SEAL SPIRAL HOSE
C
R B LE &t % HOSE BORE &~} DIMENSTONS
PART NO. THREADE AFRPADN | F% =DASH C S1
24212-08-08 13/16”X16 12 08 12 27
24212-20-20 | 1.11/16”X12 32 20 15.5 50

. e [ Lininjynn 24941

45° KHIORFS A IRSCT i
45° ORFS FEMALE FLAT SEAL

H

S
K5 YELE fiz & HOSE BORE R~} DIMENSIONS
PART NO. THREADE NFRNAFEDN #» ‘S DASH C Sl H
24241-08-08 | 13/16”X16 12 08 12 27 30. 4
24241-20-20 | 1.11/16”X12 32 20 15.5 50 46. 1




< THmmmrn) 242492

45° SLHiORFS WIRELT M JE 58
45° ORFS FEMALE FLAT SEAL SPIRAL HOSE

2 B LR Jiz & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE AFRPAEDN | #5 ZDASH C S1 H
24242-08-08 13/16”X16 12 08 12 27 30. 4
24242-20-20 | 1.11/16”X12 32 20 15.5 50 46.1

s ' 24291

=
| 90° 21| ORFS PN B4 ~F- i
A 90° ORFS FEMALE FLAT SEAL
sl TP Ut
e ]
foe TELE ik % HOSE BORE J ~F DIMENSIONS
PART NO. THREADE AFRNAEDN #r “5DASH C S1 H
24291-08-08 13/167X16 12 08 12 27 55
24291-20-20 1.11/167X12 32 20 15.5 50 97




24292

90° ZEH|ORFS PN BE L0 T 4 43
90° ORFS FEMALE FLAT SEAL
SPIRAL HOSE

S1 ©
E

o B4R fiz % HOSE BORE JU s DIMENSIONS
PART NO. THREADE RN 12 ¥r EDASH C S1 H
24292-08-08 13/167X16 12 08 12 27 55
24292-20-20 | 1.11/16"X12 32 20 15.5 50 97
S1
m
z% S AI0RFS Py RSP
c ORFS FEMALE FLAT SEAL
o B4R fiz % HOSE BORE JU s DIMENSIONS
PART NO. THREADE FRAAE Fr “5DASH C S1
34211-04-04 9/16”X18 6 04 11 19
34211-06-06 11/16”X16 6 06 10 22
34211-10-10 17X14 16 10 13.5 30
34211-12-12 1.3/16”X12 20 12 15 36
34211-16-16 1.11/16”X12 25 16 15 41
34211-24-24 27X12 40 24 19 60




S1

34212
=
R rRILLE F | ORFS N R 401 [HI 28 58 45
> ORFS FEMALE FLAT SEAL SPIRAL HOSE
c.]
R B4R Ji&& % HOSE BORE <] DIMENSIONS
PART NO. THREADE AFRAAEDN | F5 SDASH C S1
34212-10-10 17X14 16 10 13.5 30
34212-12-12 | 1.3/16”X12 20 12 13 32
34212-16-12 | 1.5/16”X12 20 12 14 41
34212-16-16 | 1.7/16”X12 25 16 14 41
34212-24-20 27X12 32 20 19 60
34212-24-24 27X12 40 24 19 60




34241

45° ZE#|ORFS N IZSFTH
45° ORFS FEMALE FLAT SEAL

(NON CRIMP)

e WBSE Jii 4 HOSE BORE R~} DIMENSTONS

PART NO. THREADE [ AFBRPIFEDN | b5 EDASH C st H
34241-04-04 |  9/16"X18 6 04 11 19 20.8
34241-06-06 | 11/16”X16 10 06 10 22 23.7
34241-10-08 17X14 13 08 13.5 30 23.3
34241-12-08 | 1.3/16"X12 13 08 13 36 23.5
34241-12-10 | 1.3/16"X12 16 10 13 36 19.5
34241-10-10 1"X14 16 10 13.5 30 19
34241-12-12 | 1.3/167X12 20 12 13 36 27.2
34241-16-12 | 1.7/16"X12 20 12 14 41 29.6
34241-16-16 | 1.7/16"X12 25 16 14 41 29.7
34241-24-24 27X12 40 24 19 60 37.7

34242

45° ZEHI|ORFS PN RS- T i 585
45° ORFS FEMALE FLAT SEAL FOR SPIRAL

HOSE (NON CRIMP)

e SR Jii 4 HOSE BORE R~} DIMENSIONS

PART NO. THREADE [ AFBRPIFEDN | b EDASH C st H
34242-10-08 17X14 13 08 13.5 30 23.3
34242-12-08 | 1.3/16"X12 13 08 13 36 23.5
34242-12-10 | 1.3/16"X12 16 10 13 36 19.5
34242-10-10 17X14 16 10 13.5 30 19
34242-12-12 | 1.3/16"X12 20 12 13 36 27.2
34242-16-12 | 1.7/167X12 20 12 14 41 29.6
34242-16-16 | 1.7/167X12 25 16 14 41 29.7
34242-24-24 27X12 40 24 19 60 37.7




34291

- 90° % HIORFS Py IBLF-THi
/ 7 90° ORFS FEMALE FLAT SEAL
si/ S (NON CRIMP)
. E |
RE WEZE HOSE BORE JX <} DIMENSIONS
PART NO. THREADE #r SDASH C S1 H
34291-04-04 9/16”X18 04 11 19 32.5
34291-06-06 11/167X16 06 10 22 40
34291-10-08 17X14 08 13.5 30 46
34291-12-08 1.3/167X12 08 13 36 48
34291-12-10 1.3/167X12 10 13 36 50
34291-10-10 17X14 10 13.5 30 45
34291-12-12 1.3/167X12 12 13 36 53.5
34291-16-12 1.7/167X12 12 14 41 60. 5
34291-16-16 1.7/167X12 16 14 41 70
34291-24-24 27X12 24 19 60 85.5
//ﬂmmmmg 34999
| (7
o 90° SEHIORFS N HRSY- 45
P 90° ORFS FEMALE FLAT SEAL FOR
1 '| — SPIRAL (NON CRIMP)
e IBLE HOSE BORE JU < DIMENSIONS
PART NO. THREADE ¥r S DASH C S1 H
34292-10-08 17X14 08 13.5 30 46
34292-12-08 1.3/167X12 08 13 36 48
34292-12-10 1.3/167X12 10 13 36 50
34292-10-10 17X14 10 13.5 30 45
34292-12-12 1.3/167X12 12 13 36 53.5
34292-16-12 1.7/167X12 12 14 41 60. 5
34292-16-16 1.7/167X12 16 14 41 70
34292-24-24 27X12 24 19 60 85.5




S1

A |

21611

L HINPSMPHRLL60° AMHETH
NPSM FEMALE 60° CONE

K2
C
o2 B4R Jiz & HOSE BORE SO 5F DIMENSTONS

PART NO. THREADE AFRAAEDN | b5 SDASH C S1
21611-04-04 1/47X18 6 04 5.5 19
21611-06-06 3/8"X18 10 06 6.5 22
21611-08-08 1/27X14 12 08 8 21
21611-12-12 3/47X14 20 12 11.5 32
21611-16-16 17X11. 5 25 16 11.5 41
21611-20-20 | 1.1/4"X11.5 32 20 12 50
21611-24-24 | 1.1/2"X11.5 40 24 13 55
21611-32-32 27X11.5 50 32 16 70

S1

21612
2 g

A

L HINPSMNIBLI60° 4Nk ] 2 4

% NPSM FEMALE 60° CONE FOR SPIRAL HOSE
foi B4R fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE AFRPAAEDN | A5 “SDASH C S1
21612-08-08 1/27X14 12 08 8 21
21612-12-12 3/47X14 20 12 11.5 32
21612-16-16 17X11. 5 25 16 11.5 41
21612-20-20 | 1.1/4"X11.5 32 20 12 50
21612-24-24 | 1.1/2"X11.5 40 24 13 55
21612-32-32 27X11.5 50 32 16 70




21641

45° ZEHINPSMNBRL60° HMHETH
45° NPSM FEMALE 60° CONE

RE WELE Jit HOSE BORE JX  ~F DIMENSIONS

PART NO. THREADE N #r 5DASH C S1 H
21641-04-04 1/47X18 6 04 5.5 19 23
21641-06-06 3/87X18 10 06 6.5 22 25
21641-08-08 1/27X14 12 08 8 27 27.7
21641-12-12 3/47X14 20 12 11.5 32 34
21641-16-16 1”7X11.5 25 16 11.5 41 35
21641-20-20 1.1/47X11.5 32 20 12 50 39.3
21641-24-24 1.1/2”X11.5 40 24 13 95 44.4
21641-32-32 27X11.5 50 32 16 70 63. 4

21642

45° FEHINPSMPYRRSL60° A1k M 9 5845

45° NPSM FEMALE 60° CONE FOR SPIRAL HOSE

o B LR 112 HOSE BORE &~} DIMENSIONS

PART NO. THREADE RN Fr S DASH C S1 H
21642-08-08 1/27X14 12 08 8 27 27.7
21642-12-12 3/47X14 20 12 11.5 32 34
21642-16-16 1”7X11.5 25 16 11.5 41 35
21642-20-20 | 1.1/4”X11.5 32 20 12 50 39.3
21642-24-24 | 1.1/2”X11.5 40 24 13 55 44. 4
21642-32-32 2”X11. 5 50 32 16 70 63. 4




fﬂfhlmmg
// 21691

90° EHINPSMNIRELC60° Ak
( 90° NPSM FEMALE 60° CONE

sk =

60°
e ELE Ji¢ 4 HOSE BORE R~ DIMENSIONS

PART NO. THREADE | AFRA4ZDN | 4% SDASH C st H
21691-04-04 1/47X18 6 04 5.5 19 33
21691-06-06 3/87X18 10 06 6.5 22 39
21691-08-08 1/27X14 12 08 8 27 46
21691-12-12 3/47X14 20 12 11.5 32 59.5
21691-16-16 1"X11.5 25 16 11.5 41 74.5
21691-20-20 | 1.1/4"X11.5 32 20 12 50 85.5
21691-24-24 | 1.1/2°X11.5 40 24 13 55 97.5
21691-32-32 2”X11.5 50 32 16 70 123

21692

_}/ 7B 90° SLHINPSMPYHRE60° HMETHIESE E
51 90° NPSM FEMALE 60° CONE FOR SPIRAL HOSE

60°
e LR fi: %% HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFRINAEDN | b5 S DASH C St H
21692-08-08 1/27X14 12 08 8 27 46
21692-12-12 3/47X14 20 12 11.5 32 59.5
21692-16-16 1"X11. 5 25 16 11.5 41 74.5
21692-20-20 | 1.1/4”X11.5 32 20 12 50 85.5
21692-24-24 | 1.1/2"X11.5 40 24 13 55 97.5
21692-32-32 2”X11.5 50 32 16 70 123




S1

T 18611

o
K A A ISMBLL60° Sk
JIS METRIC MALE 60° CONE SEAT
foi B AR fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE AFRPAAEDN | F5 “SDASH C S1
18611-14-04 M14X1. 5 6 04 17 17
18611-16-05 M16X1. 5 08 05 18 19
18611-18-06 MI8X1. 5 10 06 18 22
18611-22-08 M22X1. 5 12 08 20 24
18611-24-10 M24X1. 5 16 10 21.5 27
18611-30-12 M30X1. 5 22 12 26 32
18611-33-16 M33X1. 5 25 16 30 36
18611-36-20 M36X1. 5 32 20 33 46
18611-42-24 M42X1. 5 40 24 36 50
c s1
| 18612
&z W = ~ HAAHISMRLI60° SME T JESE
JIS METRIC MALE 60° CONE SEAT
SPIRAL HOSE
o LR fiz & HOSE BORE JU < DIMENSIONS

PART NO. THREADE AFRAAEDN | F5 SDASH C S1
18612-22-08 M22X1. 5 12 08 20 24
18612-24-10 M24X1. 5 16 10 21.5 27
18612-30-12 M30X1. 5 22 12 26 32
18612-33-16 M33X1. 5 25 16 30 36
18612-36-20 M36X1. 5 32 20 33 46
18612-42-24 M42X1. 5 40 24 36 50




28611

H A A P IREL60 ° PIHETHT RN A
JIS METRIC FEMALE 60° CONE
SEAT DOUBLE HEXAGON

c
e HALE fiZ % HOSE BORE R~} DIMENSTONS

PART NO. THREADE | AFBRAAZDN | 4% EDASH C s1 s2
28611-14-04 M14X1. 5 6 04 12 19 19
28611-16-05 M16X1. 5 08 05 9.5 22 19
28611-18-06 M18X1. 5 10 06 11 24 24
28611-22-08 M22X1. 5 12 08 14 27 27
28611-24-10 M24X1. 5 16 10 13.5 32 32
28611-30-12 M30X1. 5 22 12 20 36 36
28611-33-16 M33X1. 5 25 16 20.5 41 41
28611-36-20 M36X1. 5 32 20 20.5 46 46
28611-42-24 M42X1. 5 40 24 18.5 55 55

s1 52

[ o
A¢4%M%%%%z H A il N IRSC60 ° P 4E I XS A g 56
%% JIS METRIC FEMALE 60° CONE SEAT

DOUBLE HEXAGON FOR SPIRAL HOSE

c
T 4R Ji& % HOSE BORE J& b DIMENSIONS
PART NO. THREADE | AFRAEDN | ki SDASH C s1 s2
28612-22-08 M22X1. 5 12 08 14 27 27
28612-24-10 M24X1. 5 16 10 13.5 32 32
28612-30-12 M30X1. 5 22 12 20 36 36
28612-33-16 M33X1. 5 25 16 20. 5 41 41
28612-36-20 M36X1. 5 32 20 20. 5 16 16
28612-42-24 M42X1. 5 40 24 18.5 55 55




//7WWmmM— 28641

45° HAR | NIRE60° A HETH
45° JIS METRIC FEMALE 60° CONE SEAT

e LR fi & HOSE BORE R~} DIMENSIONS
PART NO. THREADE [ AFKAAEDN | b5 5 DASH C s1 H
28641-14-04 M14X1. 5 6 04 12 19 21.3
28641-16-05 M16X1. 5 08 05 9.5 22 24.3
28641-18-06 MI8X1. 5 10 06 11 24 24.9
28641-22-08 M22X1. 5 12 08 14 27 27.2
28641-24-10 M24X1. 5 16 10 13.5 32 29.9
28641-30-12 M30X1. 5 22 12 20 36 33.5
28641-33-16 M33X1. 5 25 16 20.5 41 35.7
28641-36-20 M36X1. 5 32 20 20.5 46 41.9
28641-42-24 M42X1. 5 10 24 18.5 55 45.5

o LI, 28642

45° HARNHINIRE60° WHE iS4
45° JIS METRIC FEMALE 60° CONE SEAT
SPIRAL HOSE

R 18 5E JiX % HOSE BORE R~} DIMENSIONS
PART NO. THREADE AFRANEDN | #5 SDASH C S1 H
28642-22-08 M22X1. 5 12 08 14 27 27.2
28642-24-10 M24X1. 5 16 10 13.5 32 29.9
28642-30-12 M30X1. 5 22 12 20 36 33.5
28642-33-16 M33X1. 5 25 16 20.5 41 35.7
28642-36-20 M36X1. 5 32 20 20. 5 46 41.9
28642-42-24 M42X1. 5 40 24 18.5 55 45.5




28691

90° HAAH|HIRS60° PHEM

[r; L 90° JIS METRIC FEMALE 60° CONE SEAT
N%e. 2°
E
e BT HOSE BORE N ~F DIMENSIONS
PART NO. THREADE % SDASH C Sl i
28691-14-04 M14X1. 5 04 12 19 38
28691-16-05 M16X1. 5 05 9.5 29 44
28691-18-06 MI8XL. 5 06 11 24 16.3
28691-22-08 M22X1. 5 08 14 27 52.5
28691-24-10 M24X1. 5 10 13.5 32 59
28691-30-12 M30X1. 5 12 20 36 68. 5
28691-33-16 M33X1. 5 16 20. 5 a1 76
28691-36-20 M36X1. 5 20 20. 5 46 90
28691-42-24 M42X1. 5 24 18.5 55 103
i 98692
90° H A A A IRL60° P4 JELR
90° JIS METRIC FEMALE
ﬂ/Lylly\ : © 60° CONE SEAT FOR SPIRAL HOSE
s AR Ji. & HOSE BORE ]\ ] DIMENSIONS
PART NO. THREADE 7 % SDASH C Sl i
28692-22-08 M22X1. 5 08 14 27 52.5
28692-24-10 M24X1. 5 10 13.5 32 59
28692-30-12 M30X1. 5 12 20 36 68. 5
28692-33-16 M33X1. 5 16 20. 5 a1 76
28692-36-20 M36X1. 5 20 20. 5 46 90
28692-42-24 M42X1. 5 24 18.5 55 103




S1

29611
o
H A S N IRZ060° P HET
JIS GAS FEMALE 60° CONE SEAT
C

e HE 4R JiX % HOSE BORE J& <} DIMENSIONS

PART NO. THREADE AFRAFEDN | b7 EDASH S1
29611-04-04 G1/4” 6 04 19
29611-06-06 63/8” 10 06 8.5 22
29611-08-08 G1/2” 12 08 10.5 27
29611-12-12 G3/4” 22 12 12 32
29611-16-16 G1” 25 16 14.5 41
29611-20-20 Gl.1/4” 32 20 16 50
29611-24-24 Gl1.1/2” 40 24 18 55
29611-32-32 62" 50 32 24 70

S1
296012
o e
W ez H A il (N RRZ60 ° P HE I 2 52
2 JIS GAS FEMETRIC 60° CONE SEAT
o FOR SPIRAL HOSE

e LR fi 4 HOSE BORE R~} DIMENSIONS

PART NO. THREADE AFRNAEDN | FF SDASH C S1
29612-08-08 G1/2” 12 08 10.5 27
29612-12-12 G3/4” 22 12 12 32
29612-16-16 G1” 25 16 14.5 41
29612-20-20 Gl.1/4” 32 20 16 50
29612-24-24 G1.1/2” 40 24 18 55
29612-32-32 62” 50 32 24 70




29641

45° HASTLH| P IES60° P HEHE

45° JIS GAS FEMALE 60° CONE SEAT

RE WL Jit HOSE BORE JU <t DIMENSIONS
PART NO. THREADE Nk #r 5DASH C S1 H
29641-04-04 G1/4” 6 04 19 21.3
29641-06-06 G3/8” 10 06 8.5 22 24.6
29641-08-08 G1/2” 12 08 10.5 27 27.5
29641-12-12 G3/4” 22 12 12 32 33.9
29641-16-16 G1” 25 16 14.5 41 36
29641-20-20 Gl.1/4” 32 20 16 50 46. 5
29641-24-24 Gl.1/2” 40 24 18 55 50. 8
29641-32-32 G2” 50 32 24 70 60

29642

45° HAILH AERE60° A HEMJE58E

45° JIS GAS FEMETRIC 60° CONE SEAT

FOR SPIRAL HOSE

o 2 5E Jhz HOSE BORE <] DIMENSIONS
PART NO. THREADE R Fr SDASH C S1 H
29642-08-08 G1/2” 12 08 10.5 27 27.5
29642-12-12 G3/4” 22 12 12 32 33.9
29642-16-16 Gl” 25 16 14.5 41 36
29642-20-20 Gl. 1/4” 32 20 16 50 46.5
29642-24-24 Gl.1/2” 40 24 18 55 50. 8
29642-32-32 62" 50 32 24 70 60




29691

90°  H AL IRE60° A HETH
90° JIS GAS FEMALE 60° CONE SEAT

o B4R fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE NFRNAEDN | kr SDASH S1 H
29691-04-04 G1/4” 6 04 19 32.5
29691-06-06 G3/8” 10 06 8.5 22 39
29691-08-08 G1/2” 12 08 10.5 27 42.5
29691-12-12 G3/4” 22 12 12 32 57.5
29691-16-16 Gl1” 25 16 14.5 41 76.5
29691-20-20 Gl.1/4” 32 20 16 50 83
29691-24-24 Gl.1/2” 40 24 18 55 92.5
29691-32-32 G2” 50 32 24 70 115
///”_ﬂ1hﬂTHTEHIin
: Z‘” 29692
L 90° HAZH|NIRS60° WHEM IS E
s 2 < 90° JIS GAS FEMETRIC 60° CONE SEAT
J::fi:::> o FOE SPIRAL HOSE
R HELLE fiz & HOSE BORE SO 5F DIMENSIONS
PART NO. THREADE NFRNAEDN | b= SDASH C S1 H

29692-08-08 G1/2” 12 08 10.5 27 42.5
29692-12-12 G3/4” 22 12 12 32 57.5
29692-16-16 Gl” 25 16 14.5 41 76.5
29692-20-20 Gl.1/4” 32 20 16 50 83
29692-24-24 Gl.1/2” 40 24 18 55 92.5
29692-32-32 G2” 50 32 24 70 115




88

112

[am)
<l
%za GUTTT = H fil)yg: 2 g e iy
JIS PLANGE SPIRAL HOSE
Re iR~ & % HOSE BORE N <F DIMENSIONS
PART NO. FLANGE SIZE | AF{PN4EDN #r ‘5 DASH C D L
88112-10-10 5/8” 16 10 34. 2 27.8 6.7

Hydraulic Hoses

ok RS MG TR R

Remark:The part no inside the table is also suitable for braidde

— (HimmrrT

88142

A
=| /~
45° HliNE G
45° JIS PLANGE SPIRAL HOSE
) V2 B Ji % HOSE BORE R ~F DIMENSTONS
PART NO. FLANGE SIZE | AFRNAEDN | #x SDASH C D L H
88142-10-10 5/8” 16 10 34.2 27.8 6.7 25.3

FVE RS Il T o U

Hydraulic Hoses

Remark:The part no inside the table is also suitable for braidde

88192

= 90° H vk L gusse
# 5 D 90° JIS PLANGE SPIRAL HOSE
C
R 2L i % HOSE BORE &~} DIMENSTONS
PART NO. FLANGE SIZE | AWKN4EDN | #r “5DASH C D L H
88192-10-10 5/8” 16 10 34.2 | 27.8 6.7 53

Hydraulic Hoses

s

FUE RS Il T o U

Remark:The part no inside the table is also suitable for braidde




87312

} T

%d Rl SAE V£*£3000PSIZESE
SAE PLANGE3000PSI SPIRAL HOSE
=2 LR fig % HOSE BORE JU < DIMENSIONS
PART NO. | FLANGE SIZE [ AFRPFDN | b SDASH C D L
87312-08-08 1/2” 12 08 30.2 23.9 7
87312-12-12 3/4" 20 12 38.1 31.7 7
87312-16-16 I 25 16 44. 4 38 8.2
87312-20-20 1.1/4” 32 20 50.8 43.2 8.2
87312-24-24 1.1/2 40 24 60. 3 50.3 8.2
87312-32-32 2" 50 32 1.4 62. 2 9.8

ok RS MG TR R

Hydraulic Hoses

Remark:The part no inside the table is also suitable for braidde

i

87612

o =
%ﬂ Y/ i SAE {£246000PST 48485
SAE PLANGE6000PSI SPIRAL HOSE
5 i) fii & HOSE BORE R~} DIMENSIONS
PART NO. FLANGE SIZE [ ABKMADN | # =DASH C D L
87612-08-08 1/2” 12 08 31.8 23.9 7.9
87612-12-12 3/4” 20 12 41.3 31.7 8.9
87612-16-16 1 25 16 47.6 38 9.6
87612-20-20 1.1/4” 32 20 54 43.6 10. 4
87612-24-24 1.1/2” 40 24 63.5 50.8 12.7
87612-32-32 9" 50 32 79.4 66. 5 12.7

BV R RS WE T g S

Hydraulic Hoses

Remark:The part no inside the table is also suitable for braidde




87342

4 -
= 7 &E
45° SAE %:2£3000PS1ZEEEE
45° SAE PLANGE3000PSI SPIRAL HOSE
R A Ji& %% HOSE BORE R <F DIMENSIONS
PART NO. FLANGE SIZE | AFRWN4EDN | #r ‘SDASH C D L H
87342-08-08 1/2” 12 08 30. 2 23.9 7 23.3
87342-12-12 3/4” 20 12 38. 1 31.7 7 29.6
87342-16-16 17 25 16 44. 4 38 8.2 30. 4
87342-20-20 1.1/47 32 20 50.8 43.2 8.2 34.5
87342-24-24 1.1/2” 40 24 60. 3 50. 3 8.2 42
87342-32-32 27 50 32 71.4 62. 2 9.8 49.1
FE RS HEH T Remark:The part no inside the table is also suitable for braidde

Hydraulic Hoses

87642

X u
=
45° SAE y2:226000PST4H%E4
45° SAE PLANGE6000PSI SPIRAL HOSE
= IR~ 2 % HOSE BORE J& <] DIMENSTONS
PART NO. FLANGE STZE | ABRNAEDN | k% =DASH C D L H
87642-08-08 1/2” 12 08 31.8 23.9 7.9 24. 7
87642-12-12 3/4” 20 12 41.3 31.7 8.9 31.8
87642-16-16 17 25 16 47.6 38 9.6 34
87642-20-20 1.1/47 32 20 54 43.6 10. 4 39.4
87642-24-24 1.1/27 40 24 63.5 50.8 12.7 45.5
87642-32-32 2”7 50 32 79. 4 66. b 12.7 52.7

FVE RS Il T o U

Hydraulic Hoses

Remark:The part no inside the table is also suitable

for braidde




87392

= 90° SAE ¥£243000PS14EZEE

g D 90° SAE PLANGE3000PST SPIRAL HOSE
C

= VL) Ji¢ i HOSE BORE JU < DIMENSIONS
PART NO. FLANGE SIZE | AFRWNAEDN | F5 “SDASH C D L H
87392-08-08 1/2” 12 08 30.2 23.9 7 47
87392-12-12 3/4” 20 12 38.1 31.7 7 59
87392-16-16 17 25 16 44. 4 38 8.2 73
87392-20-20 1.1/4” 32 20 50.8 | 43.2 | 8.2 83
87392-24-24 1.1/2" 40 24 60.3 | 50.3 | 8.2 97
87392-32-32 2" 50 32 7.4 | 62.2 [ 9.8 | 118

FlE RS thE T UK

Hydraulic Hoses

et

B Remark:The part no inside the table is also suitable for braidde

87692

= 90° SAE {%:226000PSI 4L
B D 90° SAE PLANGE6000PSI SPIRAL HOSE
=
5 I URS Ji¢ % HOSE BORE R~} DIMENSIONS
PART NO. FLANGE SIZE | AFRMNAEDN | 45 SDASH C D L H
87692-08-08 1/2” 12 08 3.8 | 23.9 | 7.9 49
87692-12-12 3/4” 20 12 41.3 | 31.7 | 8.9 | 63.9
87692-16-16 1” 25 16 47.6 38 9.6 76
87692-20-20 1.1/4” 32 20 54 43.6 | 10.4 | 87.9
87692-24-24 1.1/2" 40 24 63.5 | 50.8 | 12.7 103
87692-32-32 2" 50 32 79.4 | 66.5 | 12.7 124

ok RS MG TR R

Hydraulic Hoses

Remark:The part no inside the table is also suitable for braidde




1

87313

SAE ¥£223000PST N 480
SAE PLANGE3000PST LNTERLOCK

o2 2L A i3 HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | A% & ‘SDASH C D

87313-08-08 1/2” 12 08 30. 2 23.9
87313-12-12 3/4” 20 12 38.1 31.7 7
87313-16-16 17 25 16 44. 4 38 8.2
87313-20-20 1.1/4” 32 20 50. 8 43.2 8.2
87313-24-24 1.1/27 40 24 60. 3 50. 3 8.2
87313-32-32 27 50 32 71.4 62.2 9.8

L

i 87613
%' SAE ¥%*£6000PST 4420
. SAE PLANGE600OPSI LNTERLOCK
e LA i HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | ARN% & ‘SDASH C D L

87613-08-08 1/27 12 08 31.8 23.9 7.9
87613-12-12 3/4” 20 12 41. 3 31.7 8.9
87613-16-16 17 25 16 47.6 38 9.6
87613-20-20 1.1/4” 32 20 54 43.6 10.4
87613-24-24 1.1/27 40 24 63.5 50.8 12.7
87613-32-32 2”7 50 32 79. 4 66. b 12.7




I 1 1 8r313L

7 R SAE ¥%:2£3000PST Py 8 2 it
 — SAE PLANGE3000PSI LNTERLOCK
STRENGTHEN

o V2L T fi2 % HOSE BORE JU <} DIMENSIONS
PART NO. | FLANGE SIZE [ AFRNADN | 45 SDASH C D L
87313L-20-20 1.1/4” 32 20 50. 8 43.2 8.2
87313L-24-24 1.1/2" 40 24 60. 3 50.3 8.2
87313L-32-32 2" 50 32 71.4 62. 2 9.8

D

O LR 87613L

fﬁj YL SAE ¥:226000PST P 41 =i s
SAE PLANGE6000PST LNTERLOCK
STRENGTHEN
e Yo 2 T J§ % HOSE BORE J ~F DIMENSIONS
PART NO. FLANGE SIZE | AFRAEDN | 45 “SDASH C D L
87613L-20-20 1.1/4” 32 20 54 43.6 10. 4
87613L-24-24 1.1/2”7 40 24 63.5 50. 8 12.7
87613L-32-32 27 50 32 79. 4 66. 5 12.7




T
—

87343

Q 4 Tz
= A
45° SAE 7£2£3000PST Py 8=
45° SAE PLANGE3000PSI LNTERLOCK
5 i =) fiz & HOSE BORE J& ~F DIMENSIONS

PART NO. FLANGE SIZE | AFRWNAEDN | & “SDASH C D L H
87343-08-08 1/2” 12 08 30.2 23.9 7 23.3
87343-12-12 3/4” 20 12 38.1 31.7 7 29.6
87343-16-16 17 25 16 44. 4 38 8.2 30.4
87343-20-20 1.1/4” 32 20 50. 8 43.2 8.2 34.5
87343-24-24 1.1/27 40 24 60. 3 50.3 8.2 42
87343-32-32 27 50 32 71.4 62. 2 9.8 49. 1

870643
45° SAE ¥£2£6000PST N8k
45° SAE PLANGE6000PSI LNTERLOCK
KE Y2 T 2 % HOSE BORE JX <} DIMENSTONS

PART NO. FLANGE SIZE | AFRAEDN | 4% SDASH C D L H
87643-08-08 1/2” 12 08 31.8 23.9 7.9 24. 7
87643-12-12 3/4” 20 12 41.3 31.7 8.9 31.8
87643-16-16 17 25 16 47.6 38 9.6 34
87643-20-20 1.1/47 32 20 54 43.6 10.4 39.4
87643-24-24 1.1/27 40 24 63.5 50.8 12.7 45.5
87643-32—-32 2”7 50 32 79. 4 66. b 12.7 52.7




87343L

9 .
=
45° SAE ¥£223000PST N8 = nss
45° SAE PLANGE3000PST LNTERLOCK
STRENGTHEN
B i J& % HOSE BORE JU <f DIMENSIONS
PART NO. FLANGE SIZE | A®{PN4EDN #r “5DASH C D L H
87343L-20-20 1.1/4” 32 20 50. 8 43. 2 8.2 34.5
873431L-24-24 1.1/2” 40 24 60. 3 50. 3 8.2 42
873431L.-32-32 27 50 32 71. 4 62.2 9.8 49.1

87643L

_ /? R
45° SAE ¥%226000PST P44 =g
45° SAE PLANGE600OPSI LNTERLOCK
STRENGTHEN
= LU= Jii % HOSE BORE R~} DIMENSIONS
PART NO. FLANGE SIZE | A®RWNAEDN | #5 “SDASH C D L H
87643L-20-20 1.1/4” 32 20 54 43.6 10. 4 39.4
87643L-24-24 1.1/27 40 24 63.5 50.8 12.7 45.5
87643L-32-32 27 50 32 79. 4 66. 5 12.7 52. 7




~~[HHrmm

87393

- 90° SAE ¥%:223000PST Py 4tz
g 90° SAE PLANGE3000PSI LNTERLOCK
=
5 i =) fii & HOSE BORE J& ~F DIMENSIONS
PART NO. FLANGE SIZE | AFRINAEDN | #» SDASH C D L H
87393-08-08 1/2” 12 08 30. 2 23.9 7 47
87393-12-12 3/4” 20 12 38.1 31.7 7 59
87393-16-16 17 25 16 44. 4 38 8.2 73
87393-20-20 1.1/4” 32 20 50. 8 43.2 8.2 83
87393-24-24 1.1/27 40 24 60. 3 50.3 8.2 97
87393-32-32 27 50 32 71.4 62. 2 9.8 118
- 90° SAE :226000PSI P4t
g 90° SAE PLANGE6000OPSI LNTERLOCK
=
= IR~ 2 % HOSE BORE JX <} DIMENSTONS
PART NO. FLANGE SIZE | AFKPAEDN | k& =DASH C D L H
87693-08-08 1/2” 12 08 31.8 23.9 7.9 49
87693-12—-12 3/4” 20 12 41.3 31.7 8.9 63.9
87693-16-16 17 25 16 47.6 38 9.6 76
87693-20-20 1.1/47 32 20 54 43.6 10. 4 87.9
87693-24-24 1.1/27 40 24 63.5 50.8 12. 7 103
87693-32-32 27 50 32 79. 4 66. 5 12.7 124




87393L

= 90° SAE ¥%23000PST P44 = fn s
D 90° SAE PLANGE3000PSI LNTERLOCK
= = STRENGTHEN
foi i =) Jiz & HOSE BORE JU <F DIMENSIONS
PART NO. FLANGE SIZE | ABRNAEDN | #5 SDASH C D L H
87393L-20-20 1.1/4” 32 20 50. 8 43.2 8.2 83
87393L-24-24 1.1/2” 40 24 60. 3 50. 3 8.2 97
87393L-32-32 2”7 50 32 71.4 62.2 9.8 118
< il 87693L
= 90° SAE ¥££26000PST A4 A mss
D 90° SAE PLANGE6000PSI LNTERLOCK
= = STRENGTHEN
RE Yo 2 T & & HOSE BORE JU <+ DIMENSIONS
PART NO. FLANGE SIZE | AFRPI4ZDN | #» ‘SDASH C D L H
87693L-20-20 1.1/4” 32 20 54 43.6 10.4 87.9
87693L-24-24 1.1/27 40 24 63.5 50.8 12.7 103
87693L-32-32 27 50 32 79. 4 66. 5 12.7 124




87

912

o
£g7:r44/ SAE 7%%29000PS1 45484
SAE PLANGE9000OPSI SPIRAL HOSE
R 2L T & HOSE BORE J] <} DIMENSIONS
PART NO. FLANGE SIZE | AFRNAEDN | #x SDASH C D L
87912-08-08 1/2” 12 08 31.8 23.9 14. 3
87912-12-12 3/4” 20 12 41. 3 31.7 14. 3
87912-16-16 17 25 16 47.6 38 14. 3
87912-20-20 1.1/47 32 20 54 43.6 14. 3
87912-24-24 1.1/27 40 24 63.5 50. 8 14. 3
87912-32-32 27 50 32 79. 4 66. 5 14. 3

87

942

45° SAE 7%229000PSTZH L
45° SAE PLANGE900OPST SPIRAL HOSE

R V2L T 2 JiX % HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE | A®RHNAEDN | #5 5DASH C D L H
87942-08-08 1/2” 12 08 31.8 | 23.9 | 14.3 | 30.5
87942-12-12 3/4” 20 12 41.3 | 31.7 | 14.3 | 35.6
87942-16-16 1” 25 16 47.6 38 14.3 | 37.5
87942-20-20 1.1/4” 32 20 54 43.6 | 14.3 | 42.3
87942-24-24 1.1/2” 40 24 63.5 | 50.8 | 14.3 | 46.9
87942-32-32 2" 50 32 79.4 | 66.5 | 14.3 | 61.5




87913L

;iyir“’ LI SAE ¥%229000PST P4 4 = n o
SAE PLANGE9000PSI LNTERLOCK
STRENGTHEN
=t L A fiz % HOSE BORE JU <t DIMENSIONS
PART NO. FLANGE SIZE | AFXNAEDN | #5r S DASH C D L
87913L-20-20 1.1/4” 32 20 54 43.6 14. 3
87913L-24-24 1.1/27 40 24 63.5 50.8 14. 3
87913L-32-32 27 50 32 79. 4 66. 5 14. 3
e 1111 111111 87943L
. 7 45° SAE ¥£*29000PST A 8 =L hn s
45° SAE PLANGE900OPSI LNTERLOCK
- STRENGTHEN
e ik fiz % HOSE BORE R~} DIMENSIONS
PART NO. FLANGE SIZE | ARRNEDN | 4% SDASH C D L H
87943L-20-20 1.1/4” 32 20 54 43.6 14. 3 42.3
87943L-24-24 1.1/2” 40 24 63.5 50. 8 14. 3 46.9
87943L-32-32 27 50 32 79.4 66. 5 14.3 61.5




87943

45° SAE ¥:229000PST N 4 =,
45° SAE PLANGE900OPST LNTERLOCK

5 i =) fiz & HOSE BORE J& ~F DIMENSIONS
PART NO. FLANGE SIZE | AFRWNAEDN | & “SDASH C D L H
87943-08-08 1/2” 12 08 31.8 23.9 14.3 30.5
87943-12-12 3/4” 20 12 41.3 31.7 14.3 35.6
87943-16-16 17 25 16 47.6 38 14. 3 37.5
87943-20-20 1.1/4” 32 20 54 43.6 14. 3 42.3
87943-24-24 1.1/27 40 24 63.5 50. 8 14. 3 46.9
87943-32-32 27 50 32 79.4 66. 5 14. 3 61.5

iy 87993

= 90° SAE ¥£*29000PST A4 =\,
[ D 90° SAE PLANGE9000PSI LNTERLOCK
=l 7
C
= LU= Jii % HOSE BORE R~} DIMENSIONS
PART NO. FLANGE SIZE | ARRMNAEDN | 5 SDASH C D L H
87993-08-08 1/2” 12 08 31.8 23.9 14. 3 40.5
87993-12-12 3/4” 20 12 41.3 31.7 14. 3 71.5
87993-16-16 17 25 16 47.6 38 14. 3 78.5
87993-20-20 1.1/4” 32 20 54 43.6 14. 3 90.5
87993-24-24 1.1/2” 40 24 63.5 50.8 14. 3 105
87993-32-32 27 50 32 79. 4 66. 5 14. 3 124




87992

e ) 90° SAE 1:>:9000PST 4 £e
il 90° SAE PLANGE900OPSI SPIRAL HOSE
C
R EERIURE fi& & HOSE BORE L~} DIMENSIONS
PART NO. FLANGE SIZE | AFRINAEDN | #» SDASH C D L H
87992-08-08 1/2” 12 08 31.8 23.9 14.3 40. 5
87992-12-12 3/4” 20 12 41.3 31.7 14.3 69. 3
87992-16-16 17 25 16 47.6 38 14. 3 80. 7
87992-20-20 1.1/4” 32 20 54 43.6 14. 3 91.8
87992-24-24 1.1/2” 40 24 63.5 50. 8 14. 3 104. 6
87992-32-32 27 50 32 79. 4 66. 5 14. 3 124

87913

SAE ¥£226000PST 810
SAE PLANGE600OPST LNTERLOCK

4

5 i) fii & HOSE BORE &~} DIMENSIONS
PART NO. FLANGE SIZE [ ABKMAEDN | i SDASH C D L
87913-08-08 1/2” 12 08 31.8 23.9 14.3
87913-12-12 3/4” 20 12 41.3 31.7 14.3
87913-16-16 1 25 16 47.6 38 14.3
87913-20-20 1.1/4” 32 20 54 43.6 14.3
87913-24-24 1.1/2” 40 24 63.5 50. 8 14.3
87913-32-32 9" 50 32 79.4 66.5 14.3




87993L

90° SAE 3£229000PST &= nom
90° SAE PLANGE900OPSI LNTERLOCK

8%, STRENGTHEN
c
e LT Jii & HOSE BORE R~} DIMENSIONS
PART NO. | FLANGE SIZE [ AFKADN | ki =DASH C D L H
879931.-20-20 1.1/4” 32 20 54 | 43.6 | 14.3 | 90.5
879931.-24-24 1.1/2" 40 24 63.5 | 50.8 | 14.3 | 105
879931.-32-32 2” 50 32 79.4 | 66.5 | 14.3 | 124




>
——| M 30011
[£a] Bee] —
O P BR S i R K sk
METRIC FEMALE WATERWASH INSERTS
s R Ji& % HOSE BORE R I DIMENSTONS
PART NO. THREADE INFRNAEDN 1 “5DASH d
30011-22-04 M22X1. 5 6 04 14
30011-22-05 M22X1. 5 8 05 14
30011-22-06 M22X1. 5 10 06 14
7% W YR R A P45 3k

MT STAPLELOCK MALE

=) Jii % HOSE BORE R~} DIMENSIONS

PART NO. AFRAEDN | k5 SDASH d D C
60011-04-04 6 04 11 16 25
60011-05-05 8 05 13 18 26
60011-06-06 10 06 15 18 26
60011-08-06 10 06 18 22 26
60011-08-08 12 08 18 22 26
60011-10-10 16 10 20 25 30
60011-12-12 20 12 24 28 31
60011-16-14 22 14 30 36 31
60011-16-16 25 16 30 36 31




C 50011
1] H
Y/ i DIN2353 423t ke R 41 E

METRIC STAND PIPE STRAIGHT L. T.DIN2353

PAS?@. %; [% é’*&%D . ;; /;g;N HOS;; B%RSASH - JU < DIMENSTIONS
50011-06-04 6 6 04 19
50011-10-05 10 8 05 23
50011-10-06 10 10 06 23
50011-12-06 12 10 06 22
50011-15-08 15 12 08 25
50011-18-10 18 16 10 26
50011-22-10 22 16 10 26
50011-22-12 22 20 12 28
50011-28-16 28 25 16 30
50011-35-20 35 32 20 36

: 51011

QL I, DIN2353- R & R I HE
3/ METRIC STAND PIPE STRAIGHT L.T.DIN2353

o= " ThME D & % HOSE BORE JX < DIMENSTIONS

PART NO. TUBE 0.D ANFRNAEDN | A5 2DASH C
51011-04-02 4 4 02 17
51011-06-04 6 6 04 19
51011-08-05 8 8 05 19
51011-08-06 8 10 06 19
51011-12-08 12 12 08 22
51011-16-08 16 12 08 22
51011-16-10 16 16 10 22
51011-18-12 18 20 12 24
51011-22-12 22 20 12 28
51011-22-14 22 22 14 28
51011-28-16 28 25 16 30
51011-34-20 34 32 20 33
51011-42-24 42 40 24 35




— 50041

45° REXR (&) 295 E
45° METRIC STANDPIPE STRAIGHT L(H).T.

R B4R D Ji 4% HOSE BORE R~} DIMENSIONS
PART NO. TUBE 0.D AFRAEDN | br SDASH o H
50041-06-04 06 6 04 19 30. 1
50041-08-04 08 6 04 24 31.5
50041-08-05 08 8 05 24 32.4
50041-08-06 08 10 06 24 33.1
50041-10-04 10 6 04 26 31.9
50041-10-05 10 8 05 23 30.6
50041-10-06 10 10 06 23 31.3
50041-12-04 12 6 04 26 35. 1
50041-12-05 12 8 05 26 35.9
50041-12-06 12 10 06 22 34.5
50041-12-08 12 12 08 23 37.4
50041-14-06 14 10 06 29 37.3
50041-14-08 14 12 08 29 38.8
50041-14-12 14 20 12 29 43.8
50041-16-08 16 12 08 30 41.7
50041-16-10 16 16 10 30 43
50041-20-10 20 16 10 36 48
50041-20-12 20 20 12 36 52.6
50041-22-10 22 16 10 28 42.3
50041-22-12 22 20 12 28 45.9
50041-22-16 22 25 16 28 46.7
50041-25-12 25 20 12 40 54. 4
50041-25-16 25 25 16 40 55. 2
50041-28-16 28 25 16 30 49.5
50041-30-16 30 25 16 44 59. 4
50041-30-20 30 32 20 44 63.5
50041-35-20 35 32 20 36 57.8




e 50091

90° FENX (F) Ry|EE
90° METRIC STANDPIPE STRAIGHT L (H).T.

.|
KRE ETAE D 2 %% HOSE BORE . ~f DIMENSIONS

PART NO. TUBE 0.D AFRHNAEDN | bR S DASH C H
50091-06-04 6 6 04 19 48
50091-08-05 8 8 05 24 55.5
50091-08-06 8 10 06 24 57.8
50091-10-05 10 8 05 23 53
50091-10-06 10 10 06 23 55. 3
50091-12-06 12 10 06 22 59.8
50091-12-08 12 12 08 23 67
50091-14-06 14 10 06 29 63. 8
50091-14-08 14 12 08 29 69
50091-14-12 14 20 12 29 83
50091-15-06 15 12 06 25 65
50091-16-08 16 12 08 30 73
50091-18-08 18 12 08 26 68.5
50091-18-10 18 16 10 26 73
50091-20-10 20 16 10 36 84.5
50091-20-12 20 20 12 36 95. 5
50091-22-10 22 16 10 28 76.5
50091-22-12 22 20 12 28 86
50091-22-16 22 25 16 28 91.5
50091-25-12 25 20 12 40 98
50091-25-16 25 25 16 40 103.5
50091-28-16 28 25 16 30 95. 5
50091-30-16 30 25 16 44 109. 5
50091-30-20 30 32 20 44 120. 5
50091-38-16 38 25 16 50 115.5
50091-38-20 38 32 20 50 126. 5




|
ik

51041

oy s o
T / *ibbR R 2Eak00°
P X JB METRIC 90° STAND PIPE
R
¥ o v I DIMENSION

PXE;?NO- 05" é&ﬁf;a?giNHOS;%[i§§;SH C — H =
51041-06-04 6 6 04 19 30. 1
51041-08-05 8 8 05 19 32.4
51041-10-06 10 10 06 22 31.3
51041-14-08 14 12 08 22 38.8
51041-16-10 16 16 10 22 13
51041-18-12 18 20 12 21 13
510412214 22 22 14 28 15
51041-28-16 28 25 16 30 19.5
51041-34-20 34 32 20 33 57.8
51041-42-24 42 10 24 35 65

= | 51091
-
*E bR R ER90° B
JB METRIC 90° STAND PIPE
L]

P1§;3NO. B P4 D éiﬁf;ﬁ%iNHO%;i§%$;SH : RF D;MENSIONS
51091-06-04 6 6 04 19 50
51091-08-05 8 8 05 19 50
51091-10-06 10 10 06 22 58.8
51091-14-08 14 12 08 22 65
51091-16-10 16 16 10 22 69. 5
51091-18-12 18 20 12 24 82
51091-22-14 22 22 14 28 88
51091-28-16 28 25 16 30 95.5
51091-34-20 34 32 20 33 108. 5
51091-42-24 12 10 24 35 127




i

72011

=

\lgy/ /57 JERI AR

d BSP BANJO

e LR fi; % HOSE BORE J& <F DIMENSIONS

PART NO. THREADE AFRAWEDN | 45 EDASH d D H
72011-04-04 G1/4” 6 04 13.3 24 15
72011-04-05 G1/4” 8 05 13.3 24 15
72011-06-05 63/8” 10 06 16.7 29 20
72011-06-06 63/8” 10 06 16.7 29 20
72011-08-06 G1/2” 12 08 21 38 25
72011-08-08 G1/2” 12 08 21 38 25
72011-10-10 5/8” 16 10 23 40 27
72011-12-12 63/4” 20 12 26.5 46 31
72011-16-16 Gl” 25 16 33.3 60 42




i

70011

=
\’l%//f‘ér ““ AT IEDINT622
d METRIC BANJO DIN7622
R5 B Ji¢ & HOSE BORE JU sF DIMENSIONS

PART NO. THREADE ABRPAEDN | k5 SDASH d D H
70011-08-04 M8x1 6 04 8 20 13
70011-10-04 M10x1 6 04 10 22 13
70011-12-04 M12x1.5 6 04 12 20 12
70011-12-05 M12x1.5 8 05 12 20 12
70011-14-04 M14x1.5 6 04 14 24 14
70011-14-05 M14x1.5 8 05 14 24 14
70011-14-06 M14x1.5 10 06 14 24 14
70011-14-08 M14x1.5 12 08 14 24 14
70011-16-06 M16x1.5 10 06 16 28 16
70011-16-08 M16x1.5 12 08 16 28 16
70011-18-06 M18x1. 5 10 06 18 32 20
70011-18-08 M18x1. 5 12 08 18 32 20
70011-18-10 M18x1. 5 16 10 18 32 20
70011-20-08 M20x1. 5 12 08 20 36 22
70011-20-10 M20x1. 5 16 10 20 36 22
70011-22-08 M22x1.5 12 08 22 38 25
70011-22-10 M22x1. 5 16 10 22 38 25
70011-22-12 M22x1. 5 22 12 22 38 25
70011-26-12 M26x1. 5 22 12 26 46 30
70011-27-12 M27x1. 5 22 12 27 52 36
70011-30-12 M30x1. 5 22 12 30 54 36
70011-30-16 M30x1. 5 25 16 30 54 36
70011-33-16 M33x1.5 25 16 33 60 36




o 1 i 20011

a7 S T e s
DOUBLE CONNECTOR

o fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. AFRWAEDN | 4x S DASH L
90011-04-04 6 04 74
90011-05-05 8 05 78
90011-06-06 10 06 78
90011-08-08 12 08 86
90011-10-10 16 10 90
90011-12-12 20 12 99
90011-16-16 25 16 121
90011-20-20 32 20 129
90011-24-24 40 24 135
90011-32-32 50 32 165
: 90012
smiinyplililapiss
G e A RS
DOUBLE CONNECTOR
SPIRAL HOSE
foi fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. AFRWAEDN | F5 SDASH L
90012-08-08 12 08 94
90012-10-10 16 10 96
90012-12-12 20 12 113
90012-16-16 25 16 135
90012-20-20 32 20 157
90012-24-24 40 24 165
90012-32-32 50 32 175




j/éiifs 00518

z%%7| SAE 100 RoZKE B
FERRULE FOR SAE 100 R5 HOSE
S1
B J& % HOSE BORE JU st DIMENSIONS
PART NO. AFRINAEDN | ¥r SDASH L S1
00518-04-04 6 04 28 17
00518-05-05 8 05 30.5 19
00518-06-06 10 06 33 22
00518-08-08 12 08 42 24
00518-10-10 16 10 45.5 30
00518-12-12 20 12 53.5 32
00518-16-16 25 16 42 36
00518-20-20 32 20 44. 5 46
00518-24-24 40 24 47 50
00518-32-32 50 32 57 65

13011-K

Z S MBS 4
BSPT MALE FERRULE

e WELE Jii 4 HOSE BORE R~} DIMENSTONS

PART NO. THREADE AFRWAEDN | b SDASH St
13011-04-04K | 7G1/4X19 6 04 17
13011-06-06K | 7G3/8”X19 10 06 19
13011-08-08K | 7G1/2"X14 12 08 22
13011-12-12K | 763/4”X14 20 12 27
13011-16-16K |  ZG1"X11 25 16 36
13011-20-20K | 7G1.1/4”X11 32 20 46
13011-24-24K | 7G1.1/2"X11 40 24 50




15611-K

L e A HE SO S
NPT MALE FERRULE

o B4R fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE INFRNAEDN #r “5DASH S1
15611-04-04K 71/47X18 6 04 17
15611-06—-06K 73/87X18 10 06 19
15611-08-08K 71/27X14 12 08 22
15611-12-12K 73/4”X14 20 12 27
15611-16-16K 7Z17X11.5 25 16 36
15611-20-20K | Z1.1/4”X11.5 32 20 46
15611-24-24K | 7Z1.1/2”X11.5 40 24 50

f
| 16711-K
=TE
Y % 777777 St TTCHMBLITA® AN AT 4745
JIC MALE 74° CONE FERRULE

o ELE fiz % HOSE BORE JU s DIMENSIONS
PART NO. THREADE INFRNAEDN Fr ‘5DASH S1
16711-04-04K 7/167X20 6 04 12
16711-05-05K 1/27X20 8 05 14
16711-06—06K 9/16”X18 10 06 17
16711-08-08K 3/47X16 12 08 22
16711-10-10K 7/87X14 16 10 24
16711-12-12K 1.1/167X12 20 12 30
16711-16-16K 1.5/167X12 25 16 36
16711-20-20K 1.5/87X12 32 20 46
16711-24-24K 1.7/87X12 40 24 50




17811-K

A ,
&L % SEHISAEAMELS00 ° AT TR
S1

SAE MLAE90 ° CONE FERRULE

e WELE Jii 4 HOSE BORE X~} DIMENSIONS
PART NO. THREADE | AFRAAZDN | 4% EDASH C s1
17811-04-04K |  7/16”X20 6 04 14 14
17811-05-05K 1/27X20 08 05 14.2 14
17811-06-06K 5/8"X18 10 06 15.7 17
17811-08-08K 3/47X16 12 08 17 22
17811-10-10K 7/8"X14 16 10 22.4 24
17811-12-12K | 1.1/167X12 20 12 22 27
| 22611D-K
Y IRE60° AMETTIN A1 ] PRl
BSP FEMALE60° CONE DOUBLE HEXAGON FERRULE
e SR Jii 4 HOSE BORE X~} DIMENSIONS

PART NO. THREADE [ AFBRPIFEDN | b EDASH C s1 s2

22611D-04-04K |  G1/4”X19 6 04 5.5 19 19

22611D-04-05K |  G1/4”X19 8 05 5.5 19 19

22611D-06-05K |  G3/8”X19 8 05 6.5 22 22

22611D-06-06K |  G3/8”X19 10 06 6.5 22 22

22611D-08-08K |  G1/2"X14 12 08 8 27 27

22611D-10-10K |  G5/8”X14 16 10 10.5 27 30

22611D-12-12K | G3/4”X14 20 12 1.5 32 32

22611D-16-16K |  G1"X11 25 16 1.5 41 41

22611D-20-20K | G1.1/4”X11 32 20 12 46 50

22611D-24-24K | G1.1/2"X11 40 24 13 50 55




74°

26711D-K

] /#% sz FEHITICHBRLT4° PYHETHRUS A T H7ts
5 VA 2 JIC FEMALE74° CONE SEAT
C DOUBLE HEXAGON FERRULE
R B LR Ji&& 4% HOSE BORE JX <] DIMENSIONS
PART NO. THREADE AFRAEDN | #5 SDASH C S1 S2
26711D-04-04K |  7/16”X20 6 04 8.5 17 17
26711D-05-04K 1/27X20 6 04 9.5 19 19
26711D-05-05K 1/27X20 08 05 9.5 19 19
26711D-06-05K |  9/16”X18 08 05 10 19 19
26711D-06-06K |  9/16”X18 10 06 10 19 19
26711D-08-06K 3/47X16 10 06 11 22 24
26711D-08-08K 3/4”X16 12 08 11 24 24
26711D-10-10K 7/8”X14 16 10 11 27 27
26711D-12-12K | 1.1/16”X12 20 12 13.5 32 32
26711D-16-16K | 1.5/16”X12 25 16 14.5 41 41
26711D-20-20K | 1.5/8”X12 32 20 15.5 50 50
26711D-24-24K | 1.7/87X12 40 24 18.5 55 55
S1
30711-K
) I -
% UL Ll JIC RS 74° NIRZ ] 7l
JIC FEMALE74° CONE SEAT FERRULE
|.C.|
R 18 5E Ji&& 4% HOSE BORE X~} DIMENSIONS
PART NO. THREADE AFRNAEDN | bk 5DASH C S1
36711-04-04K 7/16”X20 6 04 17
36711-06-06K 9/16”X18 10 06 10 19
36711-08-08K 3/47X16 12 08 11 24
36711-10-10K 7/8”X14 16 10 12 27
36711-12-12K | 1.1/16”X12 20 12 13 32
36711-16-16K | 1.5/16”X12 25 16 14 38
36711-20-20K | 1.5/87X12 32 20 15 50
36711-24-24K | 1.7/87X12 40 24 19 55




20791-K

90° KHIJICABRETA® P AT ARt
90° JIC FEMALE74° CONE SEAT FERRULE

KB WELE Jit % HOSE BORE J' <} DIMENSTONS
PART NO. THREADE AFRNAEDN | k& ‘5 DASH C S1 H
26791-04-04K 7/16”X20 6 04 8.5 17 30.5
26791-05-04K 1/27X20 6 04 9.5 19 31
26791-05-05K 1/27%20 08 05 9.5 19 34
26791-06-05K 9/16”X18 08 05 10 19 34.5
26791-06-06K 9/16”X18 10 06 10 19 36. 5
26791-08-06K 3/47X16 10 06 11 24 38
26791-08-08K 3/47X16 12 08 11 24 44
26791-10-10K 7/87X14 16 10 11 27 50.5
26791-12-12K 1.1/167X12 20 12 13.5 32 57.5
26791-16-16K 1.5/16"X12 25 16 14.5 41 71.5
26791-20-20K 1.5/87X12 32 20 15.5 50 82
26791-24-24K 1.7/87X12 40 24 18.5 55 93

S2 S1

— 27811D-K

+
. Z /%{% e SA%?E'JSAEV\]EIL%’%%I%" POHETET TR
o E FEMALE90° CONE SEAT FERRULE
K WEZE & & HOSE BORE R ~t DIMENSIONS

PART NO. THREADE AFRNAEDN Fr ‘5DASH C S1 S2
27811D-04-04K 7/167X20 6 04 8.5 14 17
27811D-05-05K 1/27X20 8 05 9.5 14 19
27811D-06-06K 9/16”7X18 10 06 10 17 19
27811D-08-08K 3/47X16 12 08 11 22 24
27811D-10-10K 7/87X14 16 10 11 24 27
27811D-12-12K 1.1/167X12 20 12 13.5 27 32




(@]

13011-PO

N [T
| _ oz YObE ML
% BSPT MALE
&/
re LR fz & HOSE BORE U =t DIMENSIONS
PART NO. THREADE INFRNAEDN #r “5DASH C S1
13011-04-04P0 7G1/47X19 6 04 14 17
13011-06-06P0 7G3/87X19 10 06 14 19
13011-08-08P0 7G1/27X14 12 08 19 22
13011-12-12P0 7G3/47X14 20 12 19 30
13011-16-16P0 7G17X11 25 16 24 36
13011-20-20P0 | ZG1.1/4”X11 32 20 25 46
13011-24-24P0 | 7ZG1.1/2”X11 40 24 25 50
13011-32-32P0 7G2”7X11 50 32 28 65
S

C

]

]

[T

N
|
Z
E /

15611-PO

v A HEE SR L
NPT MALE

=, B4R Jiz 4 HOSE BORE JU ~} DIMENSTONS
PART NO. THREADE AFRPEDN | br SDASH C S1
15611-04-04P0 | 71/4”X18 6 04 14 17
15611-06-06P0 | 73/8”X18 10 06 14 19
15611-08-08P0 | 71/2"X14 12 08 19 22
15611-12-12P0 | 73/4”X14 20 12 19 30
15611-16-16P0 | Z1”X11.5 25 16 24 36
15611-20-20P0 | Z1.1/4"X11. 5 32 20 25 46
15611-24-24P0 | Z1.1/2"X11. 5 40 24 25 50
15611-32-32P0 | 72"X11.5 50 32 28 65




| E—

[T

1671

1-PO

@
7 R KA ICHMRETA ST
JIC MALE 74° CONE
s WEAE Ji& % HOSE BORE ]~ DIMENSIONS
PART NO. THREADE AFRAEDN | bk 5DASH C S1
16711-04-04P0 U7/167X20 6 04 14 14
16711-05-05P0 U1/2”X20 8 05 14 14
16711-06-06P0 U9/16”X18 10 06 14 17
16711-08-08P0 U3/47X16 12 08 16. 7 22
16711-10-10PO U7/8”X14 16 10 19.5 24
16711-12-12P0 | U1.1/167X12 20 12 22 30
16711-16-16P0 | Ul.5/16”X12 25 16 23 36
16711-20-20P0 | U1.5/8”X12 32 20 24.5 46
16711-24-24P0 | U1.7/87X12 40 24 27.5 50
16711-32-32P0 | U2.1/2”X12 50 32 34 65

| I

[

2781

1-PO

FEHISAEHRSC90° N HETH
SAE FEMALE 90° CONE SEAT

C

e LR [z % HOSE BORE J& <} DIMENSIONS
PART NO. THREADE AFRADN | b7 EDASH C S1
27811-04-04P0 |  7/16”X20 6 04 8.5 17
27811-05-05P0 | 1/27X20 8 05 9.5 17
27811-06-06P0 |  5/87X18 10 06 11.5 22
27811-08-08P0 |  3/4”X16 12 08 11 24
27811-10-10P0 |  7/8”"X14 16 10 11 27
27811-12-12P0 | 1.1/16”X12 20 12 13.5 32




S1

22611-PO
(HI T
7277777 T N BRL60° HMEET
@%@&J BSPT FEMALE 60° CONE
C
o HE 4R Jii % HOSE BORE J& <} DIMENSIONS

PART NO. THREADE INFRNAEDN #r ‘5 DASH C S1
22611-04-04P0 G1/47X19 6 04 5.5 19
22611-06-06P0 G3/87X19 10 06 6.5 22
22611-08-08P0 G1/27X14 12 08 8 27
22611-10-10P0O G5/87X14 16 10 11.5 30
22611-12-12P0 G3/47X14 20 12 11.5 32
22611-16-16P0 G17X11 25 16 11.5 41
22611-20-20P0 Gl.1/47X11 32 20 12 50
22611-24-24P0 Gl.1/27X11 40 24 13 55
22611-32-32P0 G27X11 50 32 16 70

S1

[

d

1

-

74°

Vi

2071

1-PO

FEH JICHIEL 74 P HETH

= JIC FEMALE 74° CONE SEAT
c
o 2SR J& % HOSE BORE R <} DIMENSIONS

PART NO. THREADE | AFRAEDN | b= SDASH C S1
26711-04-04P0 | U7/16”X20 6 04 8.5 17
26711-05-05P0 | U1/2"X20 8 05 9.5 17
26711-06-06P0 |  U9/16"X18 10 06 10 19
26711-08-08P0 | U3/4”X16 12 08 11 24
26711-10-10P0 |  U7/8"X14 16 10 12 27
26711-12-12P0 | UL. 1/16”X12 20 12 13.5 32
26711-16-16P0 | UL. 5/16"X12 25 16 14.5 41
26711-20-20P0 | U1.5/8"X12 32 20 15.5 50
26711-24-24P0 | UL 7/8"X12 10 24 19.5 55
26711-32-32P0 | U2.1/2"X12 50 32 24.5 75




S1 S92

- 20111T

T
-
] s 22 1) W MRS BRI £ T4
i GB METRIC FEMALE MULTISEAL
C LNTEGRAL FITTING
e AR fi¢ 4 HOSE BORE R ~F DIMENSIONS
PART NO. THREADE | AFRAAEDN | 4 EDASH C s1 52
20111T-14-04B | M14x1.5 6 04 4 17 17
20111T-18-06B |  M18x1.5 10 06 4.5 22 19
20111T-22-088 | M22x1.5 12 08 5 27 22
20111T-27-10B | M27x1.5 16 10 4.5 32 27
20111T-30-12B | M30x1.5 20 12 4 36 32
20111T-36-16B M36x2 25 16 5 41 38
20111T-39-16B M39x2 25 16 5 46 38
20111T-45-20B M45x2 32 20 6 55 50
S1 S2
20211T
- [T
= ] B 2 1] P R 0T i 65 2O 4
) GB METRIC FEMALE FLATSEAL
C LNTEGRAL FITTING
e SR Jii 4 HOSE BORE R~} DIMENSIONS
PART NO. THREADE | AFBRAAEDN | 4% 5DASH C s1 52
202117-14-04B | M14x1.5 6 04 8 17 17
20211T-18-06B |  M18x1.5 10 06 8.5 22 19
20211T-22-08B | M22x1.5 12 08 10 27 22
20211T-27-10B | M27x1.5 16 10 10. 5 32 27
20211T-30-12B | M30x1.5 20 12 11 36 32
20211T-36-16B M36x2 25 16 13 41 38
20211T-45-20B M45x2 32 20 15 55 50




S1

S2

20711T

A TS i
W bR Al N BRSc74° N HER & %A
/) GB METRIC FEMALE 74° CONE
C LNTEGRAL FITTING
e LR fi; % HOSE BORE J& <F DIMENSIONS
PART NO. THREADE AFRAAEDN | 45 EDASH C sl s2
20711T-14-04B | M14x1.5 6 04 8 17 17
20711T-18-06B |  M18x1.5 10 06 8.5 22 19
20711T-22-08B |  M22x1.5 12 08 10 27 22
20711T-27-10B |  M27x1.5 16 10 10.5 32 27
20711T-30-12B M30x2 20 12 11 36 32
20711T-39-16B M39x2 25 16 13 16 38
S1 s2
e 22111T
- IR
44 o JEE NIRSEK I & RoE R
v BSP FEMALE METRICSEAT
C LNTEGRAL FITTING
e L fi; % HOSE BORE U <F DIMENSIONS
PART NO. THREADE AFRAWAEDN | 45 EDASH s s2
22111T-04-04B | G1/4”X19 6 04 4 17 17
22111T-06-06B |  G3/8”X19 10 06 4 22 19
22111T-08-08B |  G1/27X14 12 08 4.5 27 22
22111T-10-10B | 65/87X14 16 10 4 27 27
22111T-12-10B |  63/4”X14 16 10 5.5 32 27
22111T-12-12B | 63/4”X14 20 12 5.5 32 32
22111T-16-16B G17X11 25 16 7 38 38
22111T-20-20B | G1.1/4”X11 32 20 6 50 50
22111T-24-24B | G1.1/2°X11 40 24 6 55 55




S1 S2

22011T

s [T
Z e B NIBLE60° AT & A
) BSP FEMALE 60° CONE
c LNTEGRAL FITTING
o B4R Ji¢ % HOSE BORE JU < DIMENSIONS
PART NO. THREADE NFRNAEDN #r “5DASH C S1 S2
22611T-04-04B G1/47X19 6 04 5.5 17 17
22611T-06-04B G3/87X19 6 04 6 22 17
22611T-06-06B G3/87X19 10 06 6 22 19
22611T-08-08B G1/2”X14 12 08 7 27 22
22611T-10-08B G5/8”X14 12 08 8.5 27 22
22611T-12-12B G3/47X14 20 12 9 32 32
22611T-16-16B G17X11 25 16 11 38 38
22611T-20-20B Gl.1/47X11 32 20 11 50 50
22611T-24-24B Gl.1/27X11 40 24 12 55 55
S1 S2
20711T
g S— R

S JICHIRZT4° A & 2z 4
JIC FEMALE 74° CONE SEAT
LNTEGRAL FITTING

foi B LR fi¢ & HOSE BORE JU sF DIMENSIONS

PART NO. THREADE AFRINAEDN | 4% SDASH C S1 S2
26711T-04-04B 7/16”X20 6 04 9 17 17
26711T-06-06B 9/16"X18 10 06 10 19 19
26711T-08-08B 3/47X16 12 08 11 24 22
26711T-10-10B 7/8”X14 16 10 12 27 27
26711T-12-12B | 1.1/16”X12 20 12 13 32 32
26711T-16-16B | 1.5/16”X12 25 16 14 38 38
26711T-20-20B | 1.5/8"X12 32 20 15 50 50
26711T-24-24B | 1.7/8"X12 40 24 19 55 55




I 20191T

= s1 90° [ Br/os ] N IRLERTH & ROEA
_}Q‘ 90° GB METRIC FEMALE MULTISEAL
l| - ) LNTEGRAL FITTING
) LR fiZ % HOSE BORE R ~F DIMENSIONS
PART NO. THREADE INFRNAEDN #r “5DASH C S1 S2 H
20191T-14-04B M14x1.5 6 04 4 17 17 28
20191T-18-06B M18x1. 5 10 06 4.5 22 19 39
20191T-22-08B M22x1. 5 12 08 5 27 22 48
20191T-27-10B M27x1.5 16 10 4.5 32 27 56.5
20191T-30-12B M30x1. 5 20 12 4 36 32 62.5
20191T-36-16B M36x2 25 16 5 41 38 76.5
20191T-39-16B M39x2 25 16 5 46 38 76.5
S2
20291T
1y
_ / 90° [E bR i N IRSCE T & SO
S—l}“E 90° GB METRIC FEMALE FLATSEAL
) - LNTEGRAL FITTING
L E .
re LR fi % HOSE BORE L~} DIMENSIONS
PART NO. THREADE AR AZEDN & S DASH C S1 S2 H
20291T-14-04B M14x1.5 6 04 8 17 17 28
20291T-16-06B M16x1.5 10 06 8 19 19 36
20291T-18-06B M18x1. 5 10 06 8.5 22 19 36
20291T-22-08B M22x1. 5 12 08 10 27 22 43
20291T-27-10B M27x1.5 16 10 10.5 32 27 63
20291T-30-12B M30x1. 5 20 12 11 36 32 58
20291T-36-16B M36x2 25 16 13 41 38 68
20291T-45-20B M45x2 32 20 15 55 50 76




S2

P 20791T

7| st 90° BRI ERS74° PyHER & UEA
90° GB METRIC FEMALE 74° CONE
. = LNTEGRAL FITTING
747
o B AR fi¢ & HOSE BORE JU sF DIMENSIONS
PART NO. THREADE AFRNAEDN | b5 SDASH C S1 S2 H
20791T-14-04B |~ M14x1.5 6 04 8 17 17 28
20791T-18-06B | ~ M18x1.5 10 06 8.5 22 19 36
20791T-22-08B |~ M22x1.5 12 08 10 27 22 43
20791T-27-10B |~ M27x1.5 16 10 10.5 | 32 21 50
20791T-30-12B M30x2 20 12 11 36 32 58
207917-39-16B M39x2 25 16 13 46 38 68
S2
. 221917
)
7| sy E/ 90° JEE PURSCRRTH & e P
Ve’ 90° BSP FEMALE METRICSEAT
o = LNTEGRAL FITTING
fo B4R fi¢ % HOSE BORE JU < DIMENSIONS
PART NO. THREADE NFRNAEDN | h5 SDASH C S1 S2 H
22191T-04-04B | G1/4”X19 6 04 4 17 17 28
22191T-06-06B |  G3/8”X19 10 06 4 22 19 38
22191T-08-08B |  G1/2"X14 12 08 4.5 27 22 44
22191T-12-10B |~ G3/4"X14 16 10 5.5 32 27 62
22191T-12-12B | G3/4"X14 20 12 5.5 32 32 62
221917-16-16B G17X11 25 16 7 38 38 72
22191T-20-20B | GI.1/4"X11 32 20 6 50 50 | 81.5
22191T-24-24B | GI.1/2"X11 40 24 6 55 55 104




S2

e

22091T

90° DL NIEL60° A & IEAE

S1
[ 90° BSP FEMALE 60° CONE
L] - =) LNTEGRAL FITTING
60°
e IELE fiz % HOSE BORE JU <} DIMENSIONS
PART NO. THREADE AFRNAEDN | 5 SDASH C S1 S2 H
22691T-04-04B G1/47X19 6 04 5.5 17 17 28
22691T-06-06B G3/87X19 10 06 6 22 19 36
22691T-08-08B G1/2”X14 12 08 7 27 22 42
22691T-12-12B G3/47X14 20 12 9 32 32 58
22691T-16-16B G17X11 25 16 11 38 38 68
22691T-20-20B Gl.1/4”7X11 32 20 11 50 50 81.5
22691T-24-24B G1.1/27X11 40 24 12 55 55 94
.
.
B 20791T
| 7
EFE 90° EMHIJICHIZLIT4° Pt & Rk ik
U’ 90° JIC FEMALE 74° CONE SEAT
_E LNTEGRAL FITTING
T4°
=" agD & % HOSE BORE R~ DIMENSIONS
PART NO. THREADE AFRNAEDN | #5 SDASH C S1 S2 H
26791T-04-04B 7/167X20 6 04 9 17 17 28
26791T-06-06B 9/16”X18 10 06 10 19 19 36
26791T-08-08B 3/47X16 12 08 11 24 22 42
26791T-10-10B 7/8”X14 16 10 12 27 27 50
26791T-12-12B 1.1/167X12 20 12 13 32 32 58
26791T-16-16B 1.5/16”7X12 25 16 14 38 38 68
26791T-20-20B 1.5/87X12 32 20 15 50 50 76
26791T-24-24B 1.7/87X12 40 24 19 55 55 90




20141T

45° [l B2~ il A IR EUER T 65 FOZE A
45° GB METRIC FEMALE MULTISEAL
LNTEGRAL FITTING

o W2 LCE J& % HOSE BORE RU <} DIMENSIONS

PART NO. THREADE [ AFRADN | b5 SDASH C S1 52 H

201417-14-04B | M14x1.5 6 04 17 17 15
20141T-18-06B | ~ MI8x1.5 10 06 4.5 22 | 19 | 19.3

201417-22-08B |  M22x1.5 12 08 5 27 22 21

20141T-27-10B | M27x1.5 16 10 4.5 32 27 25

201417-30-12B | M30x1.5 20 12 4 36 | 32 29

20141T-36-16B | M36x2 25 16 5 41 38 35

20141T-39-16B | M39x2 25 16 5 46 | 38 35

20241T
45° [H PR A WIRECT I G AOEE
45° GB METRIC FEMALE FLATSEAL
LNTEGRAL FITTING
T 12 5E B % HOSE BORE U ~F DIMENSIONS

PART NO. THREADE AFRHNAEDN | bR SDASH C S1 S2 H

202417-14-04B | Ml4xl.5 6 04 17 17 18

202417-16-06B |  M16x1.5 10 06 8 19 19 20
202417-18-06B |  M18x1.5 10 06 8.5 22 19 | 21.4

202417-22-08B |  M22x1.5 12 08 10 27 22 27

202417-27-10B | M27x1.5 16 10 10.5 | 32 21 28
202417-30-12B | M30x1.5 20 12 11 36 32 | 25.2

20241T-36-16B | M36x2 25 16 13 41 38 27




20741T

45° [HBRAHI N IREC74° Py & E A

45° GB METRIC FEMALE 74° CONE
LNTEGRAL FITTING

e WELE Jii 4 HOSE BORE R~} DIMENSIONS
PART NO. THREADE | ABKAMAEDN | ki SDASH C St S2 H
20741T-14-04B | Ml4x1.5 6 04 17 17 15
20741T-16-058 | M16x1.5 8 05 8 19 17 17
20741T-18-06B |  M18x1.5 10 06 8.5 22 19 20
20741T-22-08B | M22x1.5 12 08 10 27 22 20
20741T-27-10B | M27x1.5 16 10 10.5 | 32 27 24
20741T-30-12B M30x2 20 12 11 36 32 27
20741T-39-16B M39x2 25 16 13 46 38 | 315

22141T
45° I WIRSCER T 5 AL
45° BSP FEMALE METRICSEAT
LNTEGRAL FITTING

e SR Jii 4 HOSE BORE R ~I DIMENSIONS
PART NO. THREADE [ AFBRPIFEDN | b EDASH C st s2 H
22141T-04-04B |  G1/47X19 6 04 17 17 | 17.2
221417-06-06B |  G3/8”X19 10 06 4 22 19 24
221417-08-08B |  G1/2"X14 12 08 4.5 27 22 27
221417-10-10B |  G5/8"X14 16 10 4 27 27 29
221417-12-12B | G3/4”X14 20 12 5.5 32 32 29
221417-16-16B | G1”X11 25 16 7 38 38 34
22141T-20-20B | G1.1/4”X11 32 20 6 50 50 40




220417

45° JLEAWIRZ60° AMETH & FOE A
45° BSP FEMALE 60° CONE
INTEGRAL FITTING

FeE WELE Jit % HOSE BORE JX  ~f DIMENSIONS

PART NO. THREADE AFRNAEDN | kR “5DASH C S1 S2 H
22641T-04-04B G1/47X19 6 04 9.5 17 17 15
22641T-06-06B G3/87X19 10 06 6 22 19 17.2
22641T-08-08B G1/27X14 12 08 7 27 22 19.3
22641T-10-10B G5/8”X14 16 10 8.5 27 27 28
22641T-12-12B G3/47X14 20 12 9 32 32 29
22641T-16-16B G1”X11 25 16 11 38 38 34
22641T-20-20B | G1.1/4"X11 32 20 11 50 50 39
22641T-24-24B | G1.1/2"X11 40 24 12 55 55 48

20741T

45° SRl JICAIRZT4° P & 2k 14
45° JIC FEMALE 74° CONE SEAT
INTEGRAL FITTING

e ELE & 4 HOSE BORE R~} DIMENSIONS

PART NO. THREADE AFRNAEDN | F5 ‘5DASH C S1 S2 H
26741T-04-04B 7/16”X20 6 04 9 17 17 15
26741T-06-06B 9/16”X18 10 06 10 19 19 20
26741T-08-08B 3/47X16 12 08 11 24 22 20
267417-10-10B 7/8”X14 16 10 12 27 27 24
26741T-12-12B | 1.1/16”X12 20 12 13 32 32 27
26741T-16-16B | 1.5/16”X12 25 16 14 38 38 31.5
26741T-20-20B | 1.5/8"X12 32 20 15 50 50 35
267417-24-24B | 1.7/8"X12 40 24 19 55 55 42




S1

——

S

IR

)

30411P-B

NHINIRS24° HETHOZY [ R
“RERESL
METRIC FEMALE 24° CONE L. T. TWO-WIRE
0-RING TWO-WIRE INTEGRAL FITTING

J' <} DIMENSTONS

Re IRLE HOSE BORE M

PART NO. THREADE ABRAAEDN | F5 ‘SDASH TUBE. 0. D C S1
30411P-14-04B|  M14X1.5 6 04 8 2 17
30411P-16-05B M16X1. 5 8 05 10 2 19
30411P-18-06B M18X1. 5 10 06 12 2.5 22
30411P-22-08B M22X1. 5 12 08 15 3 27
30411P-27-10B M27X1. 5 16 10 18 2.5 32
30411P-30-12B M30X2 20 12 22 3.5 36
30411P-36-16B M36X2 25 16 28 4.5 41
30411P-45-20B M45X2 32 20 35 5 55
30411P-52-24B M52X2 40 24 42 6 60

/U VY EANE . RS S IHOINA. 4130412-14-04A

S1

-

S

Ll

I

TTT

METRIC FEMALE 24° CONE L. T.FOUR-WIRE
O-RING FOURWIRE INTEGRAL FITTING

30412P-D

At NIRZ24° HET A0S
Fel e AR B DY 2 AR ok

J' <} DIMENSTIONS

=t B4R i % HOSE BORE T AR

PART NO. THREADE NFRNAEDN | F5 SDASH TUBE. 0.D C S1
30412P-22-08D M22X1. 5 12 08 15 3 27
30412P-27-10D M27X1. 5 16 10 18 2.5 32
30412P-30-12D M30X2 20 12 22 3.5 36
30412P-36-16D M36X2 25 16 28 4.5 41
30412P-45-20D M45X2 32 20 35 5 55
30412P-52-24D M52X2 40 24 42 6 60




y 30441P-B

45° Nl NIRS24° HE A0 Rl RY R ER
3k
45° METRIC FEMALE 24° CONE L.T.WITH
0-RING TWO WIRE INTEGRAL FITTING

=2 W24 ;% HOSE BORE T AR U <F DIMENSIONS

PART NO. THREADE AFRNAEDN | k7 SDASH TUBE. 0.D C Sl H
30441P-14-04B |  M14X1.5 6 04 8 2 17 16
30441P-16-05B M16X1. 5 8 05 10 2 19 28. 2
30441P-18-06B MI8X1. 5 10 06 12 2.5 22 19
30441P-22-08B M22X1. 5 12 08 15 3 27 33.2
30441P-27-10B M27X1. 5 16 10 18 2.5 32 35.9
30441P-30-12B M30X2 20 12 22 3.5 36 42
30441P-36- 16B M36X2 25 16 28 4.5 41 34
30441P-45-20B M45X2 32 20 35 5 55 43
30441P-52-24B M52X2 40 24 42 6 60 42

FUE: W —EANE . TERVS S THNA. Wn30441-14-04A

y 30442P-D

1

45° NN IRZ24° HETHO A R DU JZE M
ek
45°  METRIC FEMALE 24° CONE L. T.FOUR-WIRE
O-RINGINTEGRAL FITTING

e RS Ji. % HOSE BORE BT MR R ~F DIMENSIONS
PART NO. THREADE [ AFRP4EDN | 5 SDASH |  TUBE.0.D C s1 H
30442P-22-08D |  M22X1.5 12 08 15 3 27 | 33.2
30442P-27-10D | M27X1.5 16 10 18 2.5 32 | 35.9
30442P-30-12D M30X2 20 12 22 3.5 36 42
30442P-36-16D M36X2 25 16 28 4.5 41 34
30442P-45-20D M45X2 32 20 35 5 55 43
30442P-52-24D M52X2 40 24 42 6 60 42




30491P-B

90° AN ERL24° HETH Y
O &2 R %) — )2 %MK
90° METRIC FEMALE 24° CONE L. T. TWO-WIRE
O-RING INTEGRAL FITTING

o 2 5E Ji&& % HOSE BORE TR <] DIMENSIONS

PART NO. THREADE AFRANEDN | k5 SDASH TUBE. 0.D C S1 H
30491P-14-04B M14X1. 5 6 04 8 2 17 31
30491P-16-05B M16X1. 5 8 05 10 2 19 37
30491P-18-06B M18X1. 5 10 06 12 2.5 22 38
30491P-22-08B M22X1. 5 12 08 15 3 27 43
30491P-27-10B M27X1. 5 16 10 18 2.5 32 55
30491P-30-12B M30X2 20 12 22 3.5 36 55
30491P-36-16B M36X2 25 16 28 4.5 41 67
30491P-45-20B M45X2 32 20 35 5 55 76
30491P-52-24B M52X2 40 24 42 6 60 88.5
FVE: MK —EANE. RS E A, T130491-14-04A

1 1= 30492P-D
Y a:vuasi

= 90° A NIRL24° HEm W 0
L % P 2 R A0 Y 2
90° METRIC FEMALE 24°
s1/1 ! = CONE L. T. FOUR-WIRE O-RING INTEGRAL FITTING
RS HRLLE fie & HOSE BORE M JU <k DIMENSIONS
PART NO. THREADE AFRNAEDN | ¥r SDASH TUBE. 0.D C S1 H
30492P-22-08D M22X1. 5 12 08 15 3 27 43
30492P-27-10D M27X1. 5 16 10 18 2.5 32 55
30492P-30-12D M30X2 20 12 22 3.5 36 64
30492P-36-16D M36X2 25 16 28 4.5 41 67
30492P-45-20D M45X2 32 20 35 5 55 76
30492P-52-24D M52X2 40 24 42 6 60 88.5




S1

1N

=

30011P-B

NI A IRL24° HETHH O
R AR5 R E AR
METRIC FEMAHE 24° CONE H.T.WITH O-RING
TWO WIRE INTEGRAH FITTING

K WELIE Jii % HOSE BORE 5 TR JU <t DIMENSIONS

PART NO. THREADE AFRAWAEDN | F5 “SDASH TUBE. 0.D C S
30511P-16-04B8 M16X1. 5 6 04 8 2 19
30511P-18-04B8 M18X1. 5 6 04 10 2 22
30511P-20-05B M20X1. 5 8 05 12 3 27
30511P-20-06B8 M20X1. 5 10 06 12 3 27
30511P-22-06B8 M22X1. 5 10 06 14 3 27
30511P-24-08B M24X1. 5 12 08 16 3 30
30511P-30-10B M30X2 16 10 20 3.5 36
30511P-36-12B M36X2 20 12 25 3 41
30511P-36-14B M36X2 22 14 25 3 41
30511P-42-16B M42X2 25 16 30 5 50
30511P-52-20B8 M52X2 32 20 38 6.5 60
30511P-52-24B M52X2 40 24 38 6.5 60

FvE: WE—EANE. TERNS R MA. @130511-14-04A

S1

N

]

1)

F:
2 a-Nuan

30012P-D

A NIRG24° HETH OZY [ =
FINY R AR

METRIC FEMAHE 24° CONE H.T.WITH O-RING
FUUR WIRE INTEGRAH FITTING

K WELE Jii % HOSE BORE v JU <t DIMENSIONS

PART NO. THREADE AFRNAEDN | kR “5DASH TUBE. 0.D ¢ S
30512P-24-08D M24X1. 5 12 08 16 3 30
30512P-30-10D M30X2 16 10 20 3.5 36
30512P-36-12D M36X2 20 12 25 3 41
30512P-36-14D M36X2 22 14 25 3 41
30512P-42-16D M42X2 25 16 30 5 50
30512P-52-20D M52X2 32 20 38 6.5 60
30512P-52-24D M52X2 40 24 38 6.5 60




30541P-B

45° il AERge4° HEmmd oMU E ARV T RE
Ik

45° METRIC FEMAHE 24° CONE H.T.WITH
O-RING TWO WIRE INTEGRAH FITTING

e AR fi: %% HOSE BORE BT R~} DIMENSIONS

PART NO. THREADE AFRAAEDN | b5 SDASH | TUBE.0.D C St H
30541P-18-04B |  MISXL.5 6 04 10 2 22 | 22.3
30541P-20-05B |  M20XL.5 8 05 12 3 24 | 25.3
30541P-22-06B |  M22X1.5 10 06 14 3 21 | 25.3
30541P-24-08B|  M24XL1.5 12 08 16 3 30 | 27.5
30541P-30-10B M30X2 16 10 20 3.5 36 31
30541P-36-12B M36X2 20 12 25 3 a1 34
30541P-42-16B M42X2 25 16 30 5 50 | 42.8
30541P-52-20B M52X2 32 20 38 6.5 60 43
30541P-52-24B M52X2 40 24 38 6.5 60 45
FE G — B AME . FERS S TINA. 4130541-14-04A

30042P-D

45° NI NIRS24° HETAT O
T PE| & R 5 DU 2 AR Sk
45° METRIC FEMAHE 24° CONE H.T.WITH
0-RING FOUR WIRE INTEGRAH FITTING

e ELE Ji2 4% HOSE BORE I R} DIMENSTONS

PART NO. THREADE [ AFRANAEDN | #% SDASH |  TUBE.0.D C st H
30542P-24-08D | M24X1.5 12 08 16 3 30 | 27.5
30542P-30-10D M30X2 16 10 20 3.5 36 31
30542P-36-12D M36X2 20 12 25 3 41 34
30542P-42-16D M42X2 25 16 30 5 50 | 42.8
30542P-52-20D M52X2 32 20 38 6.5 60 43
30542P-52-24D M52X2 40 24 38 6.5 60 45




:

30091P-B

90° Al NIRLr24° HEmHF OTUIE H R4
—RiEA

90° METRIC FEMAHE 24° CONE H.T.WITH

s1/1 £ - O-RING TWO WIRE INTEGRAH FITTING
e LR Jii 4 HOSE BORE A R} DIMENSTONS

PART NO. THREADE | AFKAZEDN | k% SDASH |  TUBE.0.D C S1 i
30591P-18-04B |  MI8X1. 5 6 04 10 2 22 36
30591P-20-05B |  M20X1. 5 8 05 12 3 24 44
30591P-22-06B |  M22X1. 5 10 06 14 3 27 | 46.3
30591P-24-08B|  M24X1.5 12 08 16 3 30 51
30591P-30-10B M30X2 16 10 20 3.5 36 | 57.5
30591P-36-12B M36X2 20 12 25 3 41 68
30591P-42-16B M42X2 25 16 30 5 50 | 77.5
30591P-52-20B M52X2 32 20 38 6.5 60 89
30591P-52-24B M52X2 40 24 38 6.5 60 | 102.5

£ W —E4ME . RS SETHINA. 1130591-14-04A

| /L

T = 30092P-D

90° 7l A BRAr24° 4k i i
P 07 [ s 2 51| Y J2 i A 2 ok
L/ 90° METRIC FEMALE 24°
s/ © CONE L. H. FOUR-WIRE O-RING INTEGRAL FITTING
E
= YELE fik % HOSE BORE e JU =t DIMENSIONS
PART NO. THREADE AFRPAEDN | b5 SDASH |  TUBE.0.D C sl H
30592P-24-08D | M24XL. 5 12 08 16 3 30 51
30592P-30-10D M30X2 16 10 20 3.5 36 | 57.5
30592P-36-12D M36X2 20 12 25 3 41 68
30592P-42-16D M42X2 25 16 30 5 50 | 77.5
30592P-52-20D M52X2 32 20 38 6.5 60 89
30592P-52-24D M52X2 40 24 38 6.5 60 | 102.5




- 87311P-B

~ )
(&) | +
;(V % ; ‘ SAE #:23000PST — /2444 3k
JAJ SAE PLANGE3000PSI FOR TWO-WIRE
INTEGRAL FITTING
o IR~ fk & HOSE BORE U~ DIMENSTONS
PART NO. FLANGE SIZE | A®KWNAEDN | #5 “SDASH C D L
87311P-08-08B 1/2” 12 08 30. 2 23.9 7
87311P-12-12B 3/4” 20 12 38. 1 31.7 7
87311P-16-16B 1” 25 16 44. 4 38 8.2
87311P-20-20B 1.1/4” 32 20 50. 8 43.2 8.2
87311P-24-24B 1.1/2” 40 24 60. 3 50. 3 8.2
87311P-32-32B 2” 50 32 71.4 62.2 9.8

FVE: WE—E4ME . RS S HNA. 4187311-08-08A

N 87312P-D

- I
/ LLZ7
% m SAE. 1% % 3000PS UG U EE ek
SAE FLANGE 3000PSI FOR FOUR WIRE
INTEGRAL FITTING
5 NIV fi& i HOSE BORE U <] DIMENSIONS
PART NO. FLANGE SIZE | AFRINAEDN | #5 “SDASH C D L
87312P-08-08D 1/27 12 08 30. 2 23.9 7
87312P-12-12D 3/4”7 20 12 38. 1 31.7 7
87312P-16—-16D 17 25 16 44. 4 38 8.2
87312P-20-20D 1.1/47 32 20 50. 8 43.2 8.2
87312P-24-24D 1.1/27 40 24 60. 3 50. 3 8.2
87312P-32-32D 27 50 32 71.4 62. 2 9.8




) 87011P-B
.

< ' |
%, “ i SAE :2%6000PST —J5 i fh sk
SAE PLANGE6000PSI TWO-WIRE INTEGRAL FITTING
R BERE & % HOSE BORE U <F DIMENSIONS
PART NO. FLANGE SIZE [ A#RINADN | i ZDASH C D L

87611P-08-08B 1/2” 12 08 31.8 23.9 7.9
87611P-12-12B 3/4” 20 12 41.3 31.7 8.9
87611P-16-16B 1 25 16 47.6 38 9.6
87611P-20-20B 1.1/4” 32 20 54 43.6 10. 4
87611P-24-24B 1.1/2” 40 24 63.5 50. 8 12.7
87611P-32-32B 2" 50 32 79. 4 66. 5 12.7
F: W —EANE. RS EINA. 1187611-08-08A

L
. 87612P-D
a D
Sl ' N SAE 7% *4£6000PS1 4587 U 2% 4
gl %}m SAE PLANGE600OPSI SPIRAL
. HOSE FOUR-WIRE INTEGRAL FITTING
() FEES Ji¢ 4 HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | AFRPI4DN | 5 SDASH C D L
87612P-08-08D 1/2” 12 08 31.8 23.9 7.9
87612P-12-12D 3/4” 20 12 41.3 3.7 8.9
87612P-16-16D i 25 16 47.6 38 9.6
87612P-20-20D 1.1/4” 32 20 54 43.6 10.4
87612P-24-24D 1.1/2" 40 24 63.5 50.8 12.7
87612P-32-32D 2" 50 32 79.4 66. 5 12.7




87341P-B

45° SAE V£223000PST — Zi%fk4: 3k
45° SAE PLANGE3000PST FOR TWO-WIRE
INTEGRAL FITTING

o Y22 A 2 J&& 4% HOSE BORE R~} DIMENSIONS

PART NO. FLANGE SIZE | A®RHNAEDN | #5 ‘SDASH C D L H
87341P-08-08B 1/2” 12 08 30.2 | 23.9 7 23.3
87341P-12-12B 3/4” 20 12 38.1 | 31.7 7 29.6
87341P-16-16B 1 25 16 44. 4 38 8.2 | 30.4
87341P-20-20B 1.1/4” 32 20 50.8 | 43.2 | 8.2 | 34.5
87341P-24-24B 1.1/2” 40 24 60.3 | 50.3 | 8.2 42
87341P-32-32B 2" 50 32 71.4 | 62.2 | 9.8 | 49.1

£ W —E4ME . fERS fETHINA. Wn87341-08-08A

/—Wﬁ/—ﬁ

87342P-D

45° SAE ¥:243000PST 28445 PU 2 A3k
45° SAE PLANGE3000PSI SPIRAL
HOSE FOUR-WIRE INTEGRAL FITTING

e s f; 4 HOSE BORE JU < DIMENSIONS

PART NO FLANGE SIZE [ ABRMADN | # ZDASH C D L H
87342P-08-08D 1/2” 12 08 30.2 | 23.9 7 23.3
87342P-12-12D 3/4” 20 12 38.1 | 31.7 7 29.6
87342P-16-16D 1 25 16 44.4 | 38 8.2 | 30.4
87342P-20-20D 1.1/4” 32 20 50.8 | 43.2 | 8.2 | 34.5
87342P-24-24D 1.1/2" 40 24 60.3 | 50.3 | 8.2 42
87342P-32-32D 2" 50 32 71.4 | 62.2 | 9.8 | 49.1




87641P-B

45° SAE V%226000PST — 2% Ak
45° SAE PLANGE600OPSI FOR
TWO-WIRE INTEGRAL FITTING

o 2L ;%% HOSE BORE U <F DIMENSIONS

PART NO. FLANGE SIZE | AFRMAEDN | #5 “SDASH C D L H
87641P-08-08B 1/2” 12 08 31.8 | 23.9 | 7.9 | 24.7
87641P-12-12B 3/4” 20 12 41.3 | 31.7 | 8.9 | 318
87641P-16-16B 17 25 16 47.6 38 9.6 34
87641P-20-20B 1.1/4" 32 20 54 43.6 | 10.4 | 39.4
87641P-24-24B 1.1/2” 40 24 63.5 | 50.8 | 12.7 | 45.5
87641P-32-32B 2" 50 32 79.4 | 66.5 | 12.7 | 52.7

BVE: WE—E4ME . RS E A, 4187641-08-08A

87642P-D

45° SAE 7£226000PSI

mGE N2 ER K 45°

SAE PLANGE600OPSI SPIRAL HOSE
FOUR-WIRE INTEGRAL FITTING

5 i) fii & HOSE BORE R~ DIMENSIONS

PART NO. FLANGE SIZE | ABKM4DN | 5 =DASH C D L H
87642P-08-08D 1/2” 12 08 3.8 | 23.9 | 7.9 | 24.7
87642P-12-12D 3/4” 20 12 41.3 | 31.7 | 8.9 | 31.8
87642P-16-16D 1 25 16 47.6 38 9.6 34
87642P-20-20D 1.1/4” 32 20 54 43.6 | 10.4 | 39.4
87642P-24-24D 1.1/2" 40 24 63.5 | 50.8 | 12.7 | 45.5
87642P-32-32D 2" 50 32 79.4 | 66.5 | 12.7 | 52.7




—d
r=

(Ll 7777

87391P-B

90° SAE ¥£2£3000PST - ZiE ATk

90° SAE PLANGE3000PSI FOR TWO-WIRE

INTEGRAL FITTING

C

5 i) fii & HOSE BORE J& <} DIMENSIONS

PART NO. FLANGE SIZE | AFRINAEDN | 4% “SDASH o D L H
87391P-08-08B 1/2” 12 08 30.2 | 23.9 7 47
87391P-12-12B 3/4” 20 12 38.1 | 31.7 7 59
87391P-16-16B 17 25 16 44. 4 38 8.2 73
87391P-20-20B 1.1/4” 32 20 50.8 | 43.2 | 8.2 83
87391P-24-24B 1.1/2" 40 24 60.3 | 50.3 | 8.2 97
87391P-32-32B 2" 50 32 71.4 | 62.2 | 9.8 118
FE: R EAME, RS ST INA. @n87391-08-08A
- 87392P-D
772
f LLJ 90° SAE ¥%223000PSIT
= , Mo I AL 90°
[ SAE PLANGE3000PSI SPIRAL HOSE
= c FOUR-WIRE INTEGRAL FITTING
= 22 T 2 % % HOSE BORE JX ~F DIMENSIONS
PART NO. FLANGE SIZE | A#KMAEDN | #5 “SDASH C D L H

87392P-08-08D 1/2” 12 08 30.2 | 23.9 7 47
87392P-12-12D 3/4” 20 12 38.1 | 31.7 7 59
87392P-16-16D 17 25 16 44. 4 38 8.2 73
87392P-20-20D 1.1/4” 32 20 50.8 | 43.2 | 8.2 83
87392P-24-24D 1.1/2” 40 24 60.3 | 50.3 | 8.2 97
87392P-32-32D 27 50 32 71.4 | 62.2 | 9.8 118




/—WFﬁ

L7777 77

87691P-B

= 90° SAE ¥:226000PST — 2% {42k
=7 D 90° SAE PLANGEG00OPSI FOR TWO-WIRE
3 INTEGRAL FITTING
KB R J& & HOSE BORE U<t DIMENSIONS
PART NO. FLANGE SIZE | AWKA4EDN | #r “5DASH C D L H
87691P-08-08B 1/27 12 08 31.8 23.9 7.9 49
87691P-12-12B 3/4”7 20 12 41. 3 31.7 8.9 63.9
87691P-16—-16B 17 25 16 47.6 38 9.6 76
87691P-20-20B 1.1/47 32 20 54 43.6 10. 4 87.9
87691P-24-24B 1.1/27 40 24 63.5 50.8 12. 7 103
87691P-32-32B 27 50 32 79.4 66. 5 12. 7 124
HiE: WL —ZEAME. RS SETNA. 2187691-08-08A
Iy 87692P-D
= / 90° SAE 7£*£6000PSI
. D G Y R Ak
= e 90° SAE PLANGE600OPSI FOR SPIRAL HOSE
c FOUR-WIRE INTEGRAL FITTING
R 2L ) & % HOSE BORE JX <} DIMENSIONS
PART NO. FLANGE SIZE | ABRINAEDN | #5x “SDASH C D L H
87692P-08-08D 1/2” 12 08 31.8 23.9 7.9 49
87692P-12-12D 3/4” 20 12 41. 3 31.7 8.9 63.9
87692P-16-16D 17 25 16 47.6 38 9.6 76
87692P-20-20D 1.1/47 32 20 54 43.6 10. 4 87.9
87692P-24-24D 1.1/2” 40 24 63.5 50. 8 12. 7 103
87692P-32-32D 27 50 32 79.4 66. 5 12. 7 124




A7 H R BRI ARS8 2 LR RTEL ) ] g 5 5K B
PEA ZE . PO iR AEAR A F AR, WA NI E R BOGE, T
HixSARFKRA.

Ao ] H RO H s ©ORE T RUER, HOVSR SR EF o, W g =
K7 AR AR B B, TR S A A i W, AR 24 W] 9F HL Ok B BRI, 72 H
JEREPE b2 et IR AT B SO 2 IR, AN S AT .

NOTES

The drawings in this catalogue are for reference only, and

g

their dimensions and proportions may be a little different from
those of the real products. Products included in this catalogue
don’t refer to all , so if customers are interested in other
products, please don’ t hesitate to contact our company for further

information.

Our company has made much effort to record the correct data
in this publication. However, in order to promote our products,
we may make some changes of their size or description, which
haven’ t been shown yet. We reserve the rights for explanation,
but sorry for no further notice to customer the change of

products’ design, description or even stop of some products’

manufacture in future.

B Huayan Hydraulics  Tel:+86-574-87413659 Fax:+86-574-87413657  Email: winnie@triolym.com


Administrator
打字机文本

Administrator
打字机文本




